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REM ¢
IDENTIF I CRTION
PRODUCT CODE MRINDEC-11-D2DUT-B-D
PRODUCT NRME DUV1I1 OFFLINE TRANSMITTER TESTS
RELERSE DATE NOV 1977
MAINTRINER  DIAGNOSTICS
b ¢
REM X

COPYRIGHT (C) 1977
DIGITAL EQUIPMENT CORPORRTION., MAYNRRD MARSS

THE INFORMATION IN 'HIS DOCUMENT S SUBJECT TO CHANGE WITHOUT NOTICE AND
SHOULD NOT BE CONSTRUED RS A COMMITMENT BY DIGITAL EQUIPMENT CORPORRATION
DIGITAL EQUIPMENT CORPORRTION ASSUMES NO RESPONSIBILITY FOR RANY ERROPS
THAT MAY AFPERR IN THIS DOCUMENT.

THE SOF TWRARE DESCRIBED IN THIS DOCUMENT S FURNISHED UNDER R L ICENSE AND
MAY ONLY BE USED OR COP{ED IN RCCORDANCE WITH THE TERMS OF SUCH L ICENSE

DIGITAL EQUIPMENT CORPORATION RASSUMES NO RESPONSIBILITY FOR THE USE OFf
RELIABILITY OF 1TS SOFTWARE ON EQUIPMENT THAT 1S NOT SUPPLIED BY DIGITAL
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GENERAL DESCRIPTIGN

THIS DIAGNOSTIC CAN CHAIN 16 DUVI1'S THIS MERANS THAT

16 DEVICES CAN BE SEQUENTIALLY EXERCISED  THE DIRGNOSTIC
MAKES ONE PASS BEFORE PROCEEDING TO THE NEXT DEVICE.

R:DngNTINUES EXERCISING ALL DEVICES IN THIS FRSHION UNTIL
HRL

THE DUV11 OFFLINE TRANSMITTER TESTS VERIFY THRT THE TRANSMITTER
SECTION PROVIDES THE CORRECT ERROR FLRGS,RAND THRT |7

TRANSMITS CHRARRCTERS THRU THE BIT WINDOW AT THE CORRECT

NUMBER OF BITS PER CHRARACTER

REQUIREMENTS

POP-11/03 COMPUTER (LS )

DUVI1  SYNCRONOUS/1SOCRONOUS OPTION

ONE CONSOLE TELETYPE OR EQUIVRLENT

STORAGE
THE PROGRAM LOARDS INTQ 4K OF MEMOPY WITH BOOTSTRAP

LORDING PROCEDURE

THE STANDRRD PROCEDURE FOR LORDING RBSOLUTE BINARY TRAPES
IS TO BE USED

START ING RDDRESS
FOR ABSOLUTE LORDER

4K 017500
8K 037500
12K 057500
16K 077500
20K 117500
24Kk 137500
28K 167500

STRRTING PROCEDURE

CONTROL SHITCH SETTINGS

NOTE  ALL SHITCHES PESIDE INTERNAL TO THE CPU AT RDDRESS
176 THESE MAY BE SET VIA THE CONSOLE TTY BY DIRECTLY
MODIFYING LOC 176

NOTE RUNNING UNDER RPT-11, THERE IS A USER SWITCH REGISTER

REM

CALLED "SUSHR" IN ORDER 10 BE FLEXIBLE ON THE RVARILIBILITY OF THE

H315 CONNECTOR, ONE BIT PASSES STATUS TO APT-11
BIT O IN SUSWR REFLECTS THIS STATUS, A 0 = CONNECTOP

REN

REM

SeQ 000z
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PRESENT, R 1 = CONNECTOR NOT AVAIL IBLE

THE USER C(HANGES THE CONTENTS OF THIS LOCATION
WHEN BUILDING THE E TABLE, BY RANSHERING THE
PROMPT "SWITCH 2"

RFTER PROGRAM LOAD (INITIAL PROGRAM START)
RLL CONSOLE SHITCHES DOWN

TO MODIFY DEVICE VECTOR RAND CONTROL REGISTER RDODRESSES
RFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SHCO=1

TO START PROGRAM AT SELECTED TEST AFTER R PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)
SHO1:=1

TO LOCK ON SELECTED TEST RAFTER R PROGRAM RESTAPT
(ONLY IN SINGLE DEVICE TESTS)

SH1Y=1

NOTE1 IN GENERAL SHWO! WILL BE USED WHEN SHi4=1 1S USED
NOTEZ WITHOUT SuWO1=1 "LOCK ON TEST" WILL DEFRAULT TO TEST 1
STRARTING AULDRESS

THE STRARTINu ADDRESS FOR ALL TESTS IS 000200

L ]

THE RETARTING RDDRESS FOR ALL TESTS S 000200

THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
THE STARTING ADDRESS 7O LOCK ON TEST 1S 000200

PROGRRM AND/OR OPERRTOR ACTION

INITIARL PROGRA™ START

4 3 1 1 LORD PROGRAM INTO MEMORY WITH RBSOLUTE LORDER

4 31 2 SET SUITCH REGISTER (LOC 176) TO ZERQ

4 3 1 3 TYPE 200G

4 3 1 4 PROGRAM HILL STRPT

4 31 5 THE PROGRAM WILL TYPE "DUV11 DZDUT-B TRPE D" (ONCE ONLY)
4 31 6 THE PROGRAM WILL TYPE “R™ TO iINDICATE THAT IT IS RBOUT
TO START TESTING ,AND THEN TEST!NG WILL BEGIN

PROGRAM RESTART WITH ALL SHITCHES DOWN

4 3 2 1 THE PROGRAM WILL TYPE "R™ AND HILL COMMENCE TESTING

FEM

REM

SEQ 0003




DZDOUT-B MACY1Y 30(1046) 21-SEP-?77 09 18 PRGE Y4
bZbuT1 M1 16-SEP-77 10 12 SEQ 0004

4 33 PROGRAM RESTART WITH SWOO=1
*4 331 SET SWITCH REGISTER (LOC 176) TO A 000001
4 3 3 2 TYPE 2006
4 3 3 3 PROGRAM WILL START
4 4

3 3 4 THE PROGRAM WILL TYPE " 1ST DEVICE RECEIVER CONTROL REGISTER
ADDRESS™ AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

3 35 TYPE IN THE RDDRESS OF THE FIRST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV1I1 TO BE TESTED
FOLLOWED BY R <(CRRRIRGE RETURN>

F 5

{F AN INCORRECT RDDRESS IS TYPED , THE PROGRAM WILL TYPE "?"
AND WILL THEN REPERT THE MESSRGE OF 4 3 3 M

4 3 3 6 THE PROGRAM WILL TYPE "VECTOR RDDRESS-" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4 3 37 TYPE IN THE BRSE RECEIVER INTERRUPT VECTOP RODRESS
FOR THE DUV11 TO BE TESTED FOLLOWED BY A <(CARRIAGE RETURN>
If AN {NCORRECT RDDRESS IS TYPED . THE PROGRAM WILL TYPE 7"
AND WiLL THEN REPERT THE MESSAGE OF 4 3 3 6

4 3 3 8 THE PROGRAM WILL TYPE "ARE YOU RUNNING MULTIPLE DEVICES °"
(Y OR N)-" AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBOARRD

4 3 3 9 TYPE IN THE APPROPR{ATE ANSHER YES OR NO FOLLOWED BY R
\CRRRIAGE RETURN>

IF AN INCORRECT ANSHER (S G!VEN, THE PROGRAM WILL TyPE "?"
AND WILL THEN REPEAT THE MESSAGE OF 4 3 3 8

IF A "NO" ANSWER IS GIVEN JUMP TO SECTION 4 3 3 12
IF A "YES"” ANSHWER IS GIVEN THE NEXT QUESTION 1S ASKED

4 3 310 THE PROGRAM WILL TYPE "LAST DEVICE RECEIVER CONTROL
REGISTER RADDRESS-" AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORPD
4 3 3 11 TYPE IN THE RDDRESS OF THe LAST RECEIVER CONTROL REGISTER

ADDRESS OF THE DUV1t TO BE TESTED FOLLOWED BY R <CARRIRGE RETURN,

iF AN INCORRECT RNSWER (S TYPED ., THE PROGRAM WILL TYPE "7°
AND WILL THEN REPEAT THE MESSAGE OF 4 3 3 10
NOTE ALL RDORESSES SHALL BE CONTIGUOUS

v 3 3111 IF AN "OUT OF RANGE™ RDDRESS IS TYPED
IE HMORE THAN 16 (10) DEVICES RHAY (UPHARDS) THE
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PROGRAM WILL TYPE "OUT OF RANGE RETYPE LAST DEVICE RXCSR ADDRESS-"
RND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

“ 33112 TYPE IN THE RDDRESS OF THE LAST RECEIVER CONTROL
REG!STER RDDRESS OF THE DUV11 TO BE TESTED FOLLOWED
BY R (CARRIAGE RETURN>

IF AN INCORRECT ANSHER IS TYPED , THE PROGRAM HWILL TYPE 7"
AND WILL REPERT THE MESSAGE OF 4 3 3 11 1

IF A DEVICE ADDRESS LOWER THAN 1ST DEVICE RADDRESS IS TYPED
SCHOOLS OUT . THERE 1S NO PROTECTION FOR THIS

THE PROGRAM WILL DEFAULT TO TWO DEVICES RCTIVE (UPWARDS FROM

1ST DEVICE ADDRESS) THE SAME APPLIES TO IDENTICAL RDDRESSES

TYPED FOR FIRST AND LAST DEVICE

OBSERVE LOCRTION @ RACTREG SEE SECTION 7 2

u 3212 THE PROGRAM WILL TYPE "% OF SYNC CHARS
SELECTED (1 OR 2)-" AND WAIT FOR AN INPUT FROM THE TELETYPE
KEYBOARD REFER TO MANUAL FOR PROPER SWITCH SETTINGS OF

SHITCH EBSG-4

4 3 3 13 TYPE IN THE APPROPRIARTE ANSWER "1" OR "2" FOLLOWED
BY A (CRRR AGE RETURN> (NOTE ALL MULTIPLE DEVICES MUST
BE 1HE SARE)

IF AN INCORRECT ANGHWER IS TYPED . THE PROGRAM WILL TYPE "?"
AND WILL REPERT THE MESSAGE OF 4 3 3 12

4 3 3 14 THE PROGRAM WILL TYPE " 1S SEC XMIT SHITCH ES5-2 ON? (Y OP N)-"
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

Y $ 3156 TYPE IN THE RPPROPRIATE ANSHER YES OR NO FOLLOWED
BY A (CARRIAGE RETURN> (NOTE THAT ALL MULTIPLE DEVICES
MUST RE THE SHRE)

IF AN INCORRECT ANSHER IS TYPED ., THE PROGRAM WILL TYPE "7"
AND WILL REPERT THE MESSAGE OF 4 3 3 14

4 3 3 16 THE PROGRAM WILL TYPE "IS SEC REC SWITCH ES5-3 ON?
(Y OR N)-" AND HAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4 3 317 TYPE IN THE RPPROPRIATE ANSHER YES OR NC FOLLOKED

BY A (CRRRIAGE RETURN> (NOTE ALL MULTIPLE DEVICES MUST BE THE SRAME)
IF AN INCORRECT ANSHER {S TYPED .THE PROGRAM WILL TYPE 7"
AND WILL REPEAT THE MESSRGE OF 4 3 3 16

L 33148 THE PROGRAM HILL TYPE 1S OPT CLR ENRBLE SWITCH
ESS-1 ON? (Y OR N)-" AND WARIT FOR AN INPUT FROM THE TELETYPE KEYBORPD

SEQ 0005
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4 3319 TYPE IN THE RAPPROPRIATE ANSWER YES OR NO FOLLOWED
BY R (CARRIAGE RETURN). (NUTE ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSHER IS TYPED , THE PROGRAM HILL TYPE "?"
AND WILL REPEAT THE MESSAGE OF 4.3 1 18

4 3 320 THE PROGRAM HILL TYPE "ARE YOU RUNNING IN MRINT
MODE EXTERNARL 7 RND . DO YOU HAVE THE EXTERNRL MODEM
BYPRSS JUMPER CONNECTOR ON 7 (Y OR N)-" AND HRIT FOR AN
INPUT FROM THE TELETYPE KEYBORRD

by 230 TYPE IN THE RPPROPRIARTE ANSHER YES OR NO FOLLOWED BY
A (CARRIAGE RETURN> (NOTE ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "7"
AND WiILL REPEAT THE MESSAGE OF & 3 3 20

u 3 322 THE PROGRAM WILL TYPE "R™ TO (NDICRTE THAT 1T
HRS STARTED AND WILL COMMENCE TESTING AT TEST 1

PROGRAM RESTART WITH SHO1=1
NOTE THIS KWILL ONLY WORK WHEN A SINGLE OEVICE IS SELECTED
, .- T WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED

IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LORD 000200.
AND SELECT SWOO=1 AND ANSWER "NO" TO THE MULTIPLE DEVICE QUESTION

SEE 4 3 3

4 3 4 1 SET SWO1=1 IN SKITCH REG (LOC 178)
4 3 4 2 TYPE 200G

4 3 4 3 PROGRAM HILL START

4 3 4 4 THE PROGRRM HILL TYPE "TEST PC-" AND WRIT FOR AN INPUT FPCM
THE TELETYPE KEYBORRD

4 3 4 5 TYPE IN THE ADDRESS OF THE TEST AT WHiCH THE PROGRAM IS TO
BE STARTED FOLLOWED BY A <(CRARRIAGE RETURN>

4 34 6 THE PROGRAM WILL TYPE "R" TO INGICATE THRT IT HAS STARTED
TESTING AT THE SELECTED TEST

NOTE CRRE MUST BE TAKEN WHEN THIS FEATURE IS USED
., SINCE THERE 1S NO PROTECTION AGRINST SELECTING AN RDDRESS
THAT IS IN THE MIDDLE OF R TEST

PROGRAM RESTART WITH SU1Y =1

NOTE THIS HILL ONLY WORK WHEN A SINGLE DEVICE 1S SELECTED

SEE NOTE IN 4 3 4 FOR MORE DETRILS

4 36 1 SET SWiu=1 IN SHITCH REG (LCC 178}

4 3 6 2 TYPE 20006

SEQ 0006
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4 3 5 3 PROGRAM HILL STRRT

4 3 54 THE PROGRAM WILL TYPE "LOCK ON SELECTED TEST 7 (Y QR N)-"
AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4 3 6565 TYPE IN THE APPROPRIATE ANSHER YES OR NO FOLLOWED BY A
(CRRRIAGE RETURN>

(F A NO ANSHER 13 GIVEN THIS LOCK ON TEST HILL BE IGNORED

AND THE PROGRAM WILL TYPE "R™ TO INDICATE THAT IT HRS STARTED

TESTING AT TEST 1

W 356 IF A YES ANSWER WAS GIVEN THE PROGRAM WILL RACT AS FOLLOWS
THE PROGPAM WILL TYPE "R™ TO INDICRTE THAT IT HRS STARTED
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED
OR IF ANY KEY 1S STRUCK ON THE TELETYPE ., THE PROGRAM
WiLL FREEZE ON THE NEXT TEST UNTIL A KEY IS STRUCK ON
THE TELETYPE AND SO FORTH THRU THE PROGRAM IF SWO1 =1 IT
WILL PERFORM RS IN SECTION 4 2 4 ARLLOWING ONE TO FREEZE
ON A SELECTED TEST RATHER THAN DEFRULTING TO TEST 1

OPERATING PROCEDURE
OPERATIONAL SWITCH SETTINGS (INTERNAL TO THE CPU, ACCESSED VIA LOC

SH15 =1 HALT ON ERROR

SH14 =1 LOOP ON CURRENT TEST

SH13 =1 INHIBIT ERROR TYPEQUT

SH11 =1 INHIBIT ITERATIONS

SH10 =1 ESCAPE TO NEXT TEST ON ERROR

SHOS =1 LOOP ON ERROR

SHO1 =1 RESTART PROGRAM AT SELECTED TEST

SHOO =1 RESELECT VECTOR AND CONTROL REG!ISTER RDRESSES

APARAMETERS AFTER A PROGRAM RESTART
TO INHIBIT "END OF PASS" TYPEOUT - TURN TELETYPE OFF

ERRORS

ERROR HALTS (UNDER LS! ALL HALT ERRORS RETURN CONTROL TO 0D T
THERE RRE FOUR DISTINCT ERROR TYPEOUTS

PC+Z = ERROR PC
WHERE PC 42 1S THE RADORESS OF THE CALL TO THE ERROR HRNLLER +2

REFER TO THE RBOVE “HLT' IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK RDORESS & RXCSR TO LOCATE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULT'PLE DEVICES

PC +2 = REGISTER ERROR P(
REGISTER EXPECTED RCTUARL
16XXXX YYYYYY 222222

WHERE 16XXXX 1S THE ADDRESS OF THE FRILING DEVICE REGISTER

176)

SEQ 0007
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WHERE YYYYYY IS THE EXPECTED CONTENTS OF THRT REGISTER
WHERE 222222 1S THE RCTURL CONTENTS OF THRT REGISTER

PC +2 = RECEIVER ERROR P(
REGISTER EXPECTED RCTUAL
16XXXX YYYYYY 222222

WHERE 16XXXX IS THE RDDRESS OF THE FRAILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY S THE EXPECTED DATR CONTENTS OF THAT REGISTER
WHEPE 222222 1S THE RCTURL DATR CONTENTS OF THAT REGISTER

PC 42 = TRANSMITTER ERROR PC
REGISTER EXPECTED RCTUARL
16XXXX YYYYYY 222222

WHERE 16XXXX IS THE ADDRESS OF THE FRILING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THRT REGISTER
WHERE 222222 IS THE ACTURAL CONTENTS OF THRT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETRILS OF ERRORS

ERROP RECOVERY

SH15 =0
IF THE PROGRAM IS RUN WITH SW1E =0 ,NO OPERARTOR ACTION IS
REQUIRED TO CONTINUE TESTING

SH16 =1

{F THE PROGRAM IS RUN WITH SH15 =1 , TGO CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED .PRESS THE PROCESSOR
CONSOLE "CONTINUE SWITCH"

NOTE THE PC + 2 OF THE "HLT" WILL BE DISPLAYED IN THE DRTR LIGHTS

ILLEGRL INTERRUPTS

IF AN INTERRUFT OCCURS TO A VECTOR RDDRESS NOT SELECTED
DUR ING PROGRAM INITIRLIZATION, THE PROGRAM WILL HALT IN
THE TRAPCATCHER THE ADDRESS AT WHICH THE PROGRAN

HALTS 1S 2 GREATER THAN THE RDDRESS TO WHICH THE INTERRUPT
OCCURED THE PROGRAM MUST BE RESTARTED AT 000200 TO
RECOVER FROM THIS ERROR

ADDITIONAL TROUBLESHNOTING AIDS ERRCNT & PRSCNT
CHECK THESE TWO TRG LOCATIONS FOR TOTAL & OF EFPORS AND PRSSES RESPECTIVELY
LOADING 000200 AND RESTARTING WILL CLERR THESE LOCATIONS

END OF PASS ROUTINE
THIS TYPEOUT 1S MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORM

SEQ 0008
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END OF PASS TAPE Y
16XXXX = DEV!CE

WHERE Y IS THE TAPE LORDED

WHERE 16XXXX 1S THE DEVICE'S BRSE REGISTER RDDRESS
TO INHIBIT THIS TYPEOUT - TURN TELETYPE OFF
RESTRICTIONS

MULTIPLE DEVICES
UP TO 16(10) DEVICES MRY BE TESTED HOUWEVER, THEY
MUST HAVE CONTIGUOUS RADDRESSES RAND VECTORS

NOTE IF ALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU (AN CHANGE "Z2ERO ROD #10.BRSE IV » NEXT BLOCK
(VECTORS)™ TO "ZERO ROD #0.BRSE V",

THEREBY THE VECTOR RDDRESSES WILL NOT BE

UPDATED RFTER ERCH PASS

DISQUAL IFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MULTIPLE DEVICES RN RCTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST It 8IT O FOR
DEVICE O .BIT 15 FOR DEVICE 15

TO DISQUAL IFY DEVICES

IF DEYICE O 1S TO BE DISQUALIFIED .SIMPLY RESTART
PROGRAM WITH SWOO =1 AND OMIT THE FIRST DEVICE

IF HOWEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
ARE TO BE DISQUALIFIED LORD THE LOCRTION Of ACTREG
OBSERVE THE RCTIVE BITS (RCTIVE =1, NONRCTIVE = 0)

AND DEPOSIT O WHERE THOSE DEVICES RRE TO BE DISQUALIFIED

7 22 1 TO RESTART  TYPE 2006
THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WRAS IN BEFORE HALTING

7222 OR .SET SWOO0=1 IN SHITCH REG (LOC 176) RAND TYPE 200G
ANSHER THE QUESTION - 1ST DEVICE ETC
.. THE. PROGRAM WILL CONTINUE HITH DEVICE O

7 22 3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE  THE PRQGRAM
HILL TYPEOUT AN ERROR MESSAGE TYPE 2006

CRBLE DELRAYS
NOTE EXTERNAL LOOP RBRACK TESTS ONLY (MCDEM CABLE WITH H315 CONNETTOR CON)

TO PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL QVER THE CABLE,
LOCATION "HOLD " MUSY RE MODIFIED TO ACCOMODATE FOR FRASTER MACHINES
PRESENTLY "HOLD " =20 IS SUFFICIENT TIME ON AN 11,03 MACHINE

BASICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THAE EIR DRIVERS

SeQ 0009
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74 TO USE THE "XOR" TESTER , THE BRANCH AROUND THE "XOR"
CODE MUST BE PRTCHED TO R "NOP” (SEE LISTINGS FOR DETRILS)

g DEFRULT PARRMETERS |
1ST DEVICE RECEIVER CONTROL REGISTER ADDRESS- RXCSR 160010
VECTOR RDDRESS- DURIV 770
ARE YOU RUNNING MULTIPLE DEVICES ?- NO MULTD O
LRST DEVICE RECEIVER CONTROL REGISTER RDORESS- LASTAOD 0
# OF SYNC CHRRS SELECTED - 2 SYNCNO 377
IS SEC XMIT SWITCH E55-2 ON?-  YES SEXMIT 377
IS SEC REC SWITCH E65-3 ON?-  YES SEREC 377

IS OPT CLR ENARBLE SWITCH £55-1 ON?- YES OPTCLR 377
DO YOU HAVE THE EXTERNAL MODEM BYPRSS JUMPER

CONNECTOR ON (H315,- YES JMRBY 377
9 PROGRRM DESCRIPTION .
REM X
91 THIS PROGRRM PERFORMS THE OFFLINE TRANSMITTER SECTION TESTING -
OF THE DEVICE
SEE LISTING FOR DETRILS .
REM X

10 FLOWM CHRRTS PECEIVER FLOW, TRANSM TTER FLOW, TRANSMITTER & PECEIVER FLOW
11 LISTINGS
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525
526
527
528
529
530
531
532
533
534
535
536
537
538
539
540
541
By
543
B4k
545
546
547
548
549
550
551
5562
553
554
555
556
557
558

Q0C001
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$TN=1

SEQ 0011
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DZ0UTB M1t 31-MRY-7? 09 u49 RPT COMMUNICATIONS ROUTINE SEQ 0012
559 ENABLE RBS
560
561 »DUV11 DZDUT-B TAPE O
gg% .COPYRIGHT 1977, DIGITAL EQUIPMENT CORP , MAYNRRD. MASS 01754
564 »STARTING PROCEDURE
565 . TYPE 2006
566 »PROGRAN WILL TYPE "OUV11 DZ0UT-B TAPE D "
567 ,PROGRAM WILL TYPE "R™ TO INDICATE THAT TESTING HRAS STRRTED
568 AT THE END OF A PASS, PROGRAM WILL TYPE "END OF PRSS TAPE D"
g?g .AND THEN RESUME TESTING
2;1 SBTTL BRSIC DEFINITIONS
'
6873 »XINITIRL ADDRESS OF THE STACK POINTER Xxx 1100 Xx¥x
574 001100 STACK= 1100
57¢ EQUIV EMT, ERROR ..BRASIC DEFINITION OF ERROR CALL
g;g EGUiV 10T, SCOPE ,»BRASIC DEFINITION OF SCOPE CALL
578 » XMISCELLANEOQUS DEFINITIONS
579 CO0011 HT= 11 ,»CODE FOR HORIZONTRL TRB
580 000012 LF= 12 ;,CODE FOR LINE FEED
581 000015 (R= 156 ,»CODE FOR CRRR:R3t RETURN
582 000200 CRLF= 200 .. CODE FOR CARRIAIGE RETURN-LINE FEED
583 177776 PS= 177776 » »PROCESSOR STATLS WORD
584 EQUIV PS,PSH
585 177774 STKLMT= 177774 .+ STACK LIMIT REGISTER
586 172772 PIRQ= 177772 ».PROGRAM INTERRUPT REQUEST REGISTER
587 177570 DSHR= 177570 » »HARDWARE SKITCH REGISTER
588 177570 DniIsP. 177570 .. HARDWARE LCISPLAY REG STER
589
590 , XGENERAL PURPOSE REGISTER DEF INITIONS
591 000000 RO= %0 , . GENERAL REGISTER
592 000001 R1= %1 »+GENERAL REGISTER
592 000002 R2= %2 .. GENERRAL REGISTER
594 000003 R3= %3 »»GENERAL REGISTER
595 000004 RY= N »»GENERAL REGISTER
596 000005 R5= %5 ., GENERAL REGISTER
5§97 000006 R6= %b . GENERAL REGISTER
598 000007 R7= %7 .. GENERAL REGISTER
599 000006 SP= %6 .. STRCK POINTER
600 000007 PC= %7 .. PROGRAM COUNTER
601
602 ,XPRIORITY LEVEL DEFINITIONS
603 000000 PRO= 0 ,PRIGRITY LEVEL O
604 000040 PRi= 40 . PRIORITY LEVEL 1
605 000100 PR2= 100 ,PRIORITY LEVEL 2
606 000140 PR3= 140 »:PRIORITY LEVEL 3
607 000200 PRY= 200 . PRIORITY LEVEL W
608 000240 PR5= 240 ,»PRIORITY LEVEL 5
609 000300 PRb= 300 ,,PRIOR!TY LEVEL 6
610 000340 PR7= 340 »»PRIORITY LEVEL 7
611
612 »X"SHITCH REGISTER™ SHITCH DEF INITIONS
613 100000 SWi6= 100000

614 040000 SWi4y= 40000
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615
616
617
618
619
620
621
622
623
624
625
626
627
628
629
630
631
632
633
634
635
636
637
638
639
640
641
642
643
644
645
646
647
648
649
650
651
652
653
654
655
656
657
658
659
660
661
662
663
664
665
666
667

669
670

020000
010000
004000
002000
001000
000400
000200
000100
000040
000020
000010
000004
00Cc002
000001

100000
040000
020000
010000
004000
002000
001000
000400
000200
000100
000040
000020
000010
000004
000002
000001

000004
000010

21-SEP-?77 09 18 PRGE 15
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BRSIC DEFINITIONS

SW13=
SH12s=
SHi1=
SWi0=
SWO9=
SW08=
SWO?7=
SWo6=
SWO5=
SWO4=
SW03=
SW02=
SWO1=
SW00=
.EQUIV
.EQUIV
.EQUIV
EQuUIV
EQuUlv
EQuUiY
EQUIV
EQUIV
EQUIV
EQUIV

- ¥DRTA
BIT16=
BiIT1y=

- XBRS!C
ERRVEC=
RESVEC=

20000
10000
4000
2000
1000
400
200
100
40

20

10

v

2

1

SHO9. SH9
SHO8. SK8
SHO?7, SK?
SHO6. SKH6
SHOS. SHS
SHO4 ., SHY
SHOJ, SU3
SHOZ, SH2
SW31, SH1
SKOO. SHO

BIT DEFINITIOMS
100000

40000

20000

10000

4000

2000

1000

4ao

200

— = =t =t —
NWE U NMD

(BITO0 TO BIT1IS)

“CPU" TPAP VECTOR RADDRESSES

y
10

.. TIME OUT AND OTHER ERRORS
. RESERVED AND ILLEGRL INSTRUCTIONS

SEQ 0013
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671 00001w
672 000014
673 000U14
674 000020
675 000024
676 000030
677 000034
678 000060
679 000064

680 000240

DZOUT-B MACY11 30(1046) 21-SEP-77 09 18 PRGE 16

BASIC DEFINITIONS

TBITVEC=1Y
TRTVEC= 14
BPTVEC= 1y
IOTVEC= 20
PURVEC= 24
EMTVEC= 30
TRAPVEC=34
TKVEC= 60
TPVEC= &M
PIRQVEC=240

2T BIT

»» TRACE TRAP

, BREAKPOINT TRAP (BPT)

,» INPUTZQUTPUT TRAP (10T) %¥SCOPEXX
. POHER FRIL

,»EMULATOR TRAP (EMT) XXERPORXX
.»"TRAP" TRAP

+»TTY KEYBORRD VECTOR

,» TTY PRINTER VECTOR

, »PROGRAM INTERRUPT REQUEST VECTOR

SEQ 0014
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LZOUTB. M1t

681
682
683
684
685
686
687
688
689
690
691
692
693
694
695
696
€97
698
699
700
701
702
703
704
705
706
70?7
708
709
710
711
712
713
714
715
716
217
718
719
720

000174
000176

000200

0C1100
001102

001104
001106
001110
001112
001114
001116

001120
001122
001124
001126
001130
001132
001134
001136
001140
001142
001144

000174
000000
000000
000200
000167

001100
00C000
177570

0000030
C00000
000000
000000
000000
000000

0C0020
000000
000000
0000600
000000
000000
000000
000000
000000
000000
000000

21-SEP-77 09 18 PRGE 17

31-MAY-77 09 49

001746

BRSIC DEFINITIONS
- STANDRARD INTERRUPT VECTORS

=174
DISPREG O
SWREG O
=200
JMP START ,60 TO START OF PROGRAM

=1100
WORD O
LIGHTS 177570

,PROGRAM CONTROL PRRAMETERS

RETURN O

NEXT n . ADDRESS OF NEXT TEST TO BE EXECUTED
LOCK N . ADDRESS FOR LOCK ON CURRENT DRTR
PASCNT 0 . ADDRESS CONTRINING PRSS COUNT

ERRCNT 0 . ERROR COUNT

SARVSP 0 ,STACK POINTER STORAGE

.PRCGRAM VAR IARBLES

. TEMPORARY STORAGE=DELAY TIME FOR CRBLES

. TEMPORARY STORAGE= # OF SHIFTS PER (HAR

. TEMPORARY STORAGE= # OF TIMES A CHRR WILL BE SENT
,PPOGRAM COUNTER STORAGE

HOLD
SHIFT
COUNT
SRVP(C
HLOG
HLD1
HLDZ
HLD3
HLO4
HLD5
HLDe

o

{on wn N s Nuw Nuw s s Nun Nus Juw f 0

SEQ 0015
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LZOUTB M11

721
722
723
72N
725
726
727
728
729
730
731
?32
733
734
735
736
737
738
739
740
41
742
743
74N
745
746
4?7
748
749
750

001146
001147
001150
001151
001152
0011583

001154
001156
001160
001162
001164
001166

001170

0011722

001173
001174

377
377
377
3?7
00n
377

000000
000000
00C000
000000
000090
000000

oocoad

000
000

001176
001400

21-SEP-77 09 18 PAGE 18
J1-MAY-77 09 49

BASIC DEFINITIONS
;PROGRAM CONVERSATIONRL PRARAMETERS

SYNCNO
SEXMIT
SEREC
OPTCLR
MULTD
JMRBY
EVEN

BRSERDD
KEEPADD
LRASTADD
BRASE 1V
KEEP 1V
RCTREG

ROTROD

INIFLG

STFLG

LOKFLG
EVEN
=1400

BYTE
BYTE
BYTE
BYTE
BYTE
BYTE

377
377
3?7
377
0

377

» % OF SYNC CHARS REQ'D FOR SYNC'ZRTION

. SEC XMIT JUMPER *“

IN"

»SEC REC JUMPER "IN"

» OPTIONAL JUMPER (

LR HlNH

»NO MULTIPLE DEVICE FLARG

, EXTERNRL MODEM BYPRSS JUMPER

»PROGRAM MULTIPLE DEVICE PRRAMETERS

0O00000

0

,PROG CONTROLLED 1ST OEV!CE RDOR

» SAVED 1ST DEVICE RDOR

»LAST DEVICE RXCSR
»PROG CONTROLLED !
. SAVED INTR VECTOR
+ACTIVE REGISTER

,DEVICES (1= RUN, .,

ROTATING POINTER FOR RCTREG POINTS
,TO DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DEV CES

,PROGRAM CONTROL FLRGS

BYTE
BYTE
BYTE

0
0
0

,PROGRAM INITIALIZARTION FLRG

TEST STAP

»LOCK ON CURRENT TEST FLAG

ADOR
v

.».MODIFY THIS
»LOCRTION TO DISQUARLIFY OR QUALIFY

.0= DON'T RUN)

T FLAG

e |er

SEQ 0016
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DZOUTB M1l 31-MRY-77 09 U9

751

752

753

75%

755

756 005746
787 005726
758 010046
759 012600
760 024646
761 022626
762

763

764 100000
765 040000
766 020000
767 010000
768 004000
769 002000
770 0010090
771 Cc0o0o400
772 000200
773 000100
774 000040
775 000020
776 000010
7?77 000004
778 000002
779 000001
780

781 100000
782 040000
783 020000
784 010000
785

786 001000
787 ooo400
788

789 030000
790 020000
791 000000
792 000000
293 002030
794 004000
795 006000
796 000000
797 001000
798 001400
799

800 100000
801 040000
802 020000
803 002000
804 000400
805 000200

806 000100

21-SEP-?77 09 18 PAGE 19
BRSIC DEFINITIONS

» INSTRUCTION DEF INITIONS

PUSH1SP=5746 , DECREMENT PROCESSOR STACK 1 WORD =TST -(SP)
POP1SP=5726 ; INCREMENT PROCESSOR STRCK 1 WORD =TST (SP:+
PUSHRO=10046 . SAVE RO ON STACK =MOV RO, -(SP)
POPRO=12600 ;RESTORE RO FROM STRCK =MOV (SP)+, RO
PUSH2SP=24646 . DECREMENT STACK TWICE =CMP -(SP),-(SP)
POP2SP=22626 , INCREMENT STRCK THICE =CHP (SP)+, (SP)+
»REGISTER DEF INITIONS

LRXCSR BIT DEFINITIONS

DSC=B1T15 .DATA SET (HANGE
RING=BIT1Y , RING
(TS=BIT13 .CLR TO SEND
CARDET=B1T12 , CARRIER DETECT
RECRCT=81T11 »REC RCTIVE
SRD=RIT10 . SEC REC DRTR
OSR=BIT9 .DATA SET ROY
STPSYN=B| T8 »STRIP SYNC
RXOONE=BIT"” . REC DONE
RINTEN=BIT6 ,REC INTR ENRBLE
DSINTE=BITS .DSC INTR ENRBLE
SYNSCH=B1Tu . SYNC SERRCH
STD=BIT3 ,SEC XMIT DATA
RTS=BIT2 »,REQ TO SEND
DTR=BITH .DRTA TERM PDY
voID=B1TO

,RXDBUF BIT DEFINITIONS
RXERR=BIT15 .REC ERROR
OVRRUN=BIT1Y - QUERRUN
FRMERR=BIT13 -FRANME ERROR
PRARER=BI1T12 ,PARITY ERROR

,PARCSR BIT DEF INITIONS
PAREN=BIT9 +PARITY ENRBLE
EVPAR=BITS8 ,EVEN PRRITY SENSE

,PARCSR WRD DEF INITIONS
SYNINT=30000 » SYNC EXTERNAL MODE
SYNEXT=20000 . SYNC INTERNAL MODt
ISYHoD=0 . 1S0C MODE
FIVE=0 . WORD LENGTH & BITS
S1X=2000 ,WORD LENGTH & BITS
SEVEN=4000 ,HORD LENGTH 7 B TS
EIGHT=6000 , HORD LENGTH 8 BITS
NOPRR=0 .NO PARITY
ODDPAR=1000 ,0DD PRRITY
EVEPAR=1400 ,EVEN PARITY

TXCSR BIT DEFINITIONS

ONR=BIT15 ,DRTR NOT AVAILABLLE
MTDATR=BIT1Y . HAINT DATA
CLK=BIT13 » CLK
BITH=BIT10 .B1T HINDOW
MRESET=81T8 . HASTER RESET
TXDONE=B1T7 . XM1T DONE
TXINTE=B1T6 . ¥MIT INTR ENRBLE

SEG 0017




DZOUT-B MACY11 30(1046)

21-SEP-77 09 18 FRGE 20

.DNR INTR ENRB
. SEND

- HOX/F DX

» BRERK

- TXCSR WRD DEF INITIONS

L2ouUTe M11 31-MRY-77 09 49 BRSIC DEFINITIONS
807 000040 DNRINTE=BITS
808 000020 SEND=BITY
809 000uV10 HOXEN=BIT3
310 000001 BRERK=B!ITO
11
812 000000 USER=0
813 co4000 MINT=4000
81y 010000 MEXT=1C000
815 014000 SYSTST=14000

» USER MODE

.MAINT INT MODE
+MAINT EXT MODE

. SYSTEM TEST MODE

StqQ 0018
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LZDUTE M1t

816
817
818
819
820
821
822
823
82u4
825
826
827
828
829
830
831
B3Z
833
834
835
836
837
838
839
840
841
842
843
84y
84S
846
84?
Bu8
849
850
851
852
853
854
855
856
857
858
859
860
861
862
863
864
865
866
867
868
B69
870
871

001400
001400
001402
001403
001404
001406
001410
001412
001414
001415
001416
001420
001422
001424
001426
001430
001432
001434
001435
001436
001440
001442
00144y
001446
001450
001452
00145y
001455
001456
001457
001460

001462
001464
001466
001470
001472
001474
001476
001500
001502
001504
001506
001510
001512
001514
001516
001622
001523

001400

000000
000
000

000000

00C000

000000

000000
000
001

000000

000000

0000a0

£00000

000000

000000

000000
000
000

000000

177570

177570

177560

177562

177564

177566
000
002
012
000

000000

000000
000000
000000
000030
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
177607

07?7

015

21-SEP-77 09 18 PAGE 2!
J1-HAY-77 09 49

000377

COMMON TARGS
SBTTL COMMON TRGS
AP S0 0t bttt et R AR P 000000200008 00200000000 000200003008

» XTHIS TABLE CONTRINS VARIOUS COMMON STORAGE LOCARTICNS
, XUSED IN THE PROGRAM

SCHTRG ORD ;. START OF COMMON TRGS

W 0
STSTNM  BYTE O .. CONTRINS THE TEST NUMBER
SERFLG BYTE O .» CONTAINS ERROR FLAG
St1CNT WORD O .- CONTRINS SUBTEST ITERARTION COUNT
SLPRADR  WORD O ., CONTAINS SCOPE LOOP RDDRESS
SLPERR  WORD O .. CONTRINS SCOPE RETURN FOR ERRORS
SERTTL WORD O .. CONTAINS TOTAL ERRORS DETECTED
$ITEMB 8YTE O .. CONTRINS ITEM CONTROL BYTE
SERMAX  BYTE 1 .- CONTRINS MRX ERRORS PER TEST
SERRPC  WORD O ., CONTRINS PC OF LAST ERROR INSTRUCTION
SGORDR  WOPD O .. CONTRINS RDDRESS OF 'GOOD’' DRTAR
SBORADR  WOKD O .. CONTRINS RDDRESS OF 'BRD' DRTA
SGODRAT WORD O . CONTRINS *GOOD' DRTA
SBODRT  WORD O ., CONTAINS 'BRD' DRTR

WORD O .. RESERVED--NOT TO BE USED

WORD O
$AUTOB .BYTE OC .~ AUTOMAT1C MODE INDICATOR
$ NTRG BYTE O ., INTERRUPT MODE INDICATOR

CHORD O
SHR HORD  DSHR ., »RDDRESS OF SWITCH REGISTER
DISPLARY  WORD DDISP . .ADDRESS OF DISPLRY REGISTER
STKS 177560 .. TTY KBD STRTUS
$TKB 177562 .. TTY KBD BUFFER
STPS 177564 .. TTY PRINTER STATUS REG RDORESS
97PB 177566 .- TTY PRINTER BUFFER REG RDDRESS
SNULL BYTE O ., CONTRINS NULL C(HRRACTER FOR FILLS
SFILLS BYTE 2 ,»CONTRINS & OF FILLER CHARRCTERS REQUIRED
SFILLC BYTE 12 .. INSERT FILL CHARRS AFTER R "LINE FEED"
STPFLG BYTE O .. "TERMINAL AVAILABLE" FLAG (BI1T<07>=0=YES)
SREGAD WORD O .»CONTRINS THE RDODRESS FROM

. HHICH (SREGC) WRS OBTARINED

SREGO WORD O .. CONTRINS ((SREGRD)+0)
SPEGI HORD O . » CONTRINS ((SREGRD)+2)
SREG2 WORD O . » CONTRINS ((SRESRD)+4)
SREGI HWORD O .. CONTRINS ((SREGRD)+6)
SREGH HORD O »» CONTRINS ((SREGRD)+10)
SREGS WORD O »» CONTRINS ((SREGRD)+12)
STHMPO HORD O .»USER DEF INED
STHP1 WCRD O »»USER DEF INED
STHP2 WORD O .. USER DEF INED
STHMP3 HORD O ., »USER DEF INED
STHPY WORD O .~ USER DEF INED
STHPS WORD O . »USER DEF INED
STIMES O ,.MAX NUMBER OF ITEPATIONS
SESCRPE O .. ESCAPE ON ERROR RDORESS
SBELL RSC1Z2 <€207><3?7>¢377> .., CODE FOR BELL
SQUES RSC1Yy /7 ,» QUESTION MRRK
SCRLF RSCI1 (16 . » CARRIAGE RETURN

SEQ 0019




DZDUT-B MACY11 30(1046)

bZbUTB M1t

872
873
874
875
876
877
878
879
880
881
882
883
884
B85
886
887
838
889
890
891
892
893
894
895
896
897
898
899
900
901
902
903
904
905
906
907
908
909
910
911
912
913
91y
915
916
917
918
919
920
921
922
923
924
925
926
92z7

001524

001526
001526
001530
001532
001534
001536
001540
001542
001544
001546
001546
001547
001550
001552
001554

0015%6
001557

001560

001562
001563
001564
001566
001567
001570
001572
001573
001574
001576
001600
001602
00160M4
001606
001610
001612
001614
001616
001620
001622
001624

31-MAY-77 09 49

000012

0C0000
000000
000000
000000
000000
00C000
000000
000000

000
000
00000GC
000003
C00000

000
000

000000

000

000
000200

000

000
000000

000

000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000

21-SEP-7?7 09 18 PRGE 22

SLF.

COMMON TRGS
RSCIZ

12>

. LINE FEED

PR 300000 PR 0300033303000 000000080030 000000008 00002200 22002200)

SBTTL

APT MA{LBOX-ETABLE

PR $3000300 0000002000003 0203300000000¢032000028020000000000008¢823+

EVEN
SMARIL
SMSGTY
SFRTAL
STESTN
$PASS
SOEVCT
SUNIT
$MSGRD
$MSGLG
SETABLE.
SENV
SENVM
SSWHREG
SUSHR
SCPUOP

L Y
I I P 3¢ M P

SMAMS1
SMTYP1
I*

P

o

. ¢
SMADR1
e 4
SMAMS2
SMTYP2
SMADR2
SMAMS3
SMTYP3
SMADR 3
SMANSY
SHTYPY
SMADRY
SVECT1
SVECT2
SBRSE
SDEVH
SCDOK1
SCOW2
SDDOHO
SOOW1
SDDH2
SODH3
SODHY
SODOHS

WORD
WORD

. HORD

WORD
WORD
WORD
WORD
WORD

BYTE

. BYTE

WORD
WORD
WORD

RYTE
BYTE

WORD

BYTE
BYTE
WORD
BYTE
BYTE
HORD
BYTE
BYTE
WORD
HORD
HORD
HORD
WORD
WORD

. WORD

HORD
HORD
WORD
WORD
HORD
WORD

RAMSGTY
RAFATAL
RTESTN
APASS

RDEVCT
AUNIT

AMSGRD
AMSGLG

RENV
RENUM
ASHREG
RAUSKR
RCPUOP

AMAMS1
AMTYP1

RMADR1

AMANMS 2
AHTYP2
RAMADR2
AHANS3
ANMTYP3
AMADR 3
ANANSY
AMTYPY
AMADRY
RAVECT1
RVECT2
RABASE
RDEVN
ACDK1
ACDW2
ADDHO
ADDH1
RADDHZ
RODH3
RDDWY
RODHS

;+APT MAILBOX

;  MESSAGE TYPE CODE

,»FATAL ERROR NUMBER

. TEST NUMBER

. PASS COUNT

. DEVICE COUNT

.+ 1/0 UNIT NUMBER

., » MESSRGE RADDRESS

.+ MESSRGE LENGTH

. APT ENVIRONMENT TABLE

»ENVIRONMENT BYTE

,» ENVIRONMENT MODE B1TS

. APT SWITCH REGISTER

». USER SHITCHES

.. CPU TYPE, OPTIONS

BITS 156-11=CPU TYPE
11/04=01,11/05=02, 11/20=03. 11/40=04, 11/45205
11/70=06. PDQ=07. Q=10

BIT 10=REAL TIME CLOCK

BIT 9=FLORTING POINT PROCESSOR

BIT 8=MEMORY MANRGEMENT

. -HIGH RDDRESS.M. S BYTE

.MEM  TYPE,BLK#1

MEM TYPE BYTE -- (HIGH BYTE)
900 NSEC CORE=001
300 NSEC BIPOLRR=00Z
500 NSEC MOS=003

.. HiGH RDDRESS, BLK#1

MEM LAST ADDR =3 BYTES. THIS WORD RAND LOW OF "TYPE" RABOVE

..HIGH ADDRESS.M. S BYTE

;. MEM TYPE. BLK#2

-, MEM LAST RODRESS.BLK#2Z

..HIGH RODRESS.M S BYTE

,.MEM TYPE,BLK#3

. »MEN LAST RADDRESS, BLK#3

.»HIGH RODRESS.M S BYTE

,»MEM TYPE, BLK#Y4

;. MEM LAST RDDRESS. BLK#Y

»» INTERRUPT VECTOR#1,BUS PRIORITY®R1

,» INTERRUPT VECTOR#2BUS PRIORITY#2

., .BRASE RODRESS OF EQUIPHMENT UNDER TEST

.. DEVICE MAP

»» CONTROLLER DESCRIPTION WORD#1

+» CONTROLLER DESCRIPTION WORD#2

»»DEVICE DESCRIPTOR WORD#0

.»DEVICE DESCRIPTOR WORD#1

»»DEVICE DESCRIPTOR WORD#2

»»DEVICE DESCRIPTOR HORD#3

., DEVICE DESCRIPTOR WORD#Y4

. »DEVICE DESCRIPTOR WORD®S

SEQ 0020
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L20UTB M1t

928
929
930
931
932
933
934
935
936
937
938
939
940
91

942
>

001626
001630
001632
001634
001636
001640
001642
001644
001646
001650

001652

31-MAY-77 09 49

000000
000000
000000
000000
000000
000000
0000C0
0C0000
000000
000000

21-SEP-77 09 18 PRGE 23

RPT MAILBOX-ETABLE

$00KH6
SOOW?
SODKU8
SOOI
$OOU10
SODK11
SOOW12
$O0W13
SOCH1Y
SODW15

SETEND

. HORD

WOkD
HORD
WORD
WORD
WORD
WORD
WORD
HORD
WORD

RODH6
ROOK?
RADDHWS
ROOK9
RDDW10
RDDW11
RODW12
RODK13
RODH 1Y
RODH15

.. DEVICE
. DEVICE
;. DEVICE
.. DEVICE
IIDEU‘CE
;. DEVICE
;. DEVICE
;. DEVICE
., DEVICE
leEUlcE

DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR
ODESCRIPTOR
DESCRIPTOR
DESCRIPTOR
DESCRIPTOR

HORD#6
WORD#?
HORD#8
WORD#9
KWORD#10
WORD#11
WORD#12
WORD#13
HORD# 14
WORD#15

SEq@ 0021




DZDOUT-B MACY11 30C1046)

bLZOUTB M1t 3J1-MRY-77 09 49

bal)

A1)

946

97?7

948

949 005746
950 005726
951 010046
962 012600
953 Q2ubu6
954 022626
955

956

957 100000
958 040000
959 020000
960 010000
961 004000
962 002000
963 0010C0
964 Ccoou00
965 000200
966 000100
967 000040
968 000020
969 000010
970 000004
971 000002
972 000001
973

974 100000
975 040000
976 020000
977 010000
978

979 001000
980 000400
981

982 030000
983 020000
984 000000
985 000000
986 0020900
987 004000
988 006000
989 000000
990 001000
991 001400
992

993 100000
994 040000
995 020000
996 002000
997 000u00
998 000200

999 000100

21-SEP-77 09 18 PRGE 24
RPT MARILBOX-ETARBLE

» INSTRUCTION DEF INITIONS

PUSHISP=5746  ; DECREMENT PROCESSOR STACK 1 WORD =TST -(SP)
POP1SP=5726 . INCREMENT PROCESSOR STACK 1 WORD =TST (SP:+
ON STACK =MOV RO, - (SP)

RO FROM STACK =MOV (SP)+,RO

=CHP -(SP), - (SP)

=CMP (SP)+, (SP)+

PUSHRO= 10046 . SAVE RO
POPRO=12600 ; RESTORE

PUSH2SP=24646 , DECREMENT STACK TWICE
POP2SP=22626 » INCREMENT STRCK TWICE

+REGISTER DEF INITIONS
~RXCSR BIT DEFIN
DSC=B!T15
RING=BIT1Y
(TS=BI1T13
CARDET=B1T12
RECACT=BIT1}
SRD=B1T10
DSR=BIT9
STPSYN=B |78
RXOONE=BIT?
RINTEN=BIT6
DSINTE=BITS
SYNSCH=BITu
STD=BIT3
RTS=B172
DTR=BIT!
V0!D=BITO
.RXDBUF 81T DEF!
RXERR=B1T16
OVRRUN=BIT1H4
FRMERR=BIT13
PRARER=BIT12
,PARCSR B1IT DEFI
PRAREN=BITY9
EVPAR=BITS8
.PRARCSR WRD DEF 1
SYNINT=30000
SYNEXT=20000
ISYHOD=Q
FIVE=0
S1X=2000
SEVEN=4000
E IGHT=6000
NOPAR=0
ODDPRR=1000
EVEPAR=1400

I TIONS

»DATR SET C(HANGE
» RING
»,CLR TQ SEND

,CARRIER DETECT
.REC ACTIVE

. SEC REC DATA
.DATA SET RDY

» STRIP SYNC

»REC DONE

,REC INTR ENRBLE
-DSC INTR ENRBLE
. SYNC SEARRCH
»SEC XMIT DATA
,REQ TO SEND
.DRTA TERM ROY

NiTIONS

»REC ERROR

. QUERRUN

FRAME ERROR
,PARITY ERROR
NITiONS

,PRARITY ENRBLE
-EVEN PRRITY SENSE
NITIONS

» SYNC EXTERNAL MODE
. SYNC INTERNAL HMODE
. 1S0C HODE

. WORD LENGTH 5 BITS
»WORD LENGTH & BITS
»HORD LENGTH 7 BITS
,WORD LENGTH 8 BITS
,NO PRRITY

. 00D PARITY

,EVEN PRRITY

,TXCSR BT DEFINITIONS

DNR=BI1T15
MTDATR=BIT1Y
CLK=BIT13
BITW=B1T10
MRESET=BITE
TXDONE=B1T7
TXINTE=BIT6

,ORTA NOT RVAILAbLE
.MAINT DRTA

» CLK

»B1T HINDOW

. MASTER RESET

» XM1T DONE

. XMIT INTR ENRBLE

SeQ 0022
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p2ouTe M1 J1-MAY-77 09 49

1000 000040
1001 000020
1002 000u10
1003 000001
1004

1005 000000
1006 004000
1007 010000

1008 014000

RPT MRILBOX-ETABLE

DNRINTE=BITS »ONR INTR ENRB
SEND=BITH » SEND
HOXEN=BIT3 » HOX/FOX
BRERK=BITO » BRERK

» TXCSR HRD DEF INITIONS
USER=0 . USER MODE
MINT=4000 »MAINT INT MODE
MEXT=10000 »MAINT EXT MODE
SYSTST=14000 »SYSTEM TEST MODE

SeQ 0023
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DZouUTE M11

1009
1010
1011
1012
1013
1014
1015
1016
1017
1018
1019
1020
1021
1022
1023
1024
1025
1026
1027
1028
1029
1030
1031
1032
1033
1034
1035
1036
1037
1038
1039
1040
1041
1042
1043
TOuN
1045
1046
1047
1048
1049
1050
1051
1052
1053
1054
1055
1056
1057
1058
1059
1060
1061
1062
1063
1064

001652

001652
001654
001656
001660
001662
001664
001666
001670
001672
001674
001676
001700
001702
001704
001706
001710

001712
001714
001716
001720
001722
001724
001726
001730
001732
001734

001736
001740
001742
001744

001746
001754
001762
001770
001776
002004

001762
002067
002116
002132
002022
002067
002116
002132
002043
002067
002116
002132
001746
000000
002126
002132

160010
160011
160012
160013
160012
160013
166014
160015
160016
160017

000770
000772
000774
000776

020040
020122
020040
051101
042440
047440

21-SEP-77 09 18 PRGE 26
31-MAY-77 09 49

051105
041520
047503
051511
051122
020116

047522
000040
050115
047117
051117
042522

ERROR POINTER TRBLE
SBTTL ERROR POINTER TRBLE
. XTHIS TRBLE CONTRINS THE INFORMATION FOR ERCH ERROR THRT CAN OCCUR

. XTHE INFORMATION (S OBTAINED BY USING THE INDEX NUMBER FOUND IN
,XLOCATION SITEMB THIS NUMBER INDICATES WHICH ITEM IN THE TRBLE IS PERTINENT

. XNOTE1 IF SITEMB IS O THE ONLY PERTINENT DATR IS (SERRPC)
» XNOTE2 EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED RS FOLLOWS
. X EM »+POINTS TO THE ERROR MESSAGE
. X DH ;,POINTS TO THE DATA HERDER
X 07 . .POINTS TO THE DATA
X DF »»POINTS TO THE DATR FORMRT
SERRTB
.ERROR TRBLE
EM1 ,ERROR 1 REGISTER ERROR
DH1
OT1
OF 1
EM2 ,ERROR 2 RECEIVER ERROR
DH1
DT1
OF 1
EM3 ,ERROR 3 TPANSMITTER ERROR
DH1
OT1
DF 1
EMY ,ERROR 4 BIT ERROR (GENERAL)
0
DTy
DF1

»,DEFRULT DU ADDRESSES
RXCSR 160010
HRXCSR 160011
RXOBUF 160012

HRXDBUF 160013
PARCSR- 160012
HPARCSR. 160013

TXCSR. 160014

HTXCSR. 160015

TXDBUF 160016

HTX0BUF 160017
-DEFRULT DU VECTORS

DURIV 770 +REC INTR VECTOR
DURIS- 772 ,REC INTR STATUS
DUTIV 774 » XMIT INTR VECTOR
DUTIS 776 ,XMIT INTR STRTUS
»ERROR MESSAGES
EMY RSC1Z2 / ERROR PC /
EM1 RSC12 7 COMPARISON ERROR ON REGISTERS/

SEQ 002y
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D20UTB. M11

1065
1066
1067
1068
1069
1070
1071
1072
1073
1074
1075
1076
1077
1078
1079
1080
1081
1082
1083
1084
1085
1086
1087
1088
1089
1090
1091
1092

1093

1094
1095
1096
1097
1098
1099
1100
1101
1102
1103
1104
1105
1106
1107
1108
1109
1110
1111
1112
1113
1114
1115

002012
002020
002022
002030
002036
002043
002050
002056
002064

002067
002074
002102
002110

062116
002124
002126

002132
002135

000046
000052

000024
000044

002136
002136
002140
002142
002144
002146
002150

ow4s07
000123
020040
053111
051122

ou0
051516
051105
051117

105
020040
042105
052524
002116

001416
000000

001416

000
000

002136
000046
012670
000052
000000
002136

002136
000024
000200
C00044
002136
002136

000000
001526
000010
000010
0000090
000052

21-StP-77 09
31-MRY-77 09 49

052123

042522
051105
051117
052040
0445615
042440

000

051122
040527

020040
046101

001130

000000
000

051105

042503
O42440

000
040522
052124
051122

041520
052116
041501

000

001132

000

-18 PRGE 27

ERROR POINTER TRBLE

EM2 ASCIZ /7 RECEIVER ERROR/

EN3 ASCIZ / TRANSMITTER ERROR/

.DATA HERDERS FOR ERROR MESSAGES

DH1 .RASCIZ /ERRPC HANTED ARCTURL/

EVEN
.DATA TABLES FOR ERROR MESSAGES

DTt WORD  SERRFC,HLDO.HLD1.0

DTu. WCRD  SERRPC.O
DF 1 ByTe 0.0.0.0

EVEN
SBTTL RCT11 HOOKS

D $ 0 5300033008000 23¢0032¢00333¢08093¢080032¢900738000929800022200¢

HOOKS REQUIRED BY RCTi1
SSYP(C= , SAVE PC
=46

SENDROD ,»1)SET LOC 46 TO RDDRESS OF SENDRD IN SEOP

=52
WORD O ;+»2)SET LOC 52 TO ZERO
=$SVP( »» RESTORE PC

SBTTL APT PARAMETER BLOCK

AP $ 0 5000033000330 0300002000002030¢0222900320002200020000000002000009!
»SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
P 30 0900003303330 0 0000000088 8332200220200200020000000000203¢02282¢2%4

$X= ;» SAVE CURRENT LOCATION

=24 »»SET POWER FAIL TO POINT TO STRRT OF PROGRAM
200 ,.FOR APT START UP

=4y ,POINT TO APT INDIRECT ADDRESS PNTR
SAPTHDR ;,POINT TO APT HEADER BLOCK

= §X ,;RESET LOCAT!ON COUNTER

PP 300 3300533830330 0300000000800323003320020000000200000000028200¢2¢8
,SETUP APT PRARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIRGNOSTIC
. INTERFRCE SPEC

SAP THD

SHIBTS . WORD O
SMBADR . WORD  SMAIL . .ADDRESS OF APT MAILBOX (BITS 0-15)
STSTH WORD 10 .»RUN TIM OF LONGEST TEST

SPASTM  WORD 10 +RUN TIME IN SECS OF 1ST PASS ON 1 UNIT (QUICK VERIFY)

SUNITM  WORD .,ADDITIONAL PUN TIME (SECS) OF A PASS FOR ERCH RDDITIONAL UNIT

,.THO H!GH BITS OF 18 BIT MAILBOX RDOR

WORD  SETEND-SMR!L/2 .. LENGTH MRILBOX-ETABLE (WORDS)

SEQ 0025




DZDUT-B MACY11 30(1046)

bzouTts

1121
1122
1123
1124
1125
1126
1127
1128
1129
1130
1131
1132
1133
1134
1135
1136
1137
1138
1129
1140
1141
1142
1143
1144
1145
1146
1147
1148
1149
1150
1161
1162
1153
1154
1165
1156
1167
1158
1159
1160
1161
1162
1163
1164
1165
1166
1167
1168
1169
1170
1171
1172
1173
1174
1175
1176

.M

002152

002152
002156
002160
002164
002166

002172
002200
002206
002214
002222
002230
002236
002244
002252
002256
002262
002270
002276

002304
002310
002316
002324
002332
002340

002342
002344
002350
002352
002360
002366

002372
002376
002404
002406
00241y
002414
002420
002424
002432

012706
005026
022706
001374
012706

012737
012737
012737
012737
012737
012737
012737
012737
005067
005067
112767
012767
012767

013746
012737
012767
012767
Q22777
001012

000403
012716
0000902
012767
012767
012637

005067
132767
001403
012767

012706
106427
012737
105067

21-SEP-77 09 18 PAGE 28
31-MRY-77 09 49

001400
001440
001100

016314
000340
014204
000340
016650
000340
015006
000340
1772234
177232
000001
002270
002276

00000u
002344
177570
177570
177277

002352

000176
000174
000004

177136
Q00200

001550

001100
000340
015006
176535

000020
000022
000030
00C032
00003y
000036
000024
000026

177125
177110
177104

000004
177114
177110
177100

177060
177054

177143
177624

00002y

RPT PARAMETER BLOCK

»PROGRAM INITIALIZATION

+LOCK OUT INTERRUPTS

+SET UP PROCESSOR STACK

+SET UP POWER FRIL VECTOR

-CLEAR PROGRAM CONTROL FLAGS AND COUNTS
»TYPE T(TLE MESSAGE

START.
SBTTL INITIALIZE THE COMMON TRGS
+»CLEAR THE COMMON TAGS (SCMTRG) AREAR

Mov #SCHTAG, RE ;»FIRST LOCATION TO BE CLERRED
CLR (R6)+ .»CLERR MEMORY LOCATION

CHP #SHR.R6 ..DONE"?

BNE ) ;. LOOP BRCK IF NO

MoV #%STACK, SP »+»SETUP THE STACK POINTER
++INITIALIZE R FEW VECTORS

MoV #SSCOPE, @8 1OTVEC ., 10T VECTOR FOR SCOPE ROUTINE

MOV $340, 98 10TVEC+2 ., LEVEL 7

MOV #SERROR, 98EMTVEC EMT VECTOR FOR ERROR ROUTINE

Hov %340, JEENTVEC+Z ., LEVEL 7

MOV #STRAP, 94 TRAPVEC .. TRAP VECTOR FOR TRAP CALLS

MOV %340, ¢ TRAPVEC+2, LEVEL 7

MOV #SPLIRDN, 98PURVEC .. POWER FARILURE VECTOR

Hov #340, ¥PURVEC+2 ,;, LEVEL 7

CLR STINES ;» INITIALI2E NUMBER OF |TERRTIONS

CLR SESCRPE ;,CLEAR THE ESCRPE ON ERROR ARDDRESS
Movs %1, SERMAX »»ALLOW ONE ERROR PER TEST

MOV %. . SLPROR «+INITIALIZE THE LOOP ADDRESS FOR SCOPE
MOV &. . SLPERR ;»SETUP THE ERROR LOOP RDDRESS

.»S12E FOR A HRARDWARE SWITCH REGISTER IF NOT FOUND OR IT IS
..EQUAL TO R "-1", SETUP FOR R SOF THARE SHITCH REGISTER.

MOY ORERRVEC, -(SP) ,,SAVE ERROR VECTOR
MOV %649, JRERRVEC  ,/SET UP ERROR VECTOR
MOV #DSHR, SUR »+»SETUP FOR A HARDWARE SHICH REGISTER
MOV RODISP,DISPLAY ..,AND A HARDWARE DISPLAY REGISTER
CHP #-1, OSHR . TRY TO REFERENCE HARDWARE SWR
BNE 66% »»BRANCH |F NO TIMEOQUT TRAP OCCURRED
,+»AND THE HARDWARE SHR IS NOT = -1
BR 65% .. BRANCH F NO TIMEOQUT
CLRY MOV $65£9, (SP) .»SET UP FOR TRAP RETURN
RTI
659 MOV #SHREG, SHR »»POINT TO SOFTWRARE SHR
MOV #DISPREG, DISPLAY
069 MOV (SP)+, JRERRVEC ., RESTORE ERROR VECTOR
CLR SPASS .»CLEAR PRSS COUNT
BITB RAPTSIZE, SENVH ,, TEST USER SIZE UNDER APT
BEQ 679 ;» YES,USE NON-RFT SHITCH
MOV KRSSHREG, SHR »~NOQ,USE APT SWITCH REGISTER
679
MOV #STRCK, SP » SET STRCK
MTPS %340 ;LOCK INTERRUPTS
MOV & PFAIL, o824 .SET UP POWER FRIL VECTOP

CLRB STFLG »CLERR STRRT FLAG

-

SeQ 002
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1177
1178
1179
1180
1181
1182
1183
1184
1185
1186
1187
1188
'189
1190
1191
1192
1193
1194
1195
1196
1197
1198
1199
1200
1201
1202
1203
1204
1205
1206
1207
1208
1209
1210
1211
1212
1213
1214
1215
1216
1217
1218
1219
1220
1221
1222
1223
1224
1225
1226
1227
1228
1229
1230
1231
1232

0024 36
002442
002446
002452
002456
002464

002472
002476
002502
002510
002514
002516
002524
002532
002534
002540
002544
002552
002554
002560
002562
002566
002572
002576
002600
002604
002610
002614
002616
002624
002626
002632
002636
002644
002646
002652
002656
002662
002666
002670
002672
002674
002676
002702
002704
002706
002710
002712
002714
002716
002720
002721
002722
002730
002734

D20UT-8 MACY11 30(1046)

0ZOUTB M1t 31-MAY-?77

005067
105067
005067
005067
012767
012767

013746
013746
012737
0057?27
000407
012767
012767
022626
012637
012637
022767
001007
005737
001402
000167
00M767
106767
001004
104401
105167
105767
001410
032767
001002
105067
000167
032777
001002
000167
012700
012701
012702
010110
005011
060200
060201
022701
002771
104406
015214
104410
160000
1672776
01714y

001

001
016767
004767
016767

21-SEP-?77 09 18 PRAGE 29
INITIALIZE THE COMMON TRGS

09 49

176450
176735
176740
176740
000001
002152

000006
000004
002516
176724

000176
000174

000004
000006
000176

000042

000522
010200
176374

01t146
176462
176732

000001

176321
000452
000001

000k 36
000300
000302
00000y

001000

014216
014056
176216

176716
176412

00000M

176714

176710

176666

176726

170574

176226
176212

18

2%

338
3%

ONCE

BYTE
BYTE

CLR
CLRE
CLR
CLR
MOV
MOV

MOV
MOV
MOV
TST
BR
MOV
MOV
CHP
MoV
MOV
CMP
BNE
TST
BEQ
JHP
JSR
TSTB
BNE
TYPE
cons
TST8
BEQ
BIT
BNE
CLRE
JMP
BIT
BNE
JHP
MoV
MoV
MOV
MoV
CLR
ADD
ADD
CHP
BLT
INSTR
MREGRD
PRRAM
160000
167776
DUBRSE
1

1

MoV
JSR
MOV

8 3

PASCNT

SERFLG

SERTTL

SERRP(
#1,$TSTNM

% START, RETURN

3'61 - (SP)
o84, - (SP)

$18, %Y

OSHR

29

$SUREG, SHR
#DISPREG, DISPLRY
(SP)+, (SP)+
(SP)+, o84

(SP)+, 986
$SHREG., SHR

3%

oku2

33%

BEGIN

PC. CNTLU

INIFLG

ONCE

SMTITLE

INIFLG

SENV

119

#1, SUSHR

129

JMRBY

BEGIN

#SHO0, dSHR

19

BEGIN

#300.R0O . RESTORE
#302.R1
#4.R2
R1, (RO)
(RY)
R2.RO
R2.R1
#1000. R1
29

., OUTPUT MESSAGE
; MESSRAGE

., CONVERT STRING
,LOW LINMIT
JHIGH LIMT
,STORE AT THIS L
» MARSK

, HOW MANY TIMES
DUBRSE ., KEEPADD
PC. DURDDR
KEEPADD. BASERDD

» CLERR PRSS COUNT

;CLERR ERROR FLRG

;CLERR ERROR COUNT

,CLEAR LAST EPROR POINTER
;SET UP FOR TEST 1

»SET UP FOP PCWER FRIL BEFORE
. TESTING STARTS

»CHECK FOR CHA N

,HAS INITIALIZATION BEEN PERFGRMED

. TYPE TITLE MESSAGE
. IF NOT ZET FLAG RAND DO
+RAPT CONTROL?
,BR IF NO
,EXTENAL JUMPER ON?
» NO
»CLERR FLAG
.60 DO IT
»RESELECT VECTOR & CONTROL REG?

VECTOF ARER TO TRAPCATCHER

START AT LOCATION 300

.END RT LOCATION 776
& GET INPUT STRiING

OCRTION

+ 2
» SRVE

.RESTORE FOR ROTATION

Seq 0027
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DZDUTB M1t J1-HMRY-?77 09 49 INITIRL1ZE THE COMMON TRGS SeQ 0028
1233 002742 1044086 INSTR . OUTPUT MESSRGE & GET INPUT STRING
1234 002744 015201 MVECTO ; MESSAGE
1235 002746 104410 PARAN  ; CONVERT STRING
1236 002750 000300 300 LOW LIMIT
1237 002752 000776 276 +HIGH LIMT
1238 0027?54 001736 DURIV ~ ;STORE AT THIS LOCATION
1239 002756 001 BYTE 1 » MASK
1240 002757 004 BYTE 4 > HOW MANY TIMES + 2
1241 002760 016767 176752 176176 MOV DUR 1V, KEEP |V » SRVE
1242 002766 016767 176744 176166 MOV DUR IV, BASE |V +SET UP FOR ROTARTION
1243 002774 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STR NG
1244 002776 015244 MMULT  ;MESSAGE
1245 003000 10441y SETFLG SET FLAG BASED UPON INPUT STRING
1246 003002 001152 MULTD . THIS FLAG
1247 002004 105767 176142 TST8 MULTD . RRE THERE MULTIPLE DEVICES
1248 »ON THE SYSTEM ?
1249 003010 100406 BMI BB8 » YES,ASK NEXT QUESTION
12560 003012 005067 176150 CLR RCTREG
1251 003016 005067 176146 CLR ROTADD
1252 003022 000167 000140 JMP OUTHMUL ., JUMP RROUND NEXT QUESTION
1263 003026 BBB
1254 00302¢ 104406 INSTR . QUTPUT MESSRGE & GET INPUT STRING
1265 003030 015273 MLASTD ; MESSAGE
1256 003032 104410 PARAM . CONVERT STRING
1267 003034 160000 160000 ,LOW LIMIT
1258 003036 167776 167776 ,HIGH LIMIT
1269 003040 001160 LARSTARDD ., STORE AT THIS LOCATION
1260 003042 001 BYTE 1 » MRASK
1261 003043 001 BYTE 1 ,HOW MANY TIMES + 2
1262 ,THE FILLOWING ROUTINE SETS UP RCTREG FOR THE FIRST TIME
1263 003044 012767 000001 176116 19 MOV %1, ROTRDD . SET UP POINTER
1264 003052 005067 176110 CLR ACTREG .CLR ACTIVE REGISTER
1265 003056 056767 176106 176102 2% BIS ROTADD.RCTREG . MRKE THIS DEVICE RCTIVE
1266 003064 000241 CLC
1267 003066 006167 176076 ROL ROTRDD ., SET UP POINTER
12¢8 003072 103421 BCS 3% .ARE YOU QUT OF RANGE 7
1269 003074 062767 000010 176052 RDD %10, BASERDD .SET UP BRSE RDDRESS
1270 003102 026767 176052 176044 (HP LRSTADD, BASEARDD ., IS THIS THE LAST DEVICE 7
1271 003110 101362 BHI 2% +NO DO IT RGRIN
1272 003112 056767 176052 176046 BIS ROTADD, ACTREG . THIS ASSUMES THART THERE RARE AT
1273 ,LEAST TWO DEVICES WHEN YOU RANSKER YES TO
1274 ,MULTIPLE DEVICE QUESTION
1275 003120 012767 000001 176042 49 MOV %#1,R0OTADD ,SET UP FOR LATLR USE IN END OF PRSS KROUTINE
12?76 003126 016767 176024 176020 MoV KEEPADD. BASEARDD ., DITTO
1277 003134 00041y 8R OUTMUL . CONT!NUE QUESTIONS
1278 003136 016767 176014 176010 39 MOV KEEPADD, BASERDD . RESTORE
1279 003144 104406 INSTR . OUTPUT MESSAGE & GET INPUT STRING
1280 003146 015367 MRANGE ., MESSAGE
1281 003150 104410 PARAM  , CONVERT STRING
1282 003152 160000 160000 ,LOW LIMIT
1283 003154 167776 167776 . HIGH LINIT
1284 003156 001160 LASTADD , STORE AT THIS LOCATION
1285 003160 001 BYTE 1 » MASK
1286 003161 00! BYTE 1 HOW MANY TIMES + 2
1287 003162 000167 177656 JHpP 19 .00 IT RGRIN

1288 003166 012767 000340 013612 OUTHUL HOV #340. DUPRT
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vzZouTts

1289
1290
1291
1292
1293
1294
1295
1296
1297
1298
1299
1300
1301
1302
1303
130M
1305
1306
1307
1308
1309
1310
1311
1312
1313
1314
1315
1316
1317
1318
1319
1320
1324
1322
1323
1324
1325
1326
1327
1328
1329
1330
1331
1332
1333
1334
1335
1336
1337
1338
1339
1340
1341
1342
1343
1344

M
00317y

003200
003200
003202
003204
003212
003214
003220
003222
003230
0032132
003240
003242
003244
003246
003250
003252
003254
003256
003260
003262
003264
003266
003270
003272
003274
003276
00330C
003302
003304
003206

003310
003314
003320
003326
003330
003332
00333y
003336
003340
003342
003344
003345
003386
003354
003356
003364
003370

J1-MAY-77
004767

104406
0156056
122767
CC1003
105067
000412
122767
001004
112767
000402
104407
000757
000240
104406
Ci5653
104414
001147
104406
015724
10481Y
001150
104406
015774
10441y
0011561
104406
016053
10441y
001153

012706
106427
032777
001413
104406
015537
104410
003374
017500
001402

001

001
016767
000403
012767
104401
000177

21-SEP-77 09
09 49
013536
000061 012734
175726
000062 012716
1777277 175706
001100
000340
000002 176112
176030 1755230
003374 175520
0156533

175510

0 3

18 PAGE 31
INIT ALIZE THE COMMON TAGS
JSP PC. DULEV
. COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
,BUFFER TO THE CHRRACTERS "1" AND "2"
,IF THE CHARACTER 1S "1" CLEAR THE FLAG
toq ¢ |F THE CHARACTER IS 2" SET THE FLAG
INSTR  ; QUTPUT MESSAGE 8 GET INPUT STRING
MSYNC . MESSAGE
3% CMPB  #'1. INBUF SIS IT M7
BNE 19
CLRE  SYNCNO 000
BR 4$ ,
19 CMPB  #'2, INBUF SIS T "2 2
BNE 29
MOVB  #-1,SYNCNO , 377
BR us
2% INSTER , RETRY
BR 35
4s NOP
INSTR  , OUTPUT MESSAGE & GET INPUT STRING
MWIREE . MESSAGE
SETFLG .SET FLAG BASED UPON INPUT STRING
SEXMIT , THIS FLAG
INSTR . QUTPUT MESSRGE & GET INPUT STRING
MWIRES  MESSAGE
SETFLG .SET FLAG BASED UPON INPUT STRING
SEREC . THIS FLAG
INSTR ., OUTPUT MESSAGE 8 GET INPUT STRING
MWIREY , MESSAGE
SETFLG .SET FLAG BASED UPON INPUT STRING
OPTCLR . THIS FLAG
INSTR  , OUTPUT MESSAGE & GET INPUT STRING
MEXTJ . MESSAGE
SETFLG .SET FLAG BASED UPON [NPUT STRING
JMRBY » THIS FLAG
, TEST START AND RESTART
BEGIN MOV #STACK, SP ,SET UP STACK
MTPS  §340 LOCK OUT INTERRUPTS
BIT RSWO1, ISHR ,IF SWO1=1, GET STARTING PC
BEQ 38
INSTP ., OUTPUT MESSAGE & GET INPUT STPING
MTSTPC . MESSAGE
PARAN ., CONVERT STRING
TST1  LLOW LIMIT
17500 ,HAIGH LIMIT
STSTNM . STORE AT THIS LOCATION
BYTE 1 , HASK
BYTE 1 :HOW MANY TIMES + 2
MOV STSTNM, RETURN
BR 4$
35 MOV BTST1,RETURN ,START AT TEST 1
4s TYPE MR . TYPE R
JHP ORETURN ,STRART TESTING

SEQ 0029
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1345
1346
1347
1348
1349
1350
1351
1352
1353
1354
1356
1356
1357
1358
1359
1360
1361
1362
1363
1364
1365
1366
1367
1368
1369
1370
1371
1372
1373
1374
1375
1376
1377
1378
1379
1380
1381
1382
1383
1384
1385
1386
1387
1388
1389
1390
1391
1392
1393
1394
1395
1396
1397
1398
1399
1400

003374
003376
003404
003412

0C3420

003426
003434

003442
003450

003456
00346N
003472
003500
003506
003514
003522
003526
003532
003534
003536
003542

003544

J1-MRY-77

000004
052777
0127727
052777

012777

012777
052777

C427727
062777

Q427727
052777
052777
012767
012767
012767
004767
106777
100001
104004
005367
001361

000004

21-SEP-77

09 u9

000403
030000
000400

064001

036026
000020

020000
020000

020000
020000
ooc400
000uU03
000026
000010
013420
176160

1753bC

003546 052777 000400

176322
176310
176306

176300

176266
176250

176256
17¢250

176242
176234
176212
175416
175764
176400

176162

E 3
INITIALIZE THE COMMON TRGS

,» THIS TEST CHECKS THE STRIP SYNC FUNCTION
»»OF THE RECEIVER LOGIC

»»MODE SYNINT

, » LENGTH- E IGHT

»»NOTE- RXDONE SHOULD NEVER RSSERT

,»CHAR 26 (SYNC)

09 18 PAGE 32

s R R KRR KRR KRN R LR RN KR XX KR KRN R X KRR KRR XK KX XA

TSTH SCOPE
BIS SMRESET, 3TXCSR . MASTER RESET
MOV #SYNINT, QPARCSR /SET THE MODE
BIS #MRESET, 9TXCSR . MASTER RESET

. SET MAINT DRTA, CLK.BREARK, LMAINTENANCE MODE
MOV $MTDATR!CLK'MINT!BRERK. 9TXCSR

,SET MODE .#% OF BITS,PARITY SENSE.S8LORD SYNC REG
MOV SSYNINT!EIGHT 'NOPAR '26. dPRRCSR
BIS #SYNSCH, RXCSR . SET SYNC SERRCH
.POKE CLK TO GET RECEIVER INTO SYNCRO!ZAT:ON

B:(C $CLK, 9 TXCSR ,POKE CLK DOWN
BIS $CLK, @TXTSR ,POKE CLK UP
,POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BiIC $CLK, 9TXCSR ,POKE CLK DOWN
BIS $CLK, 9TXCSR ,POKE CLK UP
BIS BSTPSYN, 9RXCSR ., SET STRIP SYNC
MOV #3. COUNT ., &% OF SYNC CHRRS
19 MOV $26,9TMP1 ,CHAR TO BE SHIFTED
MOV #8 ,SHIFT . % OF SHIFTS
JSR PC.,RPOKE ,SHIFT IN THIS CHAR
TST8B JRXCSR ,RXDONE ?
BPL +4
ERROR Y , RXDONE SHOULD NOT BE RSSERTED
DEC COUNT . % OF SYNC CHRRS
BNE 19

,»THIS TEST PROVES THAT RXERR FREEZES THE "RECEIVEP FESET"
.»HHILE IN STRIP SYNC MODE

.. THIS TEST FIRST PROVES THAT RUTOMATIC RESETS OCCUR WHEN
.. STRIP SYNC 1S SET & SYNC CHARRCTERS RRE SENT

. BUT {F AN ERROR SHOULD OCCUR THIS RUTOMATIC RESET
.. 1S DISCOMBOB JLATED

.. 1€ FORCE PARITY ERROR WHILE STRiIP SYNC IS SET

. .NOTE NORMALLY THE LOG!C RESETS THE RXDONE BERROR FLAGS
,.PROVIDING THAT ONLY GOOD SYNC CHRRACTERS RRE SENT

,.BUT. IF AN RXERR OCCURS  RXDONE PLUS RXERR ARE RSSERTED
,.MODE 1SOC C(1SY10D)

.. LENGTH EIGHT

,.PARITY EVEPAR

, . CHARACTER EXPECTED 26

. CHARACTER SENT SYNC CHRRACTER

., NOTE THIS TEST USES ONLY THE RECEIVER LOGIC

g

TST2 SCOPE
BIS #MRESET, 9TXCSR . MASTER RESET

,:!!!l!!!!l!!!!!t!!t!!Xl!!!!tt!i!t!!!#it!tt!ttttttxttl!ittttt!ttt

SeG 0030




DZOUT-B MACY11 30¢1046)
DZ2DUTB H11

1401
1402
1403
1408
14085
1406
1407
1408
1409
1410
1411
1412
1413
1414
1415
1416
1417
1418
1419
1420
1421
1422
1423
1424
1425
1426
1427
1428
1429
1430
1431
1432
1433
1434
1435
1436
1437
1438
1439
1440
14N 1
1442
1443
144y
1445
1446
1uy?
1448
1449
1460
14561
1462
14563
1454
1465
1456

003554
003562

003570

003576
003604
003610
0023616

003624
003632

003640
003646
003654
003662
003670
003676
003702
003706
003710
003712
003716
003720
003724

003730
003732
003734

003736
003744
003750
003756
003764
003770
003774
003776
004000
00400y
004006
o0os4010

004012
004016
004020
oou4026
00%030
004036

31-MAY-77

012777
052777

012777

012777
016703
012767
052777

042777
052777

04272727
052777
052777
012767
012767
CO4767?
106777
100001
104004
005367
001361
012700
017701

020001
001401
104002

012767
012700
012767
012767
004767
105777
100401
104004
017701
020001
001401
104000

005367
001445
022767
001423
022767
001426

21-SEP-77 09

09 49

00000C
000400

064001

007426
176106
000003
000020

020000
020000

020000
020000
000400
000013
003054
013244
176004

175206

000uJle
175766

000004
110026
002054
000013
013156
176716

176712

175106
000003
000002

176140
176136

176130

17¢116

175306
176066

176074
176066

176060
176052
176030

175232
175602

175160

175522
176136

176076
1750¢e6

18 PRAGE 33
INITIALIZE THE COMMON TAGS

MOV
BIS

F 3

#1SYMOD, 9PRRCSR , SET THE MOOE
SMRESET.@TXCSR ., MASTER RESET

. SET MAINT DRTR, CLK,BREAK, LHAINTENANCE MODE

MOV

SMTOATA!CLK!MINT !BREAK, 9TXCSR

»SET MODE .# OF BITS,PARITY SENSE,B8LOARD SYNC REG

MOV
MOV
MoV
BIS

#1SYMOD'E IGHT 'EVEPAR ' 26, JPARCSR
PXDBUF, R3 ;SET UP FOR ERROR MSG

#3. COUNT ..% OF TIMES SYNC CHRF WILL BE SENT

#SYNSCH, RXCSR , SET SYNC SEARCH

,POKE CLK TO GET RECE{VER INTO SYNCROIZATION

BiC
BIS

.POKE CLK DOWN
:POKE CLK UP

ACLK, 9TXCSR
#CLK, 9TXCSR

,POKE CLK TO GET LOGIC INTO SYNCRONIZARTION

29
19

39

BiIC
BIS
BIS
MOV
MOV
JSR
1STB
BPL
ERROR
DEC
BNE
MOV
MOy

CHP
8EQ
ERROR

MoV
MOV
MOV
MOV
JSR
TSTB
BMI
ERROR
MOV
CHP
BEQ
ERROR

DEC
BEQ
CHP
BEQ
(e
BEQ

8CLK, @TXCSR »POKE CLK DOWN
BCLK, 9TXCSR .POKE CLK UP
KSTPSYN, @RXCSR , SET STRIP SYNC
K11 L SHIFT , & OF SHIFTS
#3054, $THP1 . SYNC CHRR + STRRTASTOP+ PARITY
PC, RPOKE SHIFT IN THIS CHRRACTER
ORXCSR ,RXDONE = 0 7
+4
Y » RXDONE SHOULD NOT BE SET
COUNT . 8% OF SYNC (HARRS
2% .GO RGAIN 7
%#26.R0 . EXPECTED
JRXDBUF , R1 » ACTUARL

,NOT® THAT THIS IS THE 7 !RST TIME
RXDBJF IS RERD THERE SHOULD BE
,NO OVER RUN ERROR )
RO. R1 ., COMPRRE EXPECTED VS RCTURL
+4
2 ,DRTA CHARS SHOULD COMPRRE
, THERE SHOULD BE NO RXERR'S
#4, COUNT . % OF TIMES
$RXERR'PARER'26. RO +EXPECTED
#2064, STHP1 ,BRD SYNC CHAR (WRPONG PRP!TY)
$#11 . SHIFT .8 OF SHIFTS
PC.RPOKE ,SHIFT IN THIS CHRR
SRXCSR .RXDONE = 17
+4
4 , RXDONE SHOULD BE SET
ORXDBUF . R1 .ACTUAL DRTR
RO.R1 ., COMPARRE EXP VS R(T
+y
,0ID THE RESPECTIVE ERROR 4 STOP THE
,AUTOMATIC RESSETING OF RXDONE & ERROP FLRGS
, CHECK THIS
COUNTY , & OF SYNC CHARS
&9 LFINISHED ? GET QUT OF TEST
%3, COUNT , % OF SYNC CHRRS
6% ,CHECK FRAME ERROR ?
#2. COUNT .# OF SYNC CHARRS
73 ,CHECK FRAME ERROR & BRD PRARITY ~

NOPE THEN T (COUNT) MUST BE = t THEREFORE

SEQ 0031




D2DUT-B8 MRCY11 30(10u46)
LZDUTB M1t

1467
1468
1459
1460
1461
1462
1463
144
1465
1466
1467
1468
1469
1470
1471
1472
147

1474
1476
1470
1477
1478
1479
1480
1481
1482
1483
1484
1485
1486
1487
1488
1489
1490
1491
18492
1493
1494
1495
1496
1497
1498
1499
1500
1501
1502
1503
1504
1605
1506
1607
1508
1509
1510
1611
15612

004040
004046
004054

004060
004066
004072
004076
004104
oo4110
O04114
00v122
004126
oo4132

004132
o041 3y
oo4142
004150

004156

004164
004172
004176
00w 204

004212
004220

004226
004234
oo4242
004250

J1-MRY-77

012767
012767
00N /767

012767
012700
000167
012767
012700
000i6?
012767
012700
00C1e?

000004
052777
012777
052777

012777

012777
016703
012767
052777

042777
052777

Qw2777
052777
052777
012767

G 3

21-SEP-77 09 18 PAGE 3y

09 49

000013
000054
013066

000054
170026
177660
001054
120026
177642
000054
130026
177624

000400
000000
0004090

064001

005626
175520
000003
000020

020000
020000

020000
020000
000400
000012

175084
175424

175412

175374

175356

176564
175552
176550

176642

175630

174720
175500

175506
175500

176472
175464
175442
174pl44

INITIRLIZE THE COMMON TRGS

MOV #11., SHIFT .8 OF SHIFTS

MOV #54, $THP1 .FRAME & PARITY ERROR

JSR PC, RPOKE ,SHIFT IN THIS CHARR
.NOW OON'T RERD THE RXDBUF TO CRERTE OVER RUN

MY %54, $THP1 ;FRAME & PARITY ERROR
MOV SRXERR'OVRRUN!FRMERR !PARER'26. RO ,EXPECTED
JMP 39 ;D0 IT RGARIN

6% Mmov %1054, $THP1 ;BAD STOP BIT FOR FRAME ERROR
MoV SRXERR'FRMERR' 26, RO ,EXPECTED
JHP 39 .D0 IT RGRIN

7S MOV %54, 9THP1 ,BAD STOP BIT & PARITY
MOV SRXERR'FPMERR'PRARER'26, RO ,EXPECTED

. JHP 3% .00 IT AGARIN

S

.. TH'S TEST PROVES THAT RXERR FREEZES THE "RECEIVER RESET"
.. WHILE IN STRIP SYNC MODE
. THIS TEST FIRST PROVES THAT AUTOMATIC RESETS OCCUR HHEN
.. STRIP SYNC 1S SET & SYNC CHARACTERS ARE SENT
. BUT |F AN ERROR SHOULD OCCUR THIS RUTOMARTIC RESET
.. 1S DISCOMBOBULRTED
.. IE FORCE PARITY ERROR WHILE STRIP S'YNC IS SET
.NOTE NORMALLY THE LOGIC RESETS THE RXDONE LERROR FLAGS
,.PROVIDING THRT ONLY GOOD SYNC CHRRACTERS ARE SENT
.. BUT, IF AN FXERR OCCURS  RXDONE PLUS RXERR RRE RSSERTED
.. MODE 1SOC 1SYMOQD)
,» LENGTH SEVEN
LPARITY EVEPAR
. CHRPACTER EXPECTED 226
,NOTE THAT THE PARITY BIT SHOULD SHOW
,UP IN THE DRTA fE BiIT SEVEN FOR
. SEVEN LEVEL CODE
.. CHRRACTER SENT SYNC CHRPRCTER
,»NOTE THIS TEST USES ONLY THE RECEIVER LOGIC

R T T T i it T Tt Tt ottt Tttty Tt Tt It Tt It It LY
IST3  SCOPE

BIS SMRESET, 9TXCSR ,MASTER RESET
MOV #1SYMOD, 9PARCSR , SET THE MOOE
BIS #HRESET, 9TXCSR . MASTER RESET
»,SET MAINT DATA, CLK, BRERK. LMAINTENANCE MODE
MOV EMTORTA'CLK'MINT'BRERK, aTXCSP
,SET MODE .#% OF BITS,.PARITY SENSE,8LORD SYNC REG
MOV #1SYMOD'SEVEN'EVEPRR ' 226, dPRRCSR
MOV RXDBUF , R3 »,SET UP FOR ERROR MSG
MOV %3, COUNT & OF TIMES SYNC CHAR HILL BE SENT
BIS SSYNSCH, 9RXCSR ., SET SYNC SERRCH
,POKE CLK TO GET RECEIVER INTO SYNCROIZATICON
B1C #CLK, 9TXCSR -POKE CLK DOUN
8IS #CLK, dTXCSR .POKE CLK UP
,POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BiC $CLK, TXCSR »POKE CLK DOWN
BIS BCLK, 9TXCSR ,POKE CLK UP
BIS $STPSYN, @RXCSR  ,SET STRiP SYNC
29 MOV $10 ,SHIFT ,# OF SHIFTS

Staq 0032




DZDUT-B MACY11 30(1046)
DZDUTB M11

1613
1514
1515
1516
1617
1518
1519
1620
1521
1622
1523
1524
16525
1526
1527
1528
1629
1530
1534
16532
1533
153y
1535
1536
1537
1538
1639
1540
1541
1642
15643
1544
1545
1546
1547
1548
1549
1550
1551
1552
1563
1554
16565
1556
1557
1568
1559
1560
1561
1562
1563
1564
1565
1566
1567
1568

004256
004264
004270
00274
00N 276
004300
004 304
004 306
oou312

004316
004 320
004222

004324
004332
004336
00u 344
004352
004 356
004362
004 364
004 366
004372
004374
004376

co4400
o044 04
o044 06
oou4 1Y
oouN16
o044 24

0044 26
o0uu 3y
oonu42

004446
004454
004460
oo4u46M
0044?72
0044?76
004502
004510
004514
004520

31-MAY-77

012767
004767
105777
100001
104004
005367
001361
012700
017701

02C001
001401
104002

012767
012700
012767
012767
Ccou7e?
105777
100401
104004
017701
020001
001401
104000

005367
0014N5
022767
001423
022767
001426

012767
012767
004767

012767
012700
000167
012767
012700
000167
012767
012700
000167

H 3

21-SkP-77 09 18 PRGE 35

09 u9

001454
012656
175416

174620

000226
175400

00000k
110026
001054
000012
012570
175330

176324

1 24620
000003
000002

000012
000054
012500

0000%4
170026
177660
000454
120226
177642
no00sSY
130026
177624

INITIALIZE THE COMMON TARGS

176214 MOV Bi1464,8TNPY , SYNC CHRR + STARTASTOP+ PRRITY
19 JSR PC. RPOKE L,SHIFT IN THIS CHARACTER
TSTB ORXCSR ,RXDONE = 0 7
BPL 4
ERROR Y4 . RXDONE SHOULD NOT BE SET
DEC COUNT ., % OF SYNC CHARRS
BNE 29 .G0 AGAIN ?
MOV $226,R0O ,EXPECTED
MOV ORXDBUF.R1 . ACTUAL
,NOTE THAT THIS IS THE FIRST T ME
.RXDBUF 1S RERD THERE SHOULD BE
,NO OVER RUN ERROR 4s
g?z RO.R1 . COMPRRE EXPECTED VS ACTUARL
+y
ERROR 2 .DRATA CHARS SHOULD COMPARRE
., THERE SHOULD BE NO RXERR'S
174672 MOV ®#4, COUNT . % OF TIMES
MOV #RXERR'PARER'26. RO +EXPECTED
175134 MOV #1084, $THP1 ,BAD SYNC CHRR (WRONG PAR TY)
174660 3% MOV #10 . SHIFT & OF SHIFTS
JSR PC.RPOKE SHIFT IN THIS CHRR
TSTB oRXCSR . RXDONE = 17
BMI +4
ERROR L ., RXDONE SHOULD BE SET
MOV odRXDBUF, R1 ,RCTURL DRTA
CMP RO.R1 , COMPRARE EXP VS RACT
BEQ +4
EPROR ,DID THE RESPECTIVE ERROR 4 STOP THE
AUTOMAT IC RESSETING OF RXDONE & ERPROR FLAGS
CHECK THIS

"NOTE THAT THE PARITY BIT SHOULD
,SHOW UP IN THE DRTA
"YE BIT SEVEN FOR SEVEN LEVEL CGDE

DEC COUNT ., & OF SYNC CHRRS
BEQ 5% LFINISHED 7 GET OUT OF TEST

174510 CHP #3, COUNT , % OF SYNC CHARS
BEQ 6% . CHECK FRAME ERROR ?

174500 CHP #2, COUNT . # OF SYNC CHRARS
BEQ 79 ,CHECK FRAME ERROR & BAD PARITY ?
,NOPE THEN IT (COUNT) MUST BE = 1 THEREFORE

174466 MOV #10 ,SHIFTY +®& OF SHIFTS

175036 MOV #54, STHPY ,FRAME & PRRITY ERROR
JSR PC. RPOKE »SHIFT IN THIS (HAR

,NOH DON'T RERD THE RXDBUF TO CKRERTE OVER RUN

175024 MOV #54, STHPY ,FRAME & PRRITY ERROP
MOV $RXERR 'OVRRUN'FRMERR 'PRRER ' 26, RO »EXPECTED
JHP I3 .00 1T AGARIN

176006 ©9% MOV 454, STNHP1 ,BRD STOP BIT FOR FRAME EPROP
MOV SRXERRI/FRMERR'226. RO EXPECTED
JHP 39 .00 1T RGAIN

174770 79 MOV #54, STHP1 ,BAD STOP BIT & PRRITY
MOV ARXERR'FRMERR'PARER 26, RO ,EXPECTED
JHP 3% ,00 1T RGRIN

59
,. THIS TEST PROVES THAT RXERR FREEZES THE "RECEIVEP PESET”

., WHILE IN STRIP SYNC MODE

SEQ 0033




DZDUT-B MACY11 3011046)

DZDUTB M1t

1569
1670
1571
1872
1673
1674
1575
1576
1677
1578
1579
1580
1581
1682
1683
1584
1585
1686
1587
1588
1689
1590
1691
1592
1693
1594
16595
1596
1597
1598
1599
1600
1601
1602
1603
1604
1605
1606
1607
1608
1609
1610
1611
1612
1613
1614
1615
1616
1617
1618
1619
1620
1621
1622
1623
1624

a04s520
004522
004530
004536

00454y

004552
004560
0ouSeN
004572

004600
004606

o046ty
004622
004630
N04636
004644
004652
004656
00MN662
00ue6M
004666
004672
0046?24
004700

004704
004706
oou710

0000Cu
52777
012777
052777

012777

012777
016703
012767
052777

042777
052777

042777
052777
052777
012767
012767
004767
105777
100001
104004
005367
001361
012700
017701

020001
001401
104002

3

21-SEP-?77 09 18 PRGE 36
31-MRY-77 09 49

000400
000000
000400

O6u001

003526
176132
000003
000020

¢20000
020000

020000
020000
000400
000011
000654
012270
175030

174232

000126
175012

175176
17E16M
178162

175154

175142

174232
176112

175120
176112

175104
175076
175054
174256
174626

INITIALIZE THE COMMON TRGS

»»THIS TEST FIRST PROVES THAT AUTOMATIC RESETS OCCUR WHEN

.+ STRIP SYNL IS SET & SYNC CHRRACTERS RRE SENT

, BUT IF AN ERROR SHOULD OCCUR THIS RUTOMATIC RESET

»»1S DISCOMBOBULATED

.. 1E FORCE PARITY ERROR WHILE STRIP SYNC IS SET

»»NOTE NORMALLY THE LOGIC RESETS THE RXDONE 8ERROP FLAGS

,»PROVIDING THAT ONLY GOOD SYNC CHARRCTERS RRE SENT

..BUT, IF AN RXERR OCCURS  RXDONE PLUS RXERR RARE RSSERTED

»»MODE 1SOC (1SYMOD)

.. LENGTH. SIX

,»PRARITY EVEPAR

., CHARACTER EXPECTED 126
,NOTE THAT THE PRRITY BIT SKOULD SHOW
+UP IN THE DRTA € BIT Si¥ FOR
.SIX LEVEL CODE

.- CHRRACTER SENT SYNC CHARRCTER

,»NCTE THIS TEST USES ONLY THE RECEIVER LOGIC

::i!!*ill!lX!tt!!!ttltt!!!!!!i*!l!!!!!tt!lll!X!#tt*xilt*tkt*t!t#t
TSTY SCOPE

BiS $MRESET, 9TXCSR . MASTER RESET
MOV #1SYMOD, oPARCSR . SET THE MODE
BIS #MRESET, 9TXCSR . MASTER RESET
,SET MAINT DRTA., CLK, BRERAK, AMAINTENANCE MODE
MOV #MTDATRICLK'MINT'BREAK. 9TXCSR
,SET MODE .% OF BITS.PRRITY SENSE.8LORD SYNC REG
MOV $1SYMOD'SIXIEVEPRR'126. dPARCSR
MOV RXDBUF.R3 ,SET UP FOR ERROR MSG
MOV #3. COUNT ,% OF TIMES SYNC CHAP WILL BE SENT
BIS $SYNSCH, 9RXCSR ; SET SYNC SERRCH
,POKE CLK TO GET RECEIVER INTO SYNCRO!ZRTION
BIC #CLK, 9TACSR ,POKE CLK DOWN
BIS $CLK, 9TXCSR ,POKE CLK UP
,POKE CLK TO GET LOGIC INTO SYNCRONIZATINN
BIC $CLK, 9TXCSR ,POKE CLr DOWN
BIS $CLK, @TXCSR .POKE CLK UP
BIS $STPSYN, aRXCSR . SET STRIP SYNC
29 MOV £9 ,SHIFT % OF SHIFTS
MOV $654, STHPI ,SYNC CHRR + STARTASTOP+ PRPITY
16 JSR PC,RPOKE ,SHIFT IN THIS CHRRACTER
TSTB ORXCSR .RXDONE = 0 7
BPL +4
ERROR 4 . RXDONE SHOULD NOT BE SET
DEC COUNT .8 OF SYNC CHARS
BNE 2% .60 AGRIN 7
MOV #126.R0 . EXPECTED
MOV ORXDBUF ., R1 . RCTURL
,NOTE THRT THIS IS THE FIRST TIME
. RXDBUF 1S RERD THEPE SHOULC BE
.NO OVER RUN ERROR 4s
CMP RO.R1 , COMPRRE EXPECTED VS RCTURL
BEQ »
ERROR Z ,DATA (HARS SHOULD COMPRRE

. THERE SHOULD BE NO RXERFP'S

SEQ 0034




DZOUT-8 MACY11 30(1046)
D2DUTB M1t

1625
1626
1627
1628
1629
1630
161
1632
1633
1634
1635
1636
1637
1638
1639
1640
1e41
1642
1643
1644
1645
1646
1647
1648
1649
1650
1651
1652
1653
1654
1655
1656
1657
1658
1659
1660
1661
1662
1663
1064
1665
1666
1667
1668
1669
1670
1671
1672
1673
1674
1675
1676
1677
1678
1679
1680

o0N712
004?720
004?724
004722
004740
004 744
004?750
004752
004 754
004700
004762
00N 76N

004766
00u4r72
004?74
005002
005004
005012

005014
005022
005030

005034
005042
005046
005052
005060
005064
005070
005076
005102
005106

31-MAY-77

012767
012700
012767
012767
004767
105777
100401
104004
017701
020001
001401
104000

005367
001445
022767
CO1423
022767
001426

012767
012767
008767

012767
012700
000167
012767
012700
000167
012767
012200
000167

21-SEP-77 99 18 PRGE 37
INITIRLIZE THE COMMON TRGS

09 49

00000y
110026
000454
000Gt 1
012202
174742

174736

174132
070003
000002

000011
000054
012112

000054
170026
177660
000254
120126
177642
NO0054
130020
177624

174204

174546
17412

174122
176112

174100
1744560

174436

174420

174402

J 3

MOV #4. COUNT % OF TIMES
MOV SRXERR'PARER'26. RO ,EXPECTED
MOV S4B4, §TMPY ,BAD SYNC CHRR (WRONG PARITY)
39 MOV 9 , SHIFT % OF SHIFTS
JSR PC.RPOKE ,SHIFT IN TH!S CHAR
TSTB ORXCSR ,RXDONE = 17
BMI +4
ERROR Y4 , RXDONE SHOULD BE SET
MOV ORXDBUF . R1 .RCTUAL DRTA
CMP RO.R1 , COMPRRE EXP VS A(T
BEQ +4
ERROR ,0ID THE RESPECTIVE ERROR 4y STOP THE
,AUTOMATIC RESSETING OF RXDONE & ERROR FLRGS
, CHECK THIS
,NOTE THAT THE PAR'!TY BIT SHOULD
, SHOW UP IN THE DRTR
. | E BIT SIX FOR SiIX LEVEL CODE
DEC COUNT ., % OF SYNC CHARS
BEQ 5% LFINISHED ? GET QUT OF TEST
CMP 83, COUNT . # OF SYNC CHARS
BEQ 6% ,CHECK FRAME ERROR 7
(MP 82, COUNT . % OF SYNC CHARS
BEQ 7% ;CHECK FRAME ERROR & BAD PARITY 7
.NOPE THEN T (COUNT) MUST BE = 1 THEREFORE
MOV 8$9 ,SHIFT , & OF SHIFTS
MOV $54,9TNMP1 ,FRAME & PARITY ERROR
JSR PC. RPOKE SHIFT IN THIS CHRR
,NOW DON'T RERAD THE RXDBUF TQ CRERTE OVER RUN
MOV #54, $THP1 ,FRAME & PARITY ERROR
MOV SRXERR 'OURRUN'FRMERR'PRRER'26. RO ,EXPECTED
JMP 38 ,D0 IT RGAIN
6% MOV #2654, STMPY ,BAD STOP BIT FOR FRAME ERROR
MOV #RXERR'FRMERR'126.R0O , EXPECTED
JMP 39 .00 1T RGRIN
7S MOV #5654, STHMP 1 ,BAD STOP BIT & PARRITY
MOV #RXERR'FRMERR'PRRER ' 26. RO ,EXPECTED
JMP 398 .00 |IT RAGRIN

59

,. THIS TEST PROVES THAT RXERR FREEZES THE "RECEIVER RESET'
. HHILE IN STRIP SYNC MODE
,»THIS TEST FIRST PROVES THAT RAUTOMATIC RESETS OCCUR WHEN

.. STRIP SYNC IS

SET & SYNC CHARACTERS ARE SENT

y BUT IF AN ERROR SHOULD OCCUR THIS AUTOMATIC RESET
.. 1S DISCOMBOBULATED

., 1E FORCE PARITY ERROR WHILE STRIP SYNC IS SET

.. NOTE NORMALLY THE LOGIC RESETS THE RXDONE &ERROR FLRAGS
., PROVIDING THRT ONLY GOOD SYNC CHRRACTERS RRE SENT

..BUT, IF AN RXERR OCCURS RXDONE PLUS RXERR RRE RSSERTED
,»MODE 1SOC «ISYNOD)

,LENGTH FIVE

..PARITY EVEPAR

. CHRARACTER EXPECTED 66

.» CHRRACTER SENT

,NOTE THAT THE PARRITY B'T SHOULD SHOHW
,UP IN THE DATA 'E BIT FIVE FOR
»FIVE LEVEL CODE

SYNC CHARACTER

SEQ 0035




DZDUT-8 MRCY11 30(1046)
DZOUTB M1t

1681
1682
1683
1684
1685
1686
1687
1688
1689
1690
1691
1692
1693
1694
1695
1696
1697
1698
1699
1700
1701
1702
1703
1704
1705
1706
1707
1708
1709
1710
1711
1712
1713
1714
1715
1716
1717
1718
1719
1720
1721
1722
1723
1724
1725
1726
1727
1728
1729
1730
1731
1732
1733
1734
1735
1736

005106
005110
005116
005124

005132

005140
005146
005152
005160

005166
005174

005202
005210
005216
005224
005232
005240
005244
005250
005252
005254
005260
005262
005266

005272
005274
005276

005300
005306
005312
005320
005326
005332
005336
005340
005342
005346
005350
005352

31-MAY-77

000004
052777
012777
052777

012777

012777
016703
012767
052777

042777
052777

Q42777
052777
052777
012767
012767
004767
105777
100001
104004
005367
001361
012700
017701

020001
001401
104002

012767
012700
012767
012767
004767
105777
100401
104004
017701
020001
001401
104000

21-StP-77 09

09 49

000400
000000
000400

(0111

001466
174544
000003
000020

020000
020000

020000
020000
000400
000010
00035y
011702
174442

173644

000066
174424

00000y
110026
000254
000010
011614
174354

174350

174610
174576
1724527y

174566

174554

173744
174524

174532
174524

174516
174510
178466
173670
174240

173616

174160
173574

K 3
18 PRGE 218
INITIRL1Z2E THE COMMON TRGS

+oNOTE  THIS TEST USES ONLY THE RECEIVER LOGIC

;é#!!!t!g!!X;!!t!t!!!!!t!!!!!!XX!!XX!X!!!!!X!!!*!X!!#!tt!tt!tt!!!
5 COP

8IS #MRESET, 9TXCSR ,MASTER RESET

MOV #1SYMOD, PARCSR . SET THE MODE

BIS ¥MRESET, 9TXCSR /MASTER RESET

»SET MRINT DATR. CLK,BRERK, BMAINTENANCE MODE
MOV KMTORTA!CLK'MINT!BRERK, aTXCSR

,SET MODE . % OF BITS,PARITY SENSE,8LORD SYNC REG
MOV % 1SYMOD'FIVE'EVEPAR!66, OPARCSR
MOV RXDBUF,R3 ;SET UP FOR ERROR MSG
MOV #3, COUNT ;% OF TIMES SYNC CHRR W!LL BE SENT
BIS RSYNSCH, RXCSR , SET SYNC SEARCH
,POKE CLK TO GET RECEIVER INTO SYNCROIZATION

BIC $CLK, 9TXCSR ,POKE CLK DOHWN
BIS $CLK, 9TXCSR .POKE CLK UP
,POKE CLK TO GET LOGIC INTO SYNCRONIZRARTION
B.C $CLK, 9TXCSR .POKE CLK DOWN
BiIS BCLK. 9TXCSR .POKE CLK UP
BIS $STPSYN. ORXCSR . SET STRIP SYNC
2% MOV $8 . SHIFT ;% OF SHIFTS
MOV #3564, 9TMP1 ,SYNC CHRR + STARTASTOP+ PARITY
1% JSR PC. RPOKE ,SHIFT IN THIS 7“HARACTER
TSTB oRXCSR ,RXDONE = 0 7
BFL +4
ERROR 4 ; RXDONE SHOULD NOT BE ST
DEC COUNT . % OF SYNC CHARS
BNE 2% ;60 RGRIN ?
MOV $66.R0 ,EXPECTED
MOV oRXDBUF . R1 . ACTUAL
,NOTE THRAT THIS IS THE FIRST TINMt
..RXDBUF IS RERD THERE SHOULD BE
»NO OVER RUN ERROR 4S
CMP RO.R1 . COMPRRE EXPECTED VS RCTURL
BEQ +4
ERROR 2 ,DRTA CHARS SHOULD COMPARRE
, THERE SHOULD BE NO RXERR'S
HOV #4. COUNT ., % OF TIMES
MOV SRXERR'PARER'26. RO ;EXPECTED
MOV #254, $THP1 ,BAD SYNC CHRAR (WRONG PRRITY)
39 MOV $8 . SHIFT 8% OF SHIFTS
JSR PC. RPOKE ,SHIFT IN THIS CHRR
TST8 ORXCSR .RXDONE = 17
BMI +4
ERROR Y ., RXDONE SHOULD BE SET
MOV ORXDBUF ., R1 ,RCTUAL CRTA
CHP P0.R1 , COMPRRE EXP VS WH(CT
BEQ +H4
ERROR ,DID THE RESPECTIVE ERROR 4 STOP THE
,AUTOMATIC RESSETING OF RXDONE & EPPOR FLRGS

, CHECK THIS
,NOTE THAT THE PARITY BIT SHOULD
, SHOW UP IN THE DRTA

SEQ 003e




DZOUT-8 MRCY11 30(1046)

LZobuUTe

1737
1738
1739
1740
1741
1742
1743
1744
1745
1746
1747
1748
1749
1750
1751
1752
1753
1754
17565
1756
1757
1758
1759
1760
1761
1762
1763
1764
1765
1766
1767
1768
1769
1770
1771
1772
1773
1774%
1775
1776
1277
1778
1779
1780
1781
1782
1783
1784
1785
1786
1787
1788
1789
1790
1791
1792

M

005354
005360
005362
005370
005372
005400

005402
005410
005416

005422
005420
0054 3y
005440
005446
005452
005456
005464
005470
005474

005474
005476
005504
005512

005520

005526
005534
005540
005546
005554

005562
005570
005576
005600
005604
005606

L 3

21-SEP-77 09 18 PRGE 39

31-MAY-77 09 49

005367
001445
022767
001423
022767
001426

012767
012767
004767

012767
012700
000167
012767
012700
000167
012767
012700
C00167

000004
052777
012277
052777

012777

012777
016703
112777
012767
012767

052777
o4z?277
005000
006067
103002
052700

173544
000003
000002

000010
000054
011524

000054
170026
177660
000154
120066
177642
000054
130026
177624

0ooN00
030000
000400

004020

030026
174166
000021
000021
000005

020000
020000

123674
602000

173534

173824

173512
174062

174050

174032

174014

174222
174210
174206

174200

174166

174164
173724
173340

174136
174120

INITIRLIZE THE COMMON TRGS

+1E BIT FIVE FOR FIVE LEVEL CODE
DEC COUNT % OF SYNC CHARS

BEQ 5% ;FINISHED ? GET OUT OF TEST

CMP #3. COUNT . # OF SYNC (HRRS

BEQ 69 ; CHECK FRAME ERROR ?

CHMP #2, COUNT .8 OF SYNC CHRRS

BEQ 79 ,CHECK FRAME ERROR & BAD PARITY ?
»NOPE THEN IT (COUNT) MUST BE = 1 THEREFORE

MOV #8 . SHIFT ;% OF SHIFTS

;FRAME & PARITY ERROK
;SHIFT IN THIS CHRR

MoV #54, STHP1
JSR PC,RPOKE

+NOW DON'T RERD THE RXDBUF TO CRERTE OVER RUN

69

’9

5%

MOV K54, STHP1 ,FRAME & PARRITY ERROR

MoV KRXERR'OVRRUN'FRMERR'PARER !26, RO . EXPECTED
JMP 39 .00 |IT AGAIN

MOVv %154, STHP ,BRD STOP BIT FOR FRAME ERROR
MOV BRXERR'FRMERR'66. RO »EXPECTED

JHP 3% .00 IT AGRIN

MoV #54, STHP1 ,BRD STOP BIT & PARITY

MOV KRXERR'FRMERR'PRRER' 26, RO +EXPECTED

JHP 39 ,D0 IT RGAIN

;»THIS TEST VERIFYS WORD LENGTH SELECT OF

,, THE TRANSMITTER SECTION. IT USES THE DNR FLRG
,,AND BIT WINDOW TO DETERMINE THART IT WARS SELECTED
, CORRECTLY

,,NCTE. DNR COMES UP ON THE FIRST RISING BIT

;;EDGE OF THE NEXT CHRRACTER IF NO NEW CHRRRACTER IS
.. LORDED INTO TXDBUF

; ;MODE- SYNINT

,;PRRITY. NO PARITY

» . LENGTH: F IVE

PR 0 50200 P 0000000000000 00000 000022000003 2220022000202028"

TSTe

SCOPE

BIS S$MRESET, 9TXCSR ,MRSTER RESET
HOV RSYNINT, 9PRRCSR . SET THE MODE
BIS $MRESET, 9TXCSR ,MASTER RESET

,SET MAINTENANCE NMODE & SEND

19

+NOTE BIT WINDOWSCLK ARE CLERRED (MTDRTA=0"

MOV KMINT!SEND, TXCSR
.SET MODE.#® OF BITS.PARITY SENSE.8 LORD SYNC REG
MOV SSYNINT!'FIVE'NOPAR ' 26, dPRARCSR
nov TXCSR,R3 »,SET UP FOR ERROR MSG
MOVB #21, dTXDBUF » LORD CHAR
MOV #21,9THPY +SHIFTED CHAR
MOV %5, SHIFT . % OF SHIFTS
,POKE CLK TO GET INTO SYNCRONIZATION
BIS #CLK, 9TXCSR .POKE CLK UP
BiIC #CLK, 9TXCSR ,POKE CLK DCHN
CLR RO
ROR STHP1 L FORCE CARRY
BC(C 2%

BIS #BITW. RO LEQUIV OF BIT WINDOW

Sea 0037




DZ0UT-8 MACY11 30(1046)

pZouTe M1

1793
1794
1795
1796
1797
1798
1739
1500
1801
1802
1803
1804
1805
1806
1807
1808
1809
1810
1811
1812
1813
1814
1815
1816
1817
1818
1819
1820
1821
1822
1823
1824
1825
1826
1827
1828
1829
1830
1831
1812
1833
1834
1835
1836
1837
1838
1839
1840
1841
1842
1843
1844
1845
1846
1847
1848

005612
005612
005620
005626
005632
005636
005640
005642

005644
005650

005652
005660
Co566M
005670
005674
005676
005700

006702
005706
005710

005712
005714
005722
005730

005736

00574y
005752
005756
005764
008772

006000

M3

21-SEP-77 09 18 PRGE 40

31-MAY-77 09 49

052777
0427277
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

005777
100001
104004

000004
052777
0127277
052777

012777

012777
016703
112777
012767
012767

052777

020000
020000
174074
075777

173252

020000
100000
174036
Q777727

174020

000400
030000
000400

004020

032026
173750
000021
000021
000006

020000

174046

174004
1723772
173770

173762

173750
173746
173506
173122

173220

INITIRLIZE THE COMMON TRGS

29

BIS #CLK, 9TXCSR ;POKE CLK UP
BIC #CLK, 9TXCSR ;POKE CLK DOWN
MOV oTXCSR. R1 ; ACTUAL
BIC #075777.R1 ;SRVE BITW & DNR
ggz RO.R1  ;COMPARE EXP VS ACT
Rl
ERROR 3 ;BIT WINDOW DID NOT MARTCH ARCTUAL DARTA

;BIT, ... ALSO CHECK DNRA
DEC SHIFT ;% OF SHIFTS

BNE 1S ;00 IT RGRIN ?
+NOW POKE CLK TO SEE DNR
BIS $CLK, oTXCSR ,POKE CLK
MOV $100000. RO JEXPECTED
MOV OTXCSR. R ; RCTUARL
B1C $777277.R1 .SRVE DNR ONLY
ggP RO.R1 . COMPRARE EXPECTED VS ACTUAL
Q +4
ERROR 3 .DNR SHOULD BE SET

,,!l!!!!;;!!t!!!!!!!!!!!t!!!!t!!l*!l!*!!xxtl!*tl!t*t!i!t!tx!!tttt
TST?

,\F DNR DID NOT SET , CHECK WORD LENGTH
, SELECT LOGIC OF THE TRRNSMITTER

TST JTXCSR . DNA 7
8PL +4
ERROR 4 ;ONR SHOULD NOT BE SET

» T SHOULD HAVE BEEN CLERRED FROM
. PREVIOUS RERD

,»THIS TEST VERIFYS WORD LENGTH SELECT OF

, THE TRANSMITTER SECTION., IT USES THE DNR FLRG
,,AND BIT WINDOW TO DETERMINE THAT IT WAS SELECTED
,» CORRECTLY

,.NOTE DNR COMES UP ON THE FIRST RISING BIT

,,EDGE OF THE NEXT CHRRACTER IF NO NEW CHRRACTER IS
,.LORDED INTO TXDBUF

» »MODE- SYNINT

;PARITY:- NO PARITY

. LENGTH. SIX

SCOPE
BIS S#MRESET, TXCSR . MASTER RESET
HOV #SYNINT, QPARCSR ,SET THE MODE

BIS #MRESET, JTXCSR MASTER RESET

,SET MRINTENANCE MODE & SEND

,NOTE. BIT WINDOWACLK RARE CLEARRED (HTDARTA=0)
HOV 1 INT!SEND, TXCSR

,SET MODE.# OF BITS,.PARITY SENSE.& LOAD SYNC REG

MOV SSYNINT!SIX'NOPAR!26. dPRAKC SR

MOV TXCSR.R3 ;SET UP FOR ERROR MSG
MOVB %21, dTXDBUF »LORD CHAR

MOV $21.9TnP1 »SHIFTED CHAR

MOV #6.SHIFT » & OF SHIFTS

;POKE CLK TO GET INTO SYNCRONiZRTION

BIS $CLK, 9TXCSR »POKE CLK UP

Seq@ 0038




DZDUT-8 MACY11 30(1046)

bLZouTs

1849
1850
1851
1852
1853
185N
1855
1856
1857
1858
1859
1860
1861
1862
1863
1864
1865
1866
1867
1868
1869
1870
1871
1872
1873
1874
1875
1876
1877
1878
1879
1880
1881
1882
1883
1884
1885
1886
1887
1888
1889
1890
1891
1892
1893
1894
1895
1896
1897
1898
1899
1900
1901
1902
1903
1904

Hit

006006
006014
006016
006022
006024
006030
006030
006036
006044
006050
006054
006056
006060

006062
006066

006070
006076
006102
006106
006112
006114
006116

006120
006124
006126

000130
006132
006140
006146

006154

006162
006170

Q427277
005000
006067
103002
052700

052777
Q42777
017701
042701
020001
001401
104003

005367
001352

0527?27
012700
017701
042701
020001
001401

104003

005777
100001
104004

000004
052777
012777
052777

012777

0122727
016703

N 3

21-SEP-77 09 18 PAGE 41
J1-MRY-77 09 &9

020000
173456
002000
020000
020000

173656
Q75777

173034

020000
100000
173620
Q77777

173002

000400
030000
000400

oox020

034026
173532

173712

173670
173662

173630

173566
173554
1735652

173544

173532

INITIALIZ2E THE COMMON TAGS

BiIC RCLK, 9TXCSR ;POKE CLK DOKWN
16 CLR RO -
ROR STHPY +FORCE CRRRY
BCC 29
25 BiIS #B81TKH. RO ;EQUIV OF BIT WINDOKW
8IS RCLK, 9TXCSR ;POKE CLK UP
BIC #CLK, dTXCSR ;POKE CLK DOWN
MOV oTX(CSR, R1 ;ACTUAL
BiC $#075777.R1 ;SAVE BITH & DNR
CMP RO. R1 ; COMPRRE EXP VS ACT
8EQ .4
ERROR 3 ;BIT WINDOW DID NOT MATCH RCTUAL DARTR
;BIT,.. .RALSO CHECK DNR
DEC SHIFT .% OF SHIFTS
BNE 18 ;00 IT AGRIN 7
.NOW POKE CLK TO SEE DNR
BIS $CLK, 9TXCSR ,POKE CLK
MOV #$100000. RO ,EXPECTED
MOV ATXCSR, R1 , ACTUARL
BiC $727277.R1 . SAVE DNR ONLY
CMP RO, R1 ., COMPRRE EXPECTED VS ACTUAL
BEQ +4
ERROR 3 ,DNR SHOULD BE SET

»\F DNR DID NOT SET ,(HECK WORD LENGTH
»SELECT LOGIC OF THE TRANSMITTER

TST dTXCSR .DNR 7
BPL +y
ERROR N ,DNR SHOULD NOT BE SET

»IT SHOULD HRVE BEEN CLERRED FROM
» PREVIOUS RERD

»»THIS TEST VERIFYS HORD LENGTH SELECT OF |

.~ THE TRANSMITTER SECTION, IT USES THE DNR FLRG
»+AND B1IT WINCOW TO DETERMINE THRT IT WARS SELECTED
»» CORRECTLY

,»NOTE DNA COMES UP ON THE FIRST RISING BIT

.. EDGE OF THE NEXT CHRRACTER IF NO NEW CHARACTER 1S
;. LORDED INTO TXDBUF

; »MODE. SYNINT

,+PRARITY NO PRRITY

. LENGTH SEVEN

PP P 200200000008 000 8000000020000 0032000200320 0030007000323 000020048F
TST10  SCOPE

BIS #MRESET. 9TXCSR ., MASTER RESET

MOV #SYNINT, QPARCSR , SET THE MODE

BIS SMRESET, 9TXCSR , MASTER RESET

»SET MAINTENANCE MODE & SEND
,NOTE BIT WINDOHACLK RARE CLERRED (MTDATAR=0)

MOV #MINT!SEND, oTXCSR
,SET MODE. % OF BITS,PRARITY SENSE.3 LORD SYNC REG
MOV #SYNINT!SEVEN!'NOPRR'26 QPRRCSR
Hov TXCSR. R3 ,SET UP FOR ERRCR MSG

SEQ 0039




—e A

bzoute

1905
19006
1907
1908
1909
1910
1911
1912
1913
1914
1915
1916
1917
1918
1919
1920
1921
1922
1923
1924
1925
1926
1927
1928
1929
1320
1931
1932
1933
1934
1935
1936
1937
1938
1939
1940
1941
1942
1943
1944
1945
1946
1947
1948
1949
1950
1951
1952
1953
1954
1955
1956
1957
1958
1959
1960

Mt

006174
006202
006210

006216
006224
006232
006234
006240
006242
006246
006246
006254
006262
006266
006272
006274
006276

006300
006304

006306
006314
006320
006324
006330
006332
006334

006336
006342
006344

006346
006350
006356
006364

DZDUT-B MACY11 30(1046)

112777
012767
012767

062777
Q427727
005000
006067
103002
052700

052777
042777
017701
042701

020001

001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

0087?27
100001
104004

000004
052777
012?277
052777

B

21-SEP-?77 09 18 PRGE 42
INITIARLIZE THE COMMON TRGS

31-MRY-77 09.49

000021
000021
000007

020000
020000

173240
002009

020000
020000
173440
0757277

172616

020000
100000
1723402
Q277727

173364

000400
030000
000400

173530
173270
172704

173502
173474

173452
17344y

172412

173350
173336
173334

MOvB %21, 9TXDBUF -LORD CHAR
MOV %21, $THP1 ;SHIFTED CHAR
MOV 87, SHIFT .8 OF SHIFTS

»POKE CLK TO GET INTO SYNCRONIZATION

BIS #CLK, 9TXCSR ,POKE CLK UP
BiC #CLK, 9TXCSR ,POKE CLK DOWN
1§ CLR RO
ROR $THP1 FORCE CARRY
BCC 2%
2 BiS $81TKH. RO ,EQUIV OF BIT WINDOK
BIS $CLK, 9TXCSR ,POKE CLK UP
BIC #CLK, 9TXCSR ,POKE CLK DOWN
MOV oTXCSR, R1 . RCTUARL
BIC #076777.R? .SAVE BITH & DNR
CMpP RO.R1 , COMPRRE EXP VS RACT
BEQ +y
ERROR 3 ,BIT HINDOW DID NOT MATCH RCTUAL DATA
.BIT, RLSO CHECK DNR
DEC SHIFT . % OF SHIFTS
BNE 19 ;D0 IT AGRIN ?
.NOW POKE CLK TQO SEE DNR
BIS #CLK, 9TXCSR ,POKE (LK
MOV #100000. RO LEXPECTED
MOV @TXCSR. R1 »RACTUARL
BIC 8777277, R4 » SAVE DNR ONLY
CMP RO.R1 ,COMPRRE EXPECTED VS RCTUAL
BEG +4
ERROR 3 .DNA SHOULD BE SET
,|F DNR DID NOT SET ., CHECK WORD LENGTH
,SELECT LOGIC OF THE TRANSMITTER
TST @TXCSR .DNR 7
BPL +4
ERROR Y4 ,DNA SHOULD NOT BE SET
. 1T SHOULD HRVE BEEN CLERRED FROM
,PREVIOUS RERD
., THIS TEST VERIFYS WORD LENGTH SELECT OF
., THE TRANSMITTER SECTION, IT USES THE DNR FLARG
,,AND B!T WINDOW TO DETERMINE THAT IT WAS SELECTED
,, CORRECTLY
,.NOTE DONR COMES UP ON THE FIRST RISING BIT
,,EDGE OF THE NEXT CHARACTER IF NO NEW CHARRCTER 1S
,.LORDED INTO TXDBUF
.., MODE SYNINT
,.PARITY NO PRRITY
, - LENGTH £ IGHT
PR 0388800200083 800 830033808080 300030¢2 72000203 2020002000008000080%]
TST1Y SCOPE
BIS SMRESET., 9TXCSR . MRSTER RESET
MOV BSYNINT, aPRARCSR . SET THE MODE
BIS SMRESET, 9TXCSR . MASTER RESET

,SET MAINTENANCE MODE & SEND

,NOTE BIT WINDOWRCLK ARE CLERRED (MTDRTR=0)

SEQ 0040




C 4
DZOUT-8 MRCY11 30(1046) 21-SEP-77 09 18 PRGE 43

DZOUT8 M11 31-MRY-77 09 49 INITIRLIZ2E THE COMMON TRGS SEQ 0041
}32% 006372 012777 004020 173326 MoV SMINT!SEND, 9TXCSR
1963 »SET MODE.® OF BITS,PARITY SENSE,8 LORD SYNC REG
1964 006800 012777 036026 173314 MoV HSYNINT!EIGHT !NOPAR ' 26, dPRRCSR
1965 006406 016703 173314 MOV TXCSR,R3 ;SET UP FOR ERROR MSG
1966 006412 112777 000021 173312 MOVB #21, TXDBUF - LORD CHAR
1967 006420 012767 000021 173052 MOV #21,9TMP1 ;SHIFTED CHAR
1968 006426 012767 000010 172466 MOV %8 ,SHIFT ;% OF SHIFTS
1969 ,POKE CLK TO GET INTO SYNCRONIZRTION
1970 00eM434 052777 020007 173264 BiS #CLK, 9TXCSR .POKE CLK UP
1971 006MM2 0M2777 020000 173256 BiIC KCLK, 9TXCSR »POKE CLK DOWN
1972 006450 005000 1% (LR RO
1973 006452 O00e067 173022 ROR $STMP1  ,FORCE CRRRY
1974 006456 103002 8CC 2%
1975 00e460 052700 002000 BiS #81TW. RO LEQUIY OF BIT WINDOKW
1976 0OO0646M 29
1977 0064eM 052777 020000 173234 BIS RCLK, 9TXCSR ,POKE CLK UP
1978 006472 042777 020000 173226 BIC #CLK, 9TXCSR »POKE CLK DOWN
1979 006500 017701 173222 MoV OTXCSR, R1 - ACTUARL
1980 006504 Q42701 075777 BIC #075777. R\ .SAVE BITW & DNA
1981 006510 020001 CHP RO.R1 . COMPRRE EXP VS ACTY
1982 006512 001401 BEQ +4
1983 006514 104003 ERROR 3 ,BIT WINDOW DID NOT MATCH RCTURL DRTAR
1984 LBIT, ALSO CHECK DNAR
1985 006516 005367 172400 DEC SHIFT  .#% OF SHIFTS
1986 006522 001352 BNL 18 .D0 IT AGRIN 7
1987 ,NOHW POKE CLK TO SEE ONR
1988 006524 052777 020000 173174 B!S #CLK, 9TXCSR . POKE CLK
1989 006532 012700 100000 MOV #100000. RO .EXPECTED
1990 006536 017701 173164 MCy oTXCSR, R1 . RCTURL
1991 006542 042701 077777 B!IC 8777727, R1 . SAVE DNR ONLY
1992 006546 020001 CMP RO.R1 . COMPRRE EXPECTED VS RCTURL
1993 006550 001401 8EqQ L
1994 006552 104003 ERROR 3 .DNR SHOULD BE SET
1995 . \F DNR DID NOT SET ,CHECK WORD LENGTH
1996 ,SELECT LOGIC OF THE TRANSMITTER
1997 006554 005777 173146 TST dTXCSR .DNR ?
1998 006560 100001 BPL +4
1999 006562 104004 ERROR & »DONR SHOULD NOT BE SET
2000 . 1T SHOULD HAVE BEEN CLERRED FRON
2001 .PREVIOUS RERD
2002
2003 ,»THIS TEST VERIFYS WHORD LENGTH SELECT OF
2004 ., THE TRANSHITTER SECTICON. IT USES THE DNA FLRG
2005 .,AND BIT WINDOW TO DETERMINE THAT T WRS SELECTED
2006 . CORRECTLY
2007 ,NOTE DnNR COMES UP ON THE FIRST RISING BIT
2008 .. EDGE OF THE NEXT (HRRACTER 1F NO NEW CHARACTER IS
2009 .. LORDED INTQ TXDBUF
2010 . »MODE SYNEXT
2011 ,.PARITY NO PRRITY
2012 ., LENGTH F IVE
2013 .o
2014 A P 3¢S P 0208032000220 0 00000 Rttt oottt Rt
2015 006564 000004 TST12  SCOPE

2016 006566 052777 000400 173132 BIS #MRESET. 9TX{SR  MRSTER PESET
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DZOUTB H11

2017
2018
2019
2020
2021
2022
2023
2024
2025
2026
2027
2028
2029
2030
2031
2032
2033
2034
2035
2036
2037
2038
2039
2040
2041
2042
2043
2044
2045
2046
2047
2048
2049
2050
2051
2052
2053
2054
2055
2056
2057
2058
2059
2060
2061
2062
2063
2064
2065
2066
2067
2068
2069
2070
2071
2072

006574
006602

006610

006616
006624
006630
006636
006644

006652
006660
006666
006670
006674
006676
006702
006702
006710
006716
006722
006726
006730
006732

0067 34
006740

006742
006750
006754
006760
006764
006766
006770

006772
006776
007000

21-SEP-77 09 18 PRAGE 4u

31-MAY-77 09 49

012?77
052777

012777

012777
016703
1127277
012767
012767

052777
Qw2777
005000
006067
103002
052700

052777
042777
017701
g42701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

005777
1000301
10400y

020000
000400

004020

020026
173076
000021
000021
000005

020000
020000

172604
002000
020000
020000

173004
Q75777

172162

020000
100000
172746
0?2?2277

172730

—
~N N
[PV PV
—
- )
oo

173110

173076
173074
17263y
172250

173046
173040

172016
1722010

172756

D &

INITIALIZE THE COMMON TRGS

MOV
BIS

#SYNEXT, 9PARCSR , SET THE MOOE
$MRESET, 9TXCSR ,MRSTER RESET

. SET MAINTENRNCE MODE L SEND
+NOTE BIT WINDOWRCLK RRE CLERRED (MTDRTR=0)

MOV $MINTISEND, o TXCSR
,SET MCDE. % OF BITS,PARITY SENSE.8 LORD SYNC REG
MOV SSYNEXT!'F IVE 'NOPRR ' 26. dPRR(SR
MOV TXCSR,R3 ,SET UP FOR ERROR MSEC
MOVSB £21. 9TXDBUF ,LOAD CHAR
MOV $21.9THPH ;SHIFTED CHAR
MOV #$5.SHIFT % OF SHIFTS
,POKE CLK TO GET INTO SYNCRONIZARTION
BIS $CLK, 9TXCSR ,POKE CLK UP
BIC $CLK., 9TXCSR ,POKE CLK DOWN
19 CLR RO
ROR STMP1 ,FORCE CRRRY
BCC 2%
BIS $B81TW. RO ;EQUIV OF BIT WINDOUW
2%
BIS #CLK, 9TXCSR ,POKE CLK UP
BIC $CLK, 9TXCSR ,POKE CLK DOWN
MOV OTXCSR, R1 ,ACTUAL
BiIC $0767277.R1 ,SRAVE BITW & DNR
CMP RO.R1 ,COMPARE EXP VS A(CT
BEQ +4
EFROR 3 ,BIT WINDOW DID NOT MATCH AT THAL DATA
,BIT, ALSO CHECK DNAR
DEC SHIFT .8 OF SHIFTS
BNE 1§ .00 1T RAGRIN ?
.HOW PORE CLK TO SEE ONR
BIS RCLK, @TXCSR ,POKE CLK
MOV #100000. RO ,EXPECTED
MOV OTXCSR. R1 . RCTUARL
BiIC $77777.R1 . SAVE DNA ONLY
CMP RO.R1 , COMPARE EXPECTED VS RCTUARL
BEQ +4
ERROR R .DNAR SHOULD BE SET
;IF DNR DID NOT SET ., CHECK WORD LENGTH
. SELECT LOGIC OF THE TRANSMITTER
TST aTXCSR ,DNR 7
BPL Ny
EPROR 4 ,DNAR SHOULD NOT BE SET

. \T SHOULD HRAVE BEEN CLERRED FROM
. PREVIOUS RERD

,» THIS TEST VERIFYS HORD LENGTH SELECT OF

,-THE TRANSMITTER SECTION, IT USES THE DNR FLRG
,»AND BIT WINDOW TO DETERMINE THHMT IT WRS SELECTED
. CORRECTLY

.. NOTE DNB COMES UP ON THE FIRST RISING BIT

,,EDGE OF THE NEXT CHARACTER IF NO NEW CHRAPACTER 1S
., LORDED INTO TXDBUF

,»MODE SYNEXT

,»PRARITY NO PRRITY

SEQ 0042
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LZOUTB M1t 31-MAY-?7 09 49 INITIRLIZE THE COMMON TARGS SEQ 0043
2073 ;. LENGTH SiX
2074 ‘s
2075 PRS0 00300023 00 3300320000000 2000000090900233202000 0000000023200 ¢8 004
2076 007002 000004 TST13  SCOPE
2077 007004 052777 0008400 172714 BIS #MRESET, 9TXCSR ,MRASTER RESET
2078 007012 0127?77 020000 172702 MOV RSYNEXT., 9PARCSR ,SET THE MODE
%ggg 007020 052777 000400 172700 8IS RMRESET, @TXCSR ,MRSTER RESET
2081 »,SET MRINTENANCE MODE & SEND
2082 +NOTE. BIT WINDOWRCLK ARE CLERRED (MTDATR=0)
%gg3 007026 012777 004020 172672 Mov #MINT!SEND, 9TXCSR
Y
2085 ,SET MODE. % OF BITS.PARITY SENSE.& LORD SYNC REG
2086 007034 0127?77 022026 172660 MOV RSYNEXT!SIX!NOPRR'26, dPRARCSR
2087 007042 016703 172660 MOV TXCSR,R3 ;SET UP FOR ERROR MSG
2088 007046 112777 000021 172656 MOVB %21, 9TXDBUF . LORD CHRR
2089 007054 012?67 000021 172416 MOV %21, $THP1 ,SHIFTED (HAR
2090 007062 0127?67 000006 172032 MOV #6,SHIFT % OF SHIFTS
2091 ,POKE CLK TO GET INTO SYNCRONIZRTION
2092 007070 052?77 020000 172630 BIS #CLK, 9TXCSR .POKE (LK UP
2093 007076 042777 020000 172622 BiC #CLK, 9TXCSR ,POKE CLK DOUWN
2094 007104 005000 19 (LR RO
2095 007106 006067 172366 ROR $THP1 . FORCE CRARRY
209¢ 007112 103002 BCC 29
2097 007114 052700 002000 BIS #BI1TH.RO +EQUIV OF BIT WINDOW
2098 007120 )
2099 007120 052777 020u00 172600 BIS #CLK, 9TXCSR .POKE CLK UP
2100 007126 0427?77 020000 172572 B!( #CLK, @TXCSR ,POKE CLK DOWN
2101 007134 017701 172566 MOV dTX(SR, R1 »ACTURL
2102 007140 042701 075777 BIC #075777.R1 »,SAVE BITH & DNA
2103 007144 02C001 CMP RO.R1  COMPARE EXP VS ACT
2104 007146 001401 BEQ +4
2105 007150 104003 ERROR 3 ,BIT WINDOW DID NOT MATCH RCTUAL DRATA
2106 LBIT, ALSO CHECK DNR
2107 0071562 005367 171744 DEC SHIFT  ,& OF SHIFTS
2108 007156 001352 BNE 19 .00 IT RGRIN ?
2109 ,NOHW POKE (LK TO SEE DNR
2110 007160 052777 020000 172540 BIS #CLK, 9TXCSR +POKE (LK
2111 007166 012700 100000 MOV #100000. RO +EXPECTED
2112 007172 017701 172530 MOV @TXCSR. R1 »RCTUAL
2113 007176 082701 077777 BiC $2772727.R »SAVE DNR ONLY
2114 007202 020001 CHP RO.R1 . COMPARE EXPECTED VS RCTUAL
2115 007204 001401 BEQ +4
2116 007206 104003 ERROR 3 ,DNR SHOULD BE SET
2117 . |\F ONA DID NOT SET , CHECK WORD LENGTH
2118 , SELECT LOGIC OF THE TRANSHMITTER
2119 007210 005777 172512 TST OTXCSR  ,DNR ?
2120 007214 100001 BPL +Y4
2121 007216 104004 ERROR & »,DNR SHOU'LD NOT BE SET
2122 » 1T SHOULD HRVE BEEN CLEARED FROM
2123 .PREVIOUS RERD
2124
2125 .. THIS TEST VERIFYS WORD LENGTH SELECT OF
2126 ,.THE TRANSHITTER SECTION, IT USES THE DNR FLRG
2127 ,,AND BI!T WINDOW TO OETERMINE THAT 1T WAS SELECTEC

2128 ., CORRECTLY
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LZoUTE M1t

2129
2130
213
2132
2133
2134
2135
2136
21317
2138
2139
2140
2141
2142
2143
2144
2145
2146
2147
2148
2149
2150
2151
2152
2153
2154
2155
2156
2157
2158
2159
2160
2161
2162
2163
2164
2165
2166
2167
2168
2169
2170
2171
2172
2173
2174
2175
2176
2177
2178
2179
2180
2181
2182
2183
2184

007220
007222
007230
007236

007244

007252
007260
007264
007272
007300

007306
007314
007322
00732y
007330
007332
007336
007336
007 344
007352
007356
007362
007364
007366

007370
00737y

007376
007404
007410
00741y
007420
007422
007424

007426
007432
007434

00000M
052777
012777
062777

012777

012777
016?03
112777
012767
0127e7

0627727
Q42777
005000
006067
103002
052700

062777
0427727
017701
042701
020001
001401
104003

0051367
001352

052777
012700
0172701
042701
020001
001401
104003

005777
100001
104004

21-SEP-727 09
31-MAY-?7 09 49

000409
020000
000400

004020

024026
172442
000021
000021
000007

020000
Ccz0000

172150
002000
020000
020000

172350
075777

171526

020000
100000
172312
072777

172274

172476
172464
172462

172454

1724842

172440
172200
171614

172612
1722404

172362
172354

F 4
18 PRGE 46
INITIARLIZ2E THE COMMON TRGS

,»NOTE DNRA COMES UP ON THE FIRST RISING BIT

»»EUGE OF THE NEXT CHARRCTER IF NO NEW CHRRACTER IS
.. LORDED INTO TXDBUF

. »MODE- SYNEXT

,»PRRITY NO PARITY

. » LENGTH SEVEN

PR S 020000000000 80 0030323000030 000000¢002200020000000220230002¢0¢029¢
TST14y  SCOPE

BIS #MRESET. @TX(SR ,MASTER RESET

MOV #SYNEXT, 9PARCSR , SET THE MODE

BIS #MRESET. 9TXCSR ,MRSTER RESET

»SET MARINTENANCE MODE & SEND
.NOTE BIT WINDOWRCLK RRE CLEARRED (MTDARTR=0)

Mov #MINTISEND., 9TXCSR
,SET MODE.# OF BITS.PARITY SENSE.8 LORD SYNC REG
MoV RSYNEXT!'SEVEN'NOPRR '26, ¢PARCSR
MOV TXCSR,R3 »SET UP FOR ERROR MSG
MOVB %21, 9TXDBUF . LORD (HAR
Mov $21,9TnP1 . SHIFTED CHAR
MOV %7, SHIFY . & OF SHIFTS
,POKE CLK TO GET INTO SYNCRONIZATION
BIS #CLK, 9TXCSR ,POKE (LK UP
BiC #CLK, TXCSR .POKE CLK DOWN
19 CLR RO
ROR $THP1  ,FORCE CARRY
BCC 29
B!S #BI1TU, RO LEQUIV OF BT WINDOW
S
BIS #CLK, 9TXCSP .POKE CLK UP
BIC #CLK, 9TXCSR -POKE CLK DOUN
MOy JTXCSR, R1 » ACTUAL
BIC %#075777.R1 »SAVE BITH & DNR
CHP RO. R1 . COMPRARE EXP VS ACT
BEQ +4
ERROR 3 BT WINDOW DID NOT MRTCH RCTURL ORTA
BT, ALSO CHECK DNR
DEC SHIFT . % OF SHIFTS
BNE 19 .00 IT AGRIN ?
.NOH POKE (LK TO SEE DNR
BIS #CLK. 9TXCSR +POFE CLK
MOV #100000. RO LEXPECTED
MOV STXC(SR, R1 »ACTUAL
BIC #7272277.R1 . SARVE DNAR ONLY
CMP RJ.R1 » COMPARE EXPECTED VS RCTUARL
BEQ +4
ERROR 3 »DNA SHOULD BE SET

,IF DNA DID NOT SET , C(HECK WORD LENGTH
»SELECT LOGIC OF THE TRANSMITTER

TST JTYCSR . DNA 7
BPL +Y
ERROR  u ,ONA SHOULD NOT BE SET

1T SHOULD HAVE BEEN CLERRED FRON
.PREVIOUS PERD

SEQ 004y
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DZouTe n11

2185
2186
2187
2188
<189
2190
2191
2192
2193
<194
2195
2196
2197
2198
2199
2200
2201
2202
2203
2204
2205
2206
2207
2208
2209
2210
2211
2212
2213
2214
2215
2216
2217
2218
2219
2220
2221
2222
2223
2224
2225
2226
2227
2228
2229
2230
2231
2232
2233
2234
2235
2236
2237
2238
2239
2240

007436
007440
007446
007454

007462

007470
007476
007502
007510
007516

007524
007532
007540
007542
007546
007550
007554
007554
007562
007570
00757y
007600
007602
007604

007606
007612

007614
007622
007626
007632
007636
007640
0G7642

21-SEP-77

31-MRY-?7 09 u9

000004
052777
012777
052777

C127277

0127727
016203
112777
012767
012767

052777
042777
005000
006067
103002
052700

052777
042777
017701
042201
020001
001401
104093

005367
001352

052777
012700
017701
042701
020001
001401
104003

000400
020000
0J0400

004020

026026
172224
000021
000u21
000010

020000
020000

171732
002000

020000
020000
172132
Q75777

171310

020000
100000
172074
Q77?727

172260
172246
172244

172236

172224
172222
171762
171376

172174
172166

172144
172136

172104

G U
INITIRLIZE THE COMMON TRGS

09 18 PRGE u?

. THIS TEST VERIFYS HORD LENGTH SELECT OF

»» THE TRANSMITTER SECTION, IT USES THE DNR FLRG
»AND BIT WINDOW TO DETERMINE THRT IT WAS SELECTED
»» CORRECTLY

»»NOTE- DNA COMES UP ON THE FIRST RISING BIT

..EDGE OF THE NEXT (HARACTER IF NO NEW CHRRACTER T
.. LORDED INTO TXDBUF

- MODE. SYNEXT

,PRRITY: NO PARITY

. LENGTH: E IGHT

PRS2 0200032303330 00003000200 02222220 00000000 022202222000 00023
TST16-  SCOPE

BIS SMRESET, 9TXCSR ,MASTER RESET

MOV #SYNEXT, 9PARCSR ,SET THE MODE

BIS SMRESET, @TXCSR ,MASTER RESET

.SET MRINTENANCE MODE & SEND
,NOTE BIT WINDOWRCLK ARE CLERRED (MTDATA=0)

MOV #MINT!SEND, 9TXCSR
,SET MODE.# OF BITS.PRARITY SENSE.& LORD SYNC REG
MOV KSYNEXTIEIGHT 'NOPAR ' 26. aPRRCSR
MOV TXCSR.R3 . SET UP FOR ERROR MSG
MOVB £#21, dTXDBUF » LORD CHAR
MOV %#21,9THP1 . SHIFTED CHRR
MoV %8 ,SHIFT % OF SHIFTS
-POSE CLK TO GET INTO SYNCRONIZATION
BIS ®#CLK. 9TXCSR .POKE CLK UP
BiC #CLK, 9TXCSR .POKE CLK DOHN
1% (LR RO
RNR STHP1 .FORCE CRRRY
BCC 2%
BIS #81TH. RO CEQUIYV OF BIT WINDOHK
29
B1S RCLK, 9TXCSR .POKE CLK UP
BiIC #CLK, 9TXCSR »POKE CLK DOUWN
MOV OTXCSR. R1 » RCTURL
BIC #075777.R1 »SAVE BITH & DNR
CHP RO, R1 . COMPARE EXP VS ACT
BEG +Y
ERROR 3 ,B1T WINDOH DID NOT MARTCH ACTURL DATA
LBIT, ALSO CHECK DNR
DEC SHIFT .8 OF SHIFTS
BNE 19 .00 IT RGRIN ?
.NOW POKE CLK TQO SEE DNR
BIS #CLK, 9TXCSR ,POKE (LK
MOV $100000, RO LEXPECTEC
MoV JTXCSR, R1 » RCTURL
BtC %72722727.R1 »SAVE DNR ONLY
CHP RO.R1 »COMPARE EXPECTED vS RCTURL
BEQ +4
ERROR 3 .DNA SHOULD BE SET

;1F DNR DID NOT SET (CHECK WOPD LENGTH
SELECT LOGIC OF THE TRANSMITTEFP

SEQ 0045
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DZ20UTE M1t

2241 007644 005777
2242 007650 100001
2243 007652 104004
2244

2245

2246

2247

2248

2249

<250

2251

2252

2253

2254

2255

2256 007654 000004
2257 007656 052777
2258 007e66M 012777
2259 0077z 082777
2260

2261

2262

2263 007700 012777
2264

2265

2266 007706 012777
2267 007714 016703
2268 007720 112777
2269 007726 012767
2270 007734 01Z767
2271

2272 007742 052777
2273 007750 082777
227« 007756 005000
2275 007760 006067
2276 007764 103002
2277 007766 052700
2278 007772

2279 007772 052777
2280 010000 Qu2777
2281 010006 017701
2282 010012 042701
2283 010016 020001
2284 010020 001401
2285 010022 104003
2286

2287 010024 005367
2288 010030 001352
2289

2290 010032 052777
2291 010040 012700
2292 010044 017701
2293 010050 042701
2294 010054 020001
2295 010056 001401
2296 010060 104003

31-MAY-?7 09 49

H Y
21-SEP-77 09 18 PRGE 48
INITIAL12E THE COMMON TRGS

172056 TST OTXCSR .DNR ?
BPL +4
ERROR 4 ,DNR SHOULD NOT BE SET

. VT SHOULD HAVE BEEN CLERREC FFPOM
»PREVIOUS RERD

,. THIS TEST VERIFYS CHARACTER PLUS PARIT ¢ GENERAT ON
»»OF THE TRANSHITTER SECTION

.. 1T ALSO CHECKS DONR TIMING

.- MODE SYNINT

»»LENGTH FIVE PLUS PRRITY

., PRRITY EVEPAR

»» CHARACTER 25

L RREEAKEE R KRR KRR KRR KRR SRR XX R KRN KA X KR E AN NS R A

TSTie  SCOPt

000400 172042 BIS RMRESET, 9TXCSR ,MASTER RESET
030000 172030 MoV RSYNINT, QPRRCSR , SET THE MODE
000400 172026 BiS KMRESET. 9TXCSR . MASTER RESET

.SET MAINTENRNCE MODE & SEND
,NOTE BIT WINDOWRCLK RRE CLERRED (MTDATR=0)
oo4020 17202 MoV #MINT!SEND, dTXCSR

.SET MODE. % OF BITS.PRRITY SENSE,& LORD SYNC REG

031426 172006 MOV SSYNINT'FIVE'EVEPRR ' 26, dPARCSR

172J06 MOy TXCSR,R3 +SET UP FOR ERRGR MSG
000025 172004 MOVB %25, 9TXDBUF .LORD DATR C(HAR
000065 171544 MOV %65, 9THP1 . TO BE SHIFTED (HRAP
000006 171160 MOV %6, SHIFT . & OF SHIFTS

,POKE CLK TO GET INTO SYNCRONIZRTION

020000 1/175¢ BIS #CLK, 9TXCSP ,POKE CLK UP
020000 17175C BiC RCLK, dTXCSR .POKE CLK DOUN
19 (LR RO
171514 ROR STHMP1 .FORCE CRRRY
BCC 2% .BR IF CRRRY (LR
002000 BIS #BITH. RO -EQUIV OF BITH
29
020000 171726 BIS #CLK, 9TXCSR ,POKE CLK UP
020000 171720 BIC #CLK, dTXCSR .POKE CLK DOWN
171714 MoV dTX(SR, R1 »RCTURL
Q75777 BiC #075777.R1 .SAVE BITH & DNR
CHP RO.R1 . COMPAPE EXP VS ACT
BEQ +4
ERROR 3 LBIT LINDOW DID NOT MRATCH RCTURL DRTA
.BIT, RLSO CHECK DNR
171072 DEC SHIFT . % OF SHIFTS
BNE 19 ,D0 IT AGRIN ?
,NOH POKE CLK TO SEE DNA
020000 171660 BIS #CLK, TXCSR ,POKE CLn
100000 MOV #100000, RO +EXPECTED
171656 MoV OTXCSR, P » RCTUARL
Q77777 BIC $772777.R1 » SAVE DNR ONLY
cne RO, RY . COMPRRE EXP VS R(CTY
BEQ +4
ERROGR 3 .DONR SHOULD BE SET

SEQ 0046

——
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2297

2298

2299

2300

2301

2302

2303

2304

<305

2306

2307

2308

2309 010062 00COOu
2310 010064 082777
2311 010072 012777
2312 010100 052777
2313

231y

2315

2316 010106 012777
2317

2318

2319 010114 012777
2320 010122 016703
2321 010126 112777
2322 010134 012767
2323 010142 012767
2324

2325 010150 052777
2326 010156 0Quz777
2327 010164 005000
2328 010166 006067
2329 010172 103002
2330 010174 052700
2331 010200

2332 010200 052777
2333 010206 0u2777
2334 010214 017701
2335 010220 042701
2336 010224 020001
2337 010226 001401
2338 010230 104003
2339

2340 010232 005367
234t 010236 001352
2342

2343 010240 062777
2344 010246 012700
2345 010252 017701
2346 010256 042701
2347 010262 020001
2348 010264 001401
2349 010266 104003
2350

2351

2352

| 4
21-SEP-77 09 18 PAGE 49
INITIRL1ZE THE COMMON TAGS

,|F DNR DID NOT SET
, CHECK WORD LENGTH SELECT LOGIC

»» THIS TEST VERIFYS CHARACTER PLUS PARITY GENEPRTION
,»OF THE TRANSMITTER SECTION

»» 1T ALSO CHECKS DNR TIMING

.+ MODE SYNINT

»»LENGTH FIVE PLUS PRRITY

., »PRRITY- ODOPAR

. » CHRRACTER: 25

PR 32232000030 332303 3300800000009 0202900822000000000002222832000020"

TST17  SCOPE

000400 17163y B8iS SMRESET, 9TXCSR ,MASTER RESET
030000 171622 MOV S$SYNINT, gPAR(SR , SET THE MODE
000400 171620 BIS WMRESET, 3TXCSR ,MASTER RESET

»SET MAINTENRNCE MODE & SEND
,NOTE BIT WINDOWRCLK ARE CLERRED (MTDARTA=0)

00%020 171612 MoV SMINT!SEND, TXCSR
,SET MODE. % OF BITS.PARITY SENSE.8 LORD SYNC REG
031026 171600 MOV #SYNINT!F IVE'ODDPAR '26. 9PARCSR
1710C0 MOV TXCSR,R3 »SET UP FOR ERROR MSG
000025 171576 MOVB %25, TXDBUF -LORD DATA (HAR
0o0Cco25 171336 MOV %£25,9TNP1 . TO BE SHIFTED "HRR
000U0e 170752 MOy %6, SHIFTY . & OF SHIFTS
,POKE CLK TO GET INTO SYNCRONIZARTION
020000 171550 BIS #CLK, dTXCSR .POKE CLK UP
020000 171842 BIC #CLK, 9TXCSR .POKE CLK DOMWN
13 CLR RO
171306 FOP STHP1 FORCE CRRRY
BCC 2% ,BR IF CRARRY (LR
002000 B!3 #B!TH,. RO LEQUIV OF BITH
29
020000 171520 BIS #CLK, 9TXCSR .POKE CLK UP
020000 171512 BiC ®CLK, dTXCSR »POKE CLK DOWN
1721500 MOV OTXCSR. R1 - ACTUAL
Q75777 Bi1C #075777.R1 »SAVE BITH & DNA
CHP RO.R1 . COMPRRE EXP VS RCT
BEQ +4
ERROR 3 ;BIT WINDOW DID NOT MATCH RCTURL DRTA
.BIT, ALSO CHECK DNR
170664 DEC SHIFT . % OF SHIFTS
BNE 19 .00 {T RAGRIN ?
.NOW POKE (LK TO SEt DNR
020000 171460 BIS #CLK, JTXCSR ,POKE CLK
100000 MoV #100000, RO +EXPECTED
171450 MOV JTXCSR, R1 » ACTUARL
077277 BIC %$277°7.R1 » SAVE DNH ONLY
CHP RO.R1 . COMPRRE EXP VS RACY
BEQ +4
ERROR 2 . ONR SHOULD BE SET

.{F DNR DID NOT SET
. CHECK HORD LENGTH SELECT LOGIC

SEQ 0047
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DZDUTB M1t

2353
2354
2355
2356
2387
2358
2359
23160
2361
2362
2363
2364
2365
2366
2367
2368
2369
2370
2371
2372
2373
2374
2375
2376
2377
2378
2379
2380
2381
2382
2383
2384
2385
2386
2387
2388
2389
2390
239N
2392
2393
2394
2395
2396
2397
2398
2399
2400
2401
2402
2403
Z404
2405
2406
2407
2408

010270
010272
010300
010306

01031y

010322
010330
010334
010342
010350

010356
010364
010372
010374
010400
010402
010406
010406
010414
010422
010426
010432
010434
010436

010440
010444

010446
010454
010460
010464
010470
010472
01047y

21-SEP-7?

J1-MAY-77 09 49

000004
052777
0127?27
052777

012777

012777
16703
112777
012767
012767

0527277
Q42777
005000
006067
103002
052700

052777
0427?77
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

000400
000000
000400

004020

001426
171372
000025
000352
000010

020000
020u00

171100
002000

020000
020000
171300
078777

170456

020000
000000
1712842
Q77777

171426
171414
171412

171404

171372
171370
171130
170544

171342
171334

171312
171304

171282

J% 18 PAGE 50

J 4

INITIALIZE THE COMMON TRGS

»» THIS TEST VERIFYS CHARRCTER PLUS PARITY GENERATION
,»0F THE TRANSMITTER SECTION

.. 1T ALSO CHECKS DONR TIMING

; »MODE- 1SYNOD

;,LENGTH: FIVE PLUS PRRITY

;+PRRITY: EVEPAR

.. CHARARCTER: 25

,,!t!i!t;i!XX!!!!!t!!!!!t!!!!!!!!!!!!l!!!!l!!l!!X!!!XXt!t!!!X!Xl!

TST20. SCOPE
BIS
MOV
BIS

AMRESET, 9TXCSR  MASTER RESET
#1SYNOD. 9PRRCSR ;SET THE MODE
#MRESET, TXCSR . MASTER RESET

»SET MRINTENRANCE MODE & SEND
;NOTE: BIT WINDOWRCLK ARE CLERRED (MTDATAR=0)

MOV $MINT!SEND, aTXCSR
,SET MODE.# OF BITS,PARITY SENSE,8 LOAD SYNC REG
MOV $I1SYMOD'FIVE'EVEPRAR ! 26, dPRRCSR
MOV TXCSR,R3 oSET UP FOR ERROR MSG
MOVB #2565, 9TXDBUF . LOAD OARATRA CHAR
MOV #352.8THMP1 ,TO BE™SARTEDLHAR |
MOV $8. . SHIFT . % OF SHIFTS
,POKE CLK TO GET INTO SYNCRONIZATION
BIS $CLK, 9TXCSR ,POKE CLK UP
BIC $CLK, 9TXCSR .POKE CLK DOWN
1% CLR RO
ROR STHMP1 .FORCE CARRRY
BCC yA ) .BR |F CARRY (LR
BIS #B1TH. RO LEQUIV OF BITH
2%
B8!S #CLK, 9TXCSR .POKE CLK UP
BIC #CLK, 9TXCSR ,POKE CLK DOWN
MOV o TXCSR, R1 . ACTUAL
BiC #0757277.R1 ,SAVE BiITH & DNR
CMP RO, R1 , COMPARE EAP VS RACT
BEQ LY
ERROR 3 ,BIT WINDOW DID NOT MATCH ACTURL DRTA
.BIT, ALSO CHECK DNAR
DEC SHIFT .8 OF SHIFTS
BNE 19 .D0 IT AGRIN ?
,NOW POKE CLK TG SEE DNA
BiS $CLK, 9TXCSR .POKE CLK
MOV $0. RO JEXPECTED
MOV e TXCSR, R1 »RCTUAL
BIC £727777.R1 »SAVE DNR ONLY
CMP RO, R1 . COMPRARE EXP VS ACT
BEQ +4
ERROR 3 ,DNR SHOULD BE SET

. |F DNR DID NOT SET
,CHECK WORD LENGTH SELECT LOGIC

;» THIS TEST VERIFYS CHARACTER PLUS PRRITY GENERAT!ION
. 0F THE TRANSMITTER SECTION
;. 1T ALSO CHECKS DNR TIHRING

SEQ 0048




DZOUT-B8 MACY11 30(1046)
0Z0uUTe M11 J1-MRY-77

2409
2410
2411
2412
2413
2414
2415
2416
2417
2418
2419
2420
2421
2422
2423
2424
2425
2426
2427
2428
2429
2430
2431
2432
2433
2434
2435
2436
2437
2438
2439
2uu40
2441
2442
2443
2444
2445
2446
2487
2448
2449
2450
2451
2452
2453
2454
2455
2456
2457
2458
2459
2460
2461
2462
2463
2464

000004
052777
012777
052777

010476
010500
010506
010514

010522 012777

010530
010536
010542
010550
010556

010564
010572
010600
010602
010606
010610
010614
010614
010622
010630
010634
0106M80
010642
010644

010646
010652

010654
010662
010666
010672
010676
010700
010702

012777
016203
112777
012767
12767

052777
Q2777
005000
006067
103002
062700

052777
042777
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

K 4
21-SEP-77 09 18 PRGE 51

09 49 INITIALIZE THE COMMON TRGS
»» LENGTH: FIVE PLUS PRRITY
..PRARITY ODDPAR
.. CHRRRCTER 25
%ég;l!K!;gtxxltttitxx!!!!!!!i!!!‘!!l*l**!*‘*‘!X*!**1*1***’**1"‘1
i OPE
000400 171220 BIS $MRESET, OTXCSR ;MASTER RESET
000000 171206 MOV #1SYMOD, 9PRARCSR , SET THE MODE
000409 171204 BIS #MRESET, 9TXCSR ,MASTER RESET
»SET MAINTENABNCE MODE & SEND
NOTE. BIT WINDOWSCLK ARE CLEARED (HTDATR=0)
004020 171176 MOV #MINT!SEND, 9TXCSR
;SET MODE. % OF BITS.PRARITY SENSE.& LORD SYNC REG
001026 171164 MOV #1SYMOD!F IVE'ODDPRR!'2¢ QPRRCSR
171164 Mov TXCSR,R3 ,SET UP FOR ERROR MSG
000025 171162 MOVB #25, 9TXDBUF »LORD DRTA (HAR
000252 170722 MOV %252, $THP1 »,TO BE SHIFTED CHRR
000010 17G336 MOV #8 . SHIFT . & OF SHIFTS
.,POKE CLK TO GET INTO SYNCRONIZRTION
020000 171134 81S #CLK, 9TXCSR ,POKE (LK UP
020000 171126 BIC #CLK, 8TXCSR ;POKE CLK DOWN
19 CLR RO
170672 ROR $THMP1 ; FORCE CRRRY
BCC 2% .BR IF CARRY (LR
002000 B!IS #81TKH. RO JEQUIV OF BITH
2%
020000 171104 BIS #CLK, 9TXCSR .POKE (LK UP
020000 171076 BIC #CLK, 9TXCSR +POKE CLK DOKN
171072 MOV dTXCSR, R1 . RCTUARL
075777 BiC #075777.R1 ,SAVE BITW & DNR
CMP RO.R1 , COMPRRE EXP VS R(T
BEQ +4
ERROR 3 ,BIT WINDOW DID NOT MATCH ACTURL DRTAR
BIT, ALSO CHECK DNA
170250 DEC SHIFT . % OF SHIFTS
BNE 19 .00 IT RGARIN ?
,NOW POKE CLK TO SEE DNA
020000 173044 BIS #CLK, dTXCSR .POKE (LK
000000 MOV #0,R0  ,EXPECTED
171034 MOV dTXCSR, R1 »ACTURL
077777 BIC #77277.R1 »SRVE DNR ONLY
CHMP RO. R1 . COMPRARE EXP VS RCT
BEQ +4
ERROR 3 . DNR SHOULD BE SET

. IF DNR DID NOT SET
»CHECK WORD LENLTH SELECT LOGIC

,»THIS TEST VERIFYS CHARACTER PLUS PARITY GENEPAT!ION
,,OF THE TRANSHITTER SECTION

., VT ALSO CHECKS DNR TIMING

. »MODE SYNINT

. LENGTH S1X PLUS PRRITY

SEQ 0049




DZDUT-8 MACY11 30(1046)
pZ20uUT8 H11 J1-HRY-77

2465

2466

2467

2468

2469 010704 00000
2470 010706 052777
2471 010714 012777
2472 010722 0£2777
2473

2474

475

2476 010730 012777
2477

2478

2479 010736 012777
2480 010744 016703
2481 010750 112777
2482 010756 012767
2u83 010764 012767
2484

2485 010772 (052777
2486 011000 0u2777
2487 011006 005000
2488 011010 006067
2489 011014 103002
2490 011016 052700
2491 011022

2492 011022 052777
2493 011030 0Qu2777
2494 011036 017701
2495 011042 042701
2496 011046 020001
2497 011050 001401
2498 011052 104003
2499

2500 011054 005367
2501 011060 001352
2502

2503 011062 062777
2504 011070 012700
2505 011074 017701
2506 011100 042701
2507 011104 020001
2608 011106 001401
2509 011110 104003
2510

2511

2512

2513

2514

2515

2516

2517

2518

2519

2520

21-SEP-7?7 09
09 49

ooo4w00 171012
030000 171000
000400 170776

004020 170770

033426 170756
170756

000025 170754
000125 170514
000007 170130

020000 170726
020000 17C’20

170464
002000

020000 170676
020000 170670
170664
075777

170042

020000 170636
100000
170626
Q7?2777

L 4
18 PRAGE 52
INITIRLIZE THE COMMON TRGS

. PRARITY: EVEPRR
.+ CHARACTER- 25

%ég;ztttéésgéttttttttt!tttttt!!t!X!tt!l!!l!!!!!!!l!t!!!l!!!t!!!!t
BIS #MRESET, 9TXCSR ;MASTER RESET
MOV #SYNINT, 9PARCSR ;SET THE MODE
BIS SMRESET, 9TXCSR . MASTER RESET

»SET MAINTENRNCE MODE & SEND
+NOTE BIT WINDOWSCLK RRE CLERRED (MTDRTA=0)
MoV #MINT!SEND. 9TXCSR

»SET MODE.® OF BITS,PRRITY SENSE,& LOAD SYNC REG
MOV SSYNINT!SIX!EVEPAR!26, PARCSR
MOV TXCSR,R3 ;SET UP FOR ERROR MSG
Move %25, dTXDBUF -LORD DATA CHAR
MOV #125,8THP1 ;7O BE SHIFTED CHAR
MOV 87, SHIFT . % OF SHIFTS
,POKE CLK TO GET INTO SYNCRONIZATION
B.S #CLK, 9TXCSR ,POKE CLK UP
BIC #CLK, 9TXCSR ,POKE CLK DOWN
19 CLR RO
ROR STHP1 . FORCE CARRRY
BCC 2% .BR IF CARRY CLR
BIS %81TW, RO +EQUIV OF BITH

B!S $CLK, dTXCSR +POKE CLK UP

2%

BIC #CLK, 9TXCSR .POKE CLK DOUWN

MoV dTXCSR, R1 »ACTUAL

BIC $#076777.R1 .SAVE BITH & DNA

CHP RO.R1  ,COMPARE EXP VS R(T

8EQ +4

ERROR 3 ,B1T WINDOW DID NOT MRTCH RCTUAL CATA
,BIT, RALSO CHECK DNA

DEC SHIFT . &% OF SHIFTS

BNE 19 .00 IT RGARIN ?

,NOH POKE CLK TO SEE DNR

BIS #CLK, dTXCSR .POKE CLK

MOV #100000. RO ,EXPECTED

MOV dTXCSR, R1 »ACTURL

BiIC #77277.R7 »SAVE DNR ONLY

CHP RO.R1 . COMPARE EXP VS A(T
BEQ +Y

ERROR 3 .DNR SHOULD BE SET

.|F DNR DID NOT SET
» CHECK WORD LENGTH SELECT LOGHC

,» THIS TEST VERIFYS CHRRACTER PLLUS PARITY GENERRTION
,»OF THE TRANSMITTER SECTION

,» IT ALSO CHECKS DNR TIMING

. »MODE SYNINT

. LENGTH SIX PLUS PARARITY

,.PARITY ODDPAR

, . CHRRACTER 25

s,

SEQ 0050




DZDUT-B MACY11 30(1046)

DZ0UTB M1t 31-MRY-77
2521
2522 011112 00000
2523 O1111v 0527727
2524 011122 012777
2525 011130 052777
2526
2527
2528
2529 011136 012777
2530
2521

2532 011144 012777
2633 011152 01€703
2534 0111586 1127277
2535 Ottited 012767
2530 011172 012767
2537

2638 011200 052777
2539 011206 042777
2540 011214 005000
2541 011216 CO06067
2542 011222 103002
2543 011224 052700
2544 011230

2545 011230 062777
2546 011236 042777
2547 011244 017701
2548 011250 042701
2549 011254 020001
2550 011256 001401
2551 011260 104003
2552

2653 011262 005367
2554 011266 001352
2555

2556 011270 052777
2557 011276 012700
2558 011302 017701
2659 011306 0Quz701
2560 011312 020001
2561 011314 001401
2562 011316 104003
2503

2564

2565

2566

2567

2568

2569

2570

2571

2572

2573

2574

2675 011320 000004
2576 011322 052777

21-SEP-77 09
09. 49

000400 170604
030000 170572
ooo400 170570

00v9220 170562

033026 170550
170550

000025 170546
000025 170306
000007 167722

020000 170520
020000 170512

170256
002000
020000 170470
020000 170462

170456
075777

167634

0z0000 170430
100000
170420
0?7772

000400 170376

Moy
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INITIRLIZE THE COMMON TRGS

AR 2233000080330 00 300000033008 0900000 3300000000200 00000200008¢80¢
TST23  SCOFE

BIS SMRESET, dTXCSR , MASTER RESET

MoV RSYNINT, PARCSR , SET THE MODE

BIS #HMRESET. dTXCSR . MASTER RESET

;SET MRINTENANCE MODE & SEND
,NOTE BIT WINDOWSCLK RRE CLERRED (MTDATR=0)
MoV #MINT!SEND, 9TXCSR

. SET MODE. % OF BITS.PRRITY SENSE. 8 LORD SYNC REG
MOV RSYNINT!S|X'ODDPAR' 26, oPARCSR
MOV TXCSR.R3 »SET UP FOR ERROR MSG
MOVB %25, 9TXDBUF -LORAD DATR CHAR
MOV $25, $THP1 .TO BE SHIFTED C(HRR
MOV #7.SHIFT ;% OF SHIFTS

,POKE CLK TO GET INTO SYNCRONIZATION
BIS #CLK, dTXCSR .POKE CLK UP

BiC $CLK, 9TXCSR ,POKE CLK COWN
19 CLR RO
ROR STHP 1 ;FORCE CARRY
BCC 29 ,BR IF CRRRY CLP
) BIS #B8I1TH, RO LEQUIV OF BITW
)
BIS #CLK, 9TXCSR .POKE CLK UP
BIC $CLK, 9TXCSR ,POKE CLK DOWN
MOV o TXCSR, R1 . RCTUARL
B!C #075777.R1 .SAVE BITH & DNR
CMP RO. R1 ,COMPRRE EXP VS ACT
BEQ +4
ERROR 3 ,B1T WINDOW DID NOT MATCH RACTURL DRTA
+B1T, . ALSO CHECK DNAR
DEC SHIFT % OF SHIFTS
BNE 19 ,D0 IT AGRIN ?
.NOW POKE CLK TO SEE ONA
BIS #CLK, 9TXCSR ,POKE CLK
MOV #100000. RO ,EXPECTED
MOV oTXCSR. R1 . RCTUAL
BIC $7727?7.R1 , SRVE DNR ONLY
CMP RO. R1 ,COMPARE EXP VS RAC(T
BEQ +y
ERROR 3 ,DNA SHOULD BE SET

»\F ONR DI1D NOT SET
,CHECK WORD LENCTH SELECT LOGIC

,»THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
,»OF THE TRANSMITTER SECTION

»»IT ALSO CHECKS DNA TIMING

.. MODE. 1SYMOD

,»LENGTH SIX PLUS PARITY

,PARITY EVEPAR

. » CHARACTER 25

,,l!!!tt;;lttllt!ttt!!Xt!!!X!lt!!tlt!tl!!!!!lttXl!!ttt*!!tt!t!*t!
TST24  SCOPE
BIS #MRESET, 9TXCSR . MRSTER RESET

SEQ 0051




DZDUT-B MRCY11 30(1046)
DZOUTE M1t 31-MAY-?7?

2577 011330 012777
2578 011336 052777
2579

2580

2581

2582 011344 012777
2583

2584

2585 011352 012777
2586 011360 016703
2587 011364 112777
2588 011372 012767
2589 011400 0127¢7
2590

2591 011406 052777
2592 011414 042777
2593 011422 005000
2594 011424 006067
2595 011430 103002
2596 011432 052700
2597 011436

2598 011436 052777
2599 011444 082777
2600 011452 017701
2601 011456 042701
2602 011462 020001
2603 011464 001401
2604 011466 104003
2605

2606 011470 005367
2607 011474 001352
2608

2609 011476 0652777
2610 011504 012700
2611 011510 017701
2612 011514 0uZ701
2613 011520 020001
2614 011522 001401
2615 011624 104003
2616

2617

2618

2619

2620

2621

2622

2623

2624

2625

2626

2627

2628 011526 000004

21-SEP-77 09
09. 49

000000 17036Y4
000400 170362

004020 170354

003426 170342
170342

000025 170340
000652 170100
000011 167514

020000 170312
020000 170304

170050
002000
020000 170262
020000 170254

170250
Q75777

167426

020000 170222

N &
18 PAGE Su
INITIALIZE THE COMMON TRGS

MoV #1SYMOD, 9PARCSR . SET THE MODE
B1S AMRESET, TXCSR ., MRSTER RESET

»SET MRINTENANCE MODE & SEND
+NOTE BIT HINDOWLCLK ARE CLERRED (MTDATAR=0)
MOV #MINT!SEND, dTXCSR

+SET MODE. & OF BITS,PARITY SENSE.& LORD SYNC REG
MOV #ISYMOD!SIX!'EVEPAR'26. dPRRCSR
MOV TXCSR,R3 ;SET UP FOR ERROR MSG
MOVB %25, 9TXDBUF ;LORD DATA CHAR

MOV $652,STMP1 ;TO BE SHIFTED CHAR
MOV %9. ,SHIFT . % OF SHIFTS
+POKE CLK TO GET INTO SYNCRON1ZRTION
BIS #CLK, dTXCSR .POKE CLK UP
BIC #CLK, dTXCSR .POKE CLK DOWN
19 CLR RO
ROR STHP1 .FORCE CRRRY
BCC 29 ,BR IF CARRY CLR
25 BIS #BITW, RO LEQUIV OF BITU
B S #CLK. 9TXCSR ,POKE CLK UP
BIC #CLK, 9TXCSR ,POKE CLK DOWN
MOV dTXCSR, R »RCTUARL
BiIC #075777.R1 ,SAVE BITH & DNR
CMP RO.R1 ; COMPARE EXP VS ACT
BEG +4
EPROR 3 ,BIT WINDOW DID NOT MATCH AT TURL DRTAR
.BIT, . ALSO CHECK DNR
DEC SHIFT ;8 OF SHIFTS
BNE 18 .D0 IT RGRIN ?
.NOW POKE CLK TO SEE DNR
BIS #CLK, 9TXCSR ,POKE CLK
MOV #0.RO . EXPECTED
MOV dTXCSR, R1 »ACTUAL
BIC 8777277.R1 »,SAVE DNR ONLY
CMP RO.R1 . COMPARRE EXP VS ACT
BEQ +Y
ERROR 3 .DNR SHOULD BE SET

. |F ONR DID NOT SET
» CHECK WORD LENGTH SELECT LOGIC

;- THIS TEST VERIFYS CHRRACTER PLUS PRRITY GENERRTION
,»OF THE TRANSHMITTER SECTION

-+ IT ALSO CHECKS DONR TIMING

.»MODE ISYMOD

.+ LENGTH 31X PLUS PRRITY

»»PRARITY- ODDPAR

, CHARACTER 25

Tttt
TST26  SCOPE

2629
2630
2631
2632

011530
011536
011544

s 8

052777
012777
052777

00000
170212
Q77777
000400 170170
000000 170156
000400 170154

BIS R#MRESET, 9TX(SR
MOV # 1SYMOD, 9PRRCSR
BIS #MRESET, 9TXCSR

»MASTER RESET
.SET THE MODE
+MASTER RESETY

SEQ 0052




\. B — it —a—- -

2633
2634
2635
2636
2637
2638
2619
2640
2641
2642
2643
2644
2645
2646
2647
2648
2649
2650
2651
2652
2653
2654
2655
2656
2657
2658
2659
2660
2661
2662
2663
2664
2665
2666
2667
2668
2669
2670
2671
2672
2673
2674
2675
2676
2677
2678
2679
2680
2681
2682
2683
2684
2685
2686
2687
2688

011652

011560
011566
011572
011600
011606

011614
011622
011630
011632
011636
011640
011644
011644
011652
011660
011664
011670
011672
011674

011676
011702

011704
011712
011716
011722
011726
011730
011732

011734
011736
011744
011752

DZDUT-B MACY11 30(1046)
DZOUTB M11

012777

012777
016703
112777
012767
012767

Q52777
Q42777
005000
006067
103002
052700

062777
Qw2777
17701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

000004
052777
012777
052777

21-SEP-77 09

31-MAY-77 09 49

oo4020

003026
170134
000025
000452
Co0011

020000
020000

167642
002000

020000
020000
170042
Q75777

167220

020000
000000
170004
07727727

000400
030000
000400

170146

170134
170132
167672
167306

170104
170076

170054
170046

170014

167762
167750
167746

B 5
18 PAGE 55
INITIRLIZE THE COMMON TRGS

»SET MAINTENANCE MODE L SEND
+NOTE. BIT WINDOWLCLK ARE CLERRED (MTDATA=0)
MOV #MINTISEND, dTXCSR

,SET MODE. % OF BITS,PARITY SENSE.& LOAD SYNC REG
MOV % 1SYMOD!SIX!ODOPRR ' 26, QPRRCSR
MOV TXCSR,RJ ;SET UP FOR ERROR MSG
MOVB 825, 9 TXDBUF - LORD DATA CHAR

MOV #4552, STHP1 .70 BE SHIFTED CHRR
MOV 89 . SHIFT , % OF SHIFTS
,PORE CLK TO GET INTO SYNCRONIZATION
BIS $CLK, 9TXCSR .POKE CLK UP
BIC $CLK, 9TXCSR ,POKE CLK DOWN
1% CLR RO
ROR $TMP1 .FORCE CARRY
BCC 29 ,BR IF CARRY CLR
BIS $B81TW, RO LEQUIV OF BITW
ra
oi< $CLK., 9TXCSR ,POKE CLK UP
BiC $CLK, 9TXCSR ,POKE (LK DOWN
MOV oTXCSR, R1 .RCTURL
BiC $075777.R1 ,SAVE BITW & DNA
CMP RO, R1 ,COMPRRE EXP VS ACT
BEQ +y
ERROR 3 ,BIT WINDOW DID NOT MATCH RCTUAL DRTA
,BIT,. ALSO CHECK DNR
DEC SHIFT , % OF SHIFTS
BNE 1§ ,D0 \T AGRIN 7
,NOWd POKE CLK TO SEE DNAR
BIS #$CLK, 9TXCSR .POKE CLK
MOV #0.R0 ;EXPECTED
MOV OTXCSR. R » RCTUAL
Bi¢ #77777.R1 . SAVE DNR ONLY
cHP RO.R1 , COMPRRE EXP VS ACT
BEQ +4
ERROR 3 ,DNR SHOULD BE SET

. |F DNA DID NOT SET
. CHECK WORD LENGTH SELECT LOGIC

. THIS TEST VERIFYS CHRRACTER PLUS PRRITY GENERATION
,;0F THE TRANSMITTER SECTION

»+ 1T ALSO CHECKS DNR TIRING

-»MODE SYNINT

»» LENGTH- SEVEN PLUS PARRITY

;,PARITY tVEPAR

»» CHARACTER: 125

PR $ 6283033003003 3300000032000 0¢30000008200 2000800020000 22200¢00)
TST26  SCOPE

BIS SMRESET. JTXCSR , MASTER RESET

MOV #SYNINT. 9PRRCSR ,SET THE MODE

BIS SMRESET. 9TXCSR , MASTER RESET

,SET MARINTENANCE MODE & SEND

SEQ 0053




DZDUT-8 MACY11 30(1046)
DZ0UTB M11 31-MRY-?77

2689

2690 011760 012777
2691

2692

2693 Cii7e6 012777
2694 011774 016703
2695 012000 112777
2696 012006 012767
2097 012014 012767
2698

2699 012022 062777
2700 012030 082777
2701 012036 00=000
2702 012040 006067
2703 012044 103002
2704 012046 052700
2705 012052

2706 012052 062777
2?07 012060 042777
2?08 012066 017701
2709 012072 Cu42701
2710 012076 020001
2711 012100 001401
2712 012102 104003
2713

2714 012104 005367
2715 012110 001352
2716

2?17 012112 0862777
2718 012120 012700
2719 012124 017701
2720 012130 042701
2721 012134 020001
2722 012136 001401
2723 012140 104003
2724

2725

2726

2727

2728

2729

2730

2731

2732

2733

2734

2735

2736 012142 000004
2737 012148 062777
2738 012152 012777
2739 012160 052777
2740

2741

2742

2743 012166 012777
274y

C 5
21-SEP-77 09 18 PRGE 56
09 u9 INITIALIZE THE COMMON TRGS

;NOTE BIT WINDOWRCLK RRE CLERRED (MTDRTA=0)
004020 167740 MOV SMINT!SEND, 9TXCSR

»SET MODE.® OF BITS,PARITY SENSE, & LORD SYNC REG

035426 167726 MOV #SYNINTISEVEN'EVEPAR ! 26, oPARCSR
167726 MOV TXCSR.R3 ;SET UP FOR ERROR MSG
000125 167724 MOVB #125, o TXDBUF ,LORD DATA (HAR
000125 167464 MOV #125,8$TnMP1 ;70 BE SHIFTED CHRR
000010 167100 MOV $8. . SHIFT ;8% OF SHIFTS
+POKE CLK TO GET INTO SYNCRONIZATION
020000 167676 BIS BCLK, 8TXCSR .POKE CLK UP
020000 167670 BIC BCLK, 9TXCSR ,POKE CLK DOWN
19 CLR RO
167434 ROR STMP1 .FORCE CARRY
BCC 29 ,BR If CARRY (LR
002000 ’s B1S #81TW, RO +EQUIV OF BITW
020000 167646 BIS $CLK. 9TXCSR ,POKE CLK UP
020000 167640 BiC BCLK, 9TXCSR ,POKE CLK DOWN
167624 MOV OTXCSR, R1 , RCTUAL
075777 BiC $075777.R1 ,SAVE BITH & DNR
cMP RO, R1 , COMPRARE EXP VS A(CT
BEQ +4
ERROR 3 ,BIT WINDOW DID NOT MATCH RCTURL DARTA
LBIT, ALSO CHECK DNR
167012 DEC SHIFT ., % OF SHIFTS
BNE 1§ .00 IT AGRIN ?
,NOW POKE CLK TO SEE DNAR
020000 167606 BIS $CLK, 9TXCSR .POKE CLK
100000 MOV #100000. RO ;EXPECTED
167576 MOV OTXCSR, R . ACTUARL
Q7777? BiC $77777.R1 . SRVE DNR ONLY
CMP RO.R1 ., COMPRRE EXP VS ACT
BEQ +Y4
ERROR 3 . DNR SHOULD BE SET

. |\F DNR DID NOT SET
,CHECK WORD LENGTH SELECT LOG C

.. THIS TEST VERIFYS CHRRACTER PLUS PARITY GENERATION
,»OF THE TRANSHITTER SECTION

,, 1T ALSO CHECKS DNA TIMING

. »MODE SYNINT

,LENGTH SEVEN PLUS PARITY

»»PRARITY ODDPAR

.» CHARACTER 125

.,lltt!ti;l!!!!X!k!!!!t!!!!!ltl!!!*xt!!t!tlt!!t!lttxl!tttt!x*tttX
TST27  SCOPE

000400 167554 BIS #MRESET, TXCSR . MASTER PESET
030000 167542 Mov $SYNINT, 9PARCSR , SET THE MODE
000400 167540 BIS §MRESET, dTXCSR . MASTER RESET

,SET MAINTENANCE MODE & SEND
,NOTE BIT WINDOHWCLK ARE CLERRED (MTDRTR=0)
004020 167532 MOV §MINT!SEND, @TXCSP

SEQ 0054




DZ0UT-B MACY11 30¢1046)
LZouTe M1

2746
2746
2747
2748
2749
2?50
2751
2752
2753
2754
755
2756
2757
2758
2759
<760
2761
2762
2763
2764
2765
2766
2767
2768
2769
2770
2771

2?72

2773
277%
2775
2776
2777
2778
2779
2780
2781
2782
2783
278u
278%
2786
2787
2788
2789
2790
279N
2792
2793
2794
2795
2796
2797
2798
2799
2800

012174
012202
012206
012214
012222

012230
012236
012244
012246
012252
01225%
012260
012260
012266
012274
012300
012304
012306
012210

012312
012318

012320
012326
0123132
012336
012342
012344
012346

012350
012352
012356
012360
012362
012366
012372
012376
012400
012404
012406
012412
012416

J1-MAY-?77

012777
016703
112777
012767
012767

052777
042777
005000
006067
103002
052700

052777
0427277
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
026001
001401
104002

00000u
004?67
104401
015506
104413
104401
106767
001511
005767
001007
104401
016700
000000

D 5
21-SEP-77 09 18 PRAGE 57

09 49 INITIALIZE THE COMMON TAGS
.SET MODE. & OF BITS.PRARITY SENSE. & LOAD SYNC REG
035026 167520 MOV #SYNINT!SEVEN'ODOPAR ' 26, dPRR(CSR
167520 MOV TXCSR.R3 ,SET UP FOR ERROR MSG
000125 167516 MOVSB $125, o TXDBUF .LORD DATAR (HAR
000325 167256 MOV $#325,9TnMP1 ,TO BE SHIFTED CHAR
000010 166672 MOV 8$8 ,SHIFTY .8 OF SHIFTS
+POKE CLK TO GET INTO SYNCRONIZATION
020000 167470 BIS $CLK, 9TXCSR ,POKE CLK UP
02000C 167462 BIC #CLK, 9TXCSR ;POKE CLK DOWN
19 CLR RO
167226 ROR STMPY .FORCE CARRY
BCC 298 ,BR |F CRARRY CLR
002000 , B S #81TW. RO ,EQUIV OF BITU
S
020000 1674u0 B S $CLK, 9TXCSR .POKE CLK UP
020000 167432 BIC #CLK, 9TXCSR ,POKE CLK DOWN
167426 MOV ¢TXCSR. R1 , RCTUAL
0787727 BiC $0757727.R1 ,SAVE BITW & DNR
CHP RO.R1 ,COMPARE EXP VS ACY
BEQ +4
ERROR 3 ,BIT WINDOW DID NOT MRTCH RACTUARL DATA
LBIT, ALSO CHECK DNA
166604 DEC SHIFT . % OF SHIFTS
BNE 19 ,00 IT RGRIN ?
,NOW POKE CLX TO SEE DNA
020000 167400 BIS $CLK, 9TXCSR ,POKE (LK
100u00 MOV #100000. RO ,EXPECTED
167370 MOV OTXCSR. R1 . ACTURL
Q77777 BIC 87277227, RA . SAVE ONR ONLY
(MP RO PI ., COMPARE EXP VS A(T
BEQ +4
ERPCOK 3 . DNAR SHOULD BE SET
,IF DONR DID NOT SET
.CHECK WORD LENGTH SELECT LOGIC
.END OF PRSS
. TYPE NRME OF TEST
, UPDATE PASS COUNT
,CHECK FOR EXIT TO ARCT-11
,RESTART TEST
EOP SCOPE
000340 JSR PC., CKSHR
TYPE . TYPE NAME OF TEST
MEPRSS
012614 CONVRT , QUTCRY
015325 TYPE ,DEVICE
166554 TSTB MULTD . ARE YOU RUNNING MULTIPLE DEWICES 7
BEQ Cc , NO, JUMP RRQUND
166562 TST ACTREG .RRE ANY DEVICES RCTIVE 7
BNE RUNIT . YES
015337 TYPE ,MCOW . NO
166550 MOV ACTREG. RO .DISPLAY RCTREG
HALT , SELECT SOMETHING TO RUN @ RCTREG

SEQ 0055




DZOUT-8 MACY11 30(1046)

LZ0UTE M1t

2801
2802
2803
2804
2805
2806
2807
2808
2809
2810
2811
2812
2813
2814
2815
2816
2817
2818
2819
2820
2821
2822
2823
2824
2825
2826
2827
2828
2829
2830
2831
2832
2833
283y
2835
2836
2837
2838
2839
2840
2841
2842
2843
2844
2845
2846
2847
2848
2849
2850
2851
2852
2853
2854
2855
2856

012420
012424
012432
012440
012442
012446

012450
012456
012460
01246M
012470

012476
012504
012512
012516
012520
012526
012532
012540
012546
012554
012562
012670
012576
012604
012612

012614
012616
012620

012622
012622
012626
012632
012636
012642
012650
012656
012662
012664
012666
012670
012672
012674
012676
012700
012700
012706
012712

J1-MRY-727

000167
062767
062767
000241
006167
103410

036767
001762
0Qu7e?
000167
012767

016767
016767
004767
0004y 1
016767
004767
016767
062767
016767
062767
016767
062767
016767
016767
000207

000001
00ob
001712

00%067
005067
005067
005267
016767
016767
013701
001436
000005
000005
004711
gooz240
000240
000240

012767
004767
000167

21-SEP-?7 09

09 49

167526
000010
000010

166522

166514

000034
000210
000001

166454
166454
000002

166430
004260
166424
000002
166410
00000Z
166374
000002
166360
167126

002

166554
166564
166545
166250
166244
166236
000042

003376
000004
170372

166522
166522

166510

166472

166460
166450

004416

167176
166414
167164
166400
167152
166364
167140
166350

166232
166656

166500

18 PRAGE 58
INITIALIZE THE COMMON TRGS

»SELECT SHITCHES & MIT CONTINUE (PUT SWOOQ =1)

RUNIT
ZERO

2%

REPLAY

OUTCRY

Ccc

SENDRD

RESTRT

JHP
ADD
ADD
CLC
ROL
BCS

BIT
BEQ
JSR
JMP
MOV

MOV
MOV
JSR
BR

MoV
JSR
MOV
ADD
MOV
RDD
MOV
RDD
Mov
MoV
RTS

1
BYTE
RXCSR

CLR
CLR
CLR
INC
MoV
MOV
MoV
BEQ
RESET
RESEY
JSR
NOP
NOP
NOP

MOV
JSR
JHP

E 5

START ,START OVER AGRIN... . YOU DESELECTED EVERYTHING
%10, BRSEADD +NEXT BLOCK (RDORESSES)
#10,BASE IV »NEXT BLOCK (VECTORS)

ROTRDD . UP DATE ROTATING POINTER
29 . 1S 1T THE LAST DEVICE
.70 BE TESTED IN THIS PARSS ?
ROTADD, ACTREG . TEST THIS DEVICE FOR RACTIVE STATUS
RUNIT  ;IF NOT RCTIVE, TRY NEXT RDDRESS

PC.REPLAY » CALCULATE NEW PARAMETERS
RESTRT ,YES IT WRS ACTIVE, TEST THIS DEVICE
%1.ROTARDD ;OK!, NOW SET UP ROTATING

+POINTER FOR NEXT MULTIPLE PARSS
KEEPADD, BRSERADD ,RESTORE BASE RDDRESS
KEEPIV,BASEIV  ,RESTORE BASE INTERRUPT VECTORS

PC. REPLRY »CALC NEW PRARAMETERS

CCC , JUMP RAROUND REPLRAY

BASERDD, DUBASE ., SET UP FOR NEW ADDRESSES
PC, DURDDR . CREATE NEW RDDRESSES

BASE |V, DUR IV . CREATE DURIYV

%2,BASE IV

BASE IV, DURIS . CREATE DURIS

%#2.BASE IV

BASE 1V, DUT IV » CREATE DUTIV

%2,BRSE IV

BASE1V.DUTIS . CRERTE DUTIS

DURIV,BASE IV . RESTORE

PC

6.2

STSTNN . CLERR TEST NUMBER
SERRPC »CLEAR LAST ERROR PC
SERFLG ,CLERR ERROR FLAG
PASCNT . UPDRTE PASS COUNT

PASCNT, L IGHTS . DISPLPY PASS COUNT

PASCNT, SPARSS .PRSS COUNT TO RPT

ofLZ, R1 . CHECK FOR RCT-11 OR DODP
RESTRT . IF NO CONTINUE TESTING

PC. (R1)

#TST1+2, SLPADR . LORD LRST AODR
PC. CKSHR
BEGIN

,CHECK SHITCH REGISTER ROUTINE
, CHECKS TO ALLOW FOR < G> TO ALLOH

SeEQ 0056




D20UT-B8 MACY11 30(1046)
bZDUTE M1t

2857
2858
2859
2860
2861
2862
2863
2864
2865
2866
2867
2868
2869
2870
2871
2872
2873
2874
2875
2876
2877
2878
2879
2880
2881
2882
2883
2884
2885
2886
2887
2888
2889
2890
2891
2892
2893
2894
2895
2396
2897
2898
2899
2900
2901
2902
2903
2904
2905
2906
2907
2908
2909
2910
2911
2912

012716
012722
01272M
01273z
01273y
012740
012742
012750
012756
012764
012766
012772
012776
013002
013004
013006
013012
013014
013016
013020
013022
013024
013030
013032
013034
013036
013040

013042

013044
013080
013056
013060
013064

31-MRY-77

005737
001040
022767
001034
105777
100031
017767
042767
122767
001017
104401
005137
104401
1044123
01303y
104406
104410
000000
172227
000176

000
005037
000207
000000
000001

006
000176

000005

004767
0322727
001402
016716
000002

F 5

21-SEP-77 09 18 PARGE 59

09 49

000042
000176
166504
166500
177609
000007
G16113

013032
016122

016134

001
013032

00z

177646
001000

166024

166506

000422
000414
000406

166362

INITIALIZE THE COMMON TARGS
. THE CHANGING OF LOCRTION 176
CKSWR  TST oty 2

BNE ouT
CHP RSWUREG, SHR » SOF THARE SKR PRESENT?
BNE ouT »NO--LERVE
TSTB 93TKS , CHECK TTY RERODY
BPL ouT ; NO--LERVE
HOV 93TKB, MSG ,GET CHARRACTER
BiC %#177600. MSG »STRIP JUNK
CMPB %7, MSG S HT 6 7
BNE out »NO
TYPE »MCNTG

CNTLU  COM J¥ROSKH
TYPE . HHSKHR
CONURT
SHREGL
INSTR., MMNEU
PRARAM
0
177777
SHREG

BYTE 0.1

ouTt CLR d#RDSH
RTS PC

ROSH WORD O

SWREGL 1
BYTE 6.2
SWREG
5
,CHECK FOR FREEZE ON CURRENT DATA

SCOP1 JSR PC. CKSHR
BIT %#SHO9. oSHR
BEQ 1%
MoV LOCK, (SP)

18 RTI

SBTTL TYPE ROUTINE

A £33 8008333303 8388003330093323000300000000000030¢202000002302¢8¢3)
, XROUTINE TO TYPE ASCI2 MESSAGE MESSAGE MUST TERMINRTE WITH A O BYTE
. XTHE ROUTINE HILL INSERT A NUMBER OF NULL CHRRACTERS AFTER R LINE FEED

.INOTEI SNULL CONTRINS THE CHRRACTER TO BE USED AS THE FILLER CHARACTER
. INOTE 2 SFILLS CONTRINS THE NUMBER OF FILLER CHARACTERS REQUIRED

. ENOTE 3 Sr 1LLC CONTRINS THE CHRRRCTER TO FILL RFTER

. X

» XCALL

,%1) USING R TRRAP INSTRUCT!ION

. | TYPE » MESRDR . MESRDR IS FIRST ADDFESS OF AN QSCIZ STRING

. ¥OR

. | TYPE

. | MESADR

|

SEQ 0057




DZOUT-B MACY11 30(1046)

LZDUTB M1t

2913
2914
2915
2916
2917
2918
2919
2920
2921
2922
2923
2924
2925
2926
2927
2928
2929
2930
2931
2932
2933
2934
2935
2936
2937
2938
2939
29¢0
2941
2942
2943
294y
2945
2946
2947
2948
2949
2950
2951
2952
2953
2954
2955
2956
2957
2958
2959
2960
2961
2962
2963
2964
2965
2966
2967
2968

013066
013072
013074
013076
013100
013102
013106
013114
013116
013124
013126
013132
013136
013140
013146
013150
013162
013154
013156
013160
013164
013166
013172
013174
013200
013202
013204
013206
013210
013214
013216
013222
013226
013230

013234
013240
013242
013246
013252

013254
013260
013264
013272
013274
013276
013300
013304
013306
013314
013322
013324
013330

J1-MRY-77

105767
100002
00ou00
0004 30
010046
017600
122767
001011
132767
001405
010067
004767
00C000
132767
001003
112046
001005
005726
012600
062716
c00002
122716
001430
122716
001006
005726
104401
001523
105067
0006755
004767
126720
001350
016746

105366
002770
004767
105307
000770

112716
00u4767
132767
001372
005726
000724
106777
100375
116677
122766
001002
105067
0o0ouNe

21-5EP-77 09

09 49
166365

000002
000001

000100
000004

000006 °

000040

00000z
000011
000200

000130

000056
166230

166220
000001

000032
000072

0000u0
000014
000007

166144

000002
000015

000014

166432
166423

166401

nN000s2

166126
000032

18 PRGE 60
TYPE ROUTINE

$TYPE

1%

61%
62%

2%
60%
3%
4%

5%
6%

79

,HOR1ZONTAL TRB

8%
9%

STYPEC

TST8
BPL
HALT
BR
MoV
MOV
CMPB
BNE
BITB
BEQ
MoV
JSR
HORD
BITB
BNE
MOVE
BNE
TST
MoV
RDD
RTI
(MPB
BEQ
CMPB
BNE
TST
TYPE
SCRLF
CLRB
BR
JSR
CMPB
BNE
MO/

0ECSB
BLT
JSR
DECB
BR

Move
JSR
BITB
BNE
TST
BR
TSTB
BPL
MOVB
CHPB
BNE
CLRB
BR

STPFLG
19

39
RO, - (SP)
92(SP). RO

$APTENV, SENV

629

#APTSPOOL . SENUM

629
RO.619%
SC,SRTYJ

#RPTCSUP, SENVH

60%

(RO)+, -(SP)
49

(SP)+
(SP)+, RO
£2, (SP)

$HT, (SP)
8S

SCRLF, (SP)
£9

(SP)+

SCHARCNT
2%
PC.STYPEC

SFILLC, (SP+

2%
SNULL, - (SP)

1(SP)

69
PC.STYPEC
SCHARCNT
7S

PROCESSOR

#' ,(SP)
PC,STYPEC
%7, SCHARCNT
9%

(SP)+

29

9STPS
STYPEC
2(SP), @%7P8B
KCR, 2(SP)
1§

SCHARCNT
STYPEX

.. 1S THERE A TERMINARL?

,BR IF YES

. HALT HERE IF NO TERMINAL

.+ LERVE

.. SAVE RO

,.GET ADDRESS OF RSCiZ STRING
;+RUNNING IN RPT MODE

»»NO, GO CHECK FOR RPT CONSOLE
»»SPOOL MESSAGE TO APT

»»NO, GO CHECK FOR CONSOLE

;» SETUP MESSAGE RDORESS FOR RPT
;»SPOOL MESSAGE TO APT

» »MESSAGE RDDRESS

. APT CONSOLE SUPPRESSED

.. YES, SKIP TYPE OUT

».PUSH CHRARACTER TO BE TYPED ONTO STRCK

,»BR IF IT ISN'T THE TERMINATOR

.. |F TERMINATOR PGP T OFF THE STACK
.. RESTORE RO

. »ADJUST RETURN PC

. . RETURN

»»BRANCH |IF <(HT>

. »BRANCH [F NOT <CRLF)>

,.POP  C(CRXCLF)> EQUIV
.»TYPE R CR AND LF

.+ CLEAR CHARACTcR COUNT

.»GET NEXT CHRRRCTER

,»GO TYPE THIS CHRARRCTER

,» 1S IT TIME FOR FILLER CHRRS ?
.. IF NO GO GET NEXT CHAR

..GET * OF FILLER CHRARS NEEDED
.»AND THE NULL CHARR

..DOES A NULL NEED TO BE TYPED?
..BR IF NO--GO POP THE NULL OFF OF STRCK
.»G0 TYPE A NULL

.. D0 NOT COUNT RS A COUNT

.. LOQP

.. REPLACE TAB WITH SPARCE

.. TYPE R SPRCE

. »BRANCH IF NOT RT

.» TAB STOP

..POP SPRACE OFF STRACK

.»GET NE¥T CHRRACTER

. »HRIT UNTIL PR/NTER IS RERDY

.»LORD CHAR TO BE TYPED INTO DRTR REG
.. 1S CHARARCTER R CRARRIRGE RETURN?
»BRANCH IF NO

,» YES--CLERR CHRRARCTER ZCUNT

L EXIT

SEQ 0058




DZ0UT-B8 MACY11 3001046)
LZ2OUTB M1t

2969
2970
2971
2972
2973
2974
2975
2976
2977
<978
2979
2980
2981
2982
2981
2984
2985
<986
2987
2988
2989
2990
2991
2992
2993
29%4
2995
2996
2997
2998
2999
3000
3001
3002
3003
3004
3005
3006
3007
3008
3009
3010
3011
3012
3013
3014
3015
3016
3017
3018
3019
3020
3021
3022
3023
3024

013332
013340
013342
013344
013346

013350
013356
013362
013366
013370
013272
01337y
013400
013404
013410
013412
013416
013422
013426
013430
01343y
013436
013442
013444
013462
013454
013456
013460
013462
01346M

013466
013470
013474
013500
013504
013510
013514
013516
013520
013524
013530
013532
013536
013540
013544
013546
013552
013554
013560

31-MRY-77

122766
001402
105227
000000
000207

017667
062716
105767
001036
104401
000000
012704
012703
105777
100376
117714
142714
121427
001760
122427
001413
106777
100375
11772727
005303
001353
104401
015433
000742
00000z

011605
012567
012567
012567
112567
112567
010516
005005
012704
122714
001420
121427
002415
121427
003012
142714
152405
122714
001414

21-SEP-?77 09 18 PRGE 61
TYPE ROUTINE

09 49

000012 000002

000007 00COo1u

000002
166160

016146
000007
166034
166030
000z00
000025
000015
16¢006

165776

000162
000160
000156
000154
000151

016146
000015
000060
000067
000060
000015

160000

18

SCHRARCNT  HORD

STYPEX

INSTR

INST1

MSG

19

INSTE

INSTR2

PARAM

PRRANI

19

CMPB
BEQ
INCB

RTS

#LF., 2(SP) ,»1S CHRARACTER R LINE FEED?
$TYPEX . BRANCH IF YES

(PC)+ »» COUNT THE CHRRACTER

g( . » CHARARCTER COUNT STOFRULE

+ASCII STRING INPUT ROUTINE

MOV
RDOD
TSTB
BNE
TYPE
0
MOV
MOV
TSTB
BPL
MOVB
B:(B
(MPB
BEQ
CMPB
BEQ
TST8
BPL
MOovB
DEC
BNt
TYPE
MQN
BR
RTH

9(SP), . MSG .PI1CK UP MESSAGE
%2, (SP) » JUMP ARQUND MESSAGE FOR RTH
SENV »APT CONTROL
INSTR2 . YES NO TYPE
® INBUF, Ry ,GET STARTING LOC OF INBUF
%#7.R3 .MAX & OF CHRARS
OETKS . TTY FLARG
1
99TKB. (RY4) . TAKE CHAR
#200. (RY) » STRIP
(RY), %25 LS 1T 2
INSTH
(R4)+, %15 , CHECK FOR CR
INSTRZ
ggTPS . TEST FLAG
d9$TKB. 9STPB »ECHO CHRARRCTER
R3 ,DID YOU TYPE TOO MANY (HAPS 7
19

-

’

INST1 ,RETRY

, CONVERT RSCI| STRING TO OCTAL

MOV
MOV
MOV
MOV
MOVB
Move
MOV
CLR
MOV
CMPB
BEqQ
CHPB
BLT
(MPB
BGT
BICB
BISB
CMPB
BEQ

(SP).RS .PUT CONTENTS OF SP INTO RS
(RG)+.LOLIN +PUT LOW LIMIT INTO LOLIM

(RS)+. HILIN ,PUT HIGH LIMIT INTO HILIN
(R5)+, DEVADR +PUT STORE LOC INTQ DEVADR
(RE)+,LOBITS ,PUT MASK INTO LOBITS
(R5)+, ADRCNT ,PUT COUNT INTO RDRCNT

RS, (SP) ,RESTOPt RETURN RODR ON STRCK FOR RTI
RS

% INBUF , RY

#$15, (RY) , (R 7

PARERR ,YOU TYPED CR TOO SOON !

(RY), ¥60 LLOW LIMIT RSCHE O

PRARERR

(RY), §67 HIGH LIMIT ASCH) 7

PARERR

%60, (RY) . CONVERT TO OCTARL

(R4)+,R5 ,STORE AWARY TS AN OK (HARP
#1565, (RY) LR 7

LIMITS . NOW CHECK FOR HIGH 8LOW LIMIT CANDS

StEQ 0059
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D2ZbUTE M1t

3025
3026
3027
3028
3029
3030
3031
3032
3033
3034
2035
3036
3037
3038
3039
30u40
3041
3042
043
3044
3045
3046
3047
3048
3049
3050
3051
3052
3053
3054
3055
3056
3057
3058
3059
3060
3061
3062
3063
3064
3065
3066
3067
3068
3069
3070
3071
3072
3073
3074
3075
3076
3077
3078
3079
3030

013562
013564
013566
013570
013572
013576
013600
013604
013606
013610

013612
013616
013620
013624
013626
013632

013634
013640
013642
013646
013652
013654
013656
013660
013662
013664

013666

013674
013700
013704
013710
013714
013720
013724

013726
013732
013736
013742
013746
013752

31-MAY-77

006305
006305
006305
000760
122714
001003
005737
001023
104407
000742

020567
101365
020567
103762
136705
001357

016704
010524
062705
105367
001372
000002
000000
006000
000000
ocoooc
013665

016667

010567
010467
010367
010267
010167
010067
000002

016700
016701
016702
016703
016704
016705

21-SEP-77 09 18 PRGE 62

09 49

000015
013032

000042
000032
000032

000022

000002
0oc0o13

000004

165574
165566
165560
165552
165544
165536

165530
165526
165524
166522
165520
165616

165232

TYPE ROUTINE

RSL RS »ALLOCATE ROOM FOR NEXT CHAR
RSL RS
ASL RS
BR 19
PRARERR (CMPB #$15. (RY) Q7
BNE 1209
TST O#RDSH »CK SWR USED
BNE PARTI
120% INSTER ,RETRY
BR PARAMIY
. TEST TO SEE IF NUMBER IS W THIN L M TS
LIMITS CHP RS.HILINM
BHI PARERR , THE % 1S TOO HIGH
CMP RS.LOLINH
BLO PARERR . THE % IS TOO LOHW
BiTB LOBITS. RS , TEST BY MASKINGTHE &

BNE PAPERR
. STORE NUMBER AT SPECIFIED ADLPESS

MOV DEVRDR. RY ,GET STARTING RDOR CF
19 MOV R5, (RY4)+ .STORE AT THIS RDDR
ADD #2,R5
OeCB ADRCNT . HOW MANY THIMES + 2 7
BNE 19
PRRT RTI
LOLiIM 0
HILIA 0
DEVADR O
LOBITS O

RADRCNT=LOB TS+
,SAVE PC OF TEST THRT FRILED AND RO-PS
SRS MOV 4 (SP), SRYP(
. SAVE RO-RS
SvoS MOV R5, SREGS
MOV R4, SREGM

MOV R3,SREGI
MoV R2, SREGZ

MOV R1,SREG
MoV RO. SREGO
RTH .

.RESTORE RO-RS

RESOE MOV SREGO. RO
HOV SREG1. R
HOV SREGZ,R2
MOV SREGI. R3
MOV SREGY., RY
MOV SREGS. RS

SEQ 0060




DZDUT-B MACY11 J0(1CH6)
LZ0UTE M1

3081
3082
3083
3084
3085
3086
3087
3088
3089
3090
3091
3092
3093
3094
3095
3096
3097
3098
3099
3100
3101
3102
3103
3104
3105
3106
3107
3108
3109
3110
3111
3112
3113
3114
3115
3116
3117
3118
3119
3120
3121
3122
3123
3124
3125
3126
3127
3128
3129
3130
3131
3132
3133
3134
3135
3136

013756

013760
013762
013764
013770
013774
014000
014004
014010

01401y
014020
014024
014030
0140232
014036
O14042
01404y
014046
014050
014052
014054
014056
014062
014064
014070
014072
014076
014100
014104
014110
014112
o14114
014116
014120
014124
014126
014130
014132

O14134

014136
014142
014150
014152
014154
014156

31-HRY-77
000002

104401
015437
017601
062716
012167
112167
112167
013167

016704
116705
012700
010403
042703
062703
110320
006204
006204
006204
005305
001365
012703
114023
105367
001374
105767
001405
112723
105367
001373
105013
104401
016252
005367
001325
000002
000000
000000
014133
000000

017605
122767
001002
105015
000406
122767

21-StP-7? 09 18 PRGE 63

09 49

000000
000002
000130
000125
000123
000120

000114
000106
016210

177770
000260

01€252
000042
000035

000240
000023

000004

000000
000116

0001 31

001776

001762

TYPE ROUTINE
RTI
. CONVERT OCTAL NUMBER TO RSCi| AND OUTPUT TO TELEPRINTER

CONVR TYPE
MCRLF  .CR LF

MOV 9(SP).R1 +PICK UP DRTA POINTER
ROD %2.(SP) ,SET UP SP FOR RTI
MOV (R1)+, HROCNT ;PICK UP & OF WORDS FROM TRBLE
19 MovB (R1)+, CHRCNT +,PICK UP & OF CHRRS FROM TABLE
MOVB (R1)+, SPACNT ,PICK UP 8 OF SPACES FROM TRBLE
MoV Q(R1)+,BINWRD ,PICK UP RDDRESS OF MSG
»FROM TRBLE
2% MoV BINHRD, RY » SRVE
Move CHRCNT, RS ; SAVE
MOV #TENMP.RO , STARTING RDDRESS OF TEMP BLOCK
3% MoV RY,R3 » SRVE
BiIC %#1772270.R3 .CLR OUT UPPER BITS SAVE C(HAR
ADD %#260.R3 , CONVERT TO RSCII
MOVB R3, (RC)+ . STORE RHAY
ASR RY ,SHIFT FOR NEXT @&
ASR RY LDITTO
ASR RY ARRLY
DEC R5 .DEC CHAR COUNT
BNE ke .00 IT RGRIN ?
MOV #MDATA. R3 »STRARTING RDDRESS OF MDATA BLOCK
'49 MOVB -(RO), (R + .REVERSE THE OROER OF NUMBERS
) DECB CHRCNT ., DEC CHAR COUNT
BNE 4% .00 IT AGRIN ?
TSTB SPACNT . HOW MANY SPRCES 7
BEQ 6% ;TYPE ® IF BR =0
5% MOVB #240. (R3) ¢+ ,"SPRCE" IN RSCI!
DECB SPRACNT .DEC 8 OF SPRCE COUNT
BNE 5% .00 IT RGAIN 7
69 CLRB (R) » INSERT 0" FOR TTY OUTPUT ROQUTINE
TYPE
MDATA  , THIS MESSAGE
DEC WRDCNT . HOW MANY &'S 7
BNE 19 D0 THIS ROUTINE AGRIN IF NCY EQUARL TO O
RTI ,RETURN TO PROGRRH
WRDCNT O
(HRCNT O
SPRCNT=CHRCNT +1
BINWRD O

, COMPARE THE FIRST CHRARACTER IN THE TELETYPE NPUT
,BUFFER TO THE CHARACTERS "N" AND "Y"

, IF THE CHARACTER IS "N" CLEAR THE FLRG

, IF THE CHARACTER IS "Y" SET THE FLAG

SETFLG ROV d(SP).R5

(MPB #'N, INBUF SIS 1T "N
BNE 19
CLRB (R5) » 000
BR 29
1§ (MPB #'Y, INBUF AAS AT Yyt

SEQ 0061




D20UT-B MACY11 30(1046)

uvzoute ni1

3137
3128
3139
3140
3141
3142
3143
3144
3148
3146
3147
J148
3149
3150
3151
3162
3183
3154
3155
3156
3157
3158
3159
J160
3161
3162
3163
3164
3165
3166
3167
3168
3169
3170
3171
3172
3173
3174
3175
3176
3177
3178
3179
3180
3181
3182
3183
3184
3185
3186
3187
3188
3189
3190
3191
3192

O14164
014166
014172
014176
014200
014202

014204
014204
014210
014212
014220
014226
014230
014234
014240
014244
014252
014260
014266
014270
014274
014300
014300
014306
014310
014316
014322
014323
014324
014326
014332
014334
014336
014344
014346
014352
014356
014360
014364
01436M
014366
014372

001005
112715
062716
000002
104407
000755

105267
001775
016777
Q32777
001402
104401
005267
011667
162767
117767
032777
001004
004767
104401

122767
001007
116767
004767

000

000
000777
005777
100001
000000
032777
001402
016716
005767
001402
016716

000002
010067
010167

21-SEP-77 09 18 PAGE &Y
31-MARY-?77 09 49

177777
000002

165173

165164
002000

001516
165152
165152
000002
165140
020000

000072
001523

000001

165100
00001e°’

165106

001000

165036
165136

165130

164536
1645634

1665222
165212

165144
165134
165152

165240
000004

165074

TYPE ROUTINE

BNE

MOVE
2% ROD

RTI

39 INSTER

BR

3%
'-ll (Rs)
#2, (SP)

. RETRY
. SETFLG

, 377

SBTTL ERROR HANDLER ROUTINE

R 0030000000003 00000003003300000300000080020003000000030000000
.XTHIS ROUTINE KILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
»XSAVE THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
;XAND GO TO SAVIT ON ERROR

»XTHE SWITCH, OPTIUNS PROVIDED BY THIS ROUTINE ARE

HRALT ON ERROR
INHIBIT ERROR TYPEOUTS
BELL ON ERROR
LOOP ON ERROR

- XSH15=1

» XSW13=1

- XSH10=1

. XSHO9=1

- XCALL

. X ERROR

SERROR

78 INCB
BEQ
MoV
BIT
BEQ
TYPE

19 INC
MOY
SuB
Move
BIT
BNE
JSR
TYPE

209
(MPB
BNE
rHove
JSR

218 BYTE
BYTE

22% BR

29 TST
BPL
HALT

39 BIT
BEQ
MOV

43 TST
BEQ
HOV

5%
RTI

SRVIT MOV
MOV

N ,»ERROR=EMT AND N=ERROR {TEM NUMBER

SERFLG
7%

STSTNM, 9D I SPLRY

#81T710, oSUR
19

- SBELL
SERTTL
(SP), SERRPC
%2, SERRPC

QSERRPC, SITEMB

#B1713, aSHP
209
PC.SRVIT

» SCRLF

#RPTENV, SENV

2%

SITENB, 219
PC, SHTYY

0

0

22%

OSHR

3%

#81709, oSKR

4s

SLPERR., (SP)

SESCARPE

5%

SESCRPE, (SP)

RO. HLDO
R1.HLD!Y

..SET THE ERROR FLAG

,,DON'T LET THE FLAG GO TO ZERO
,»DISPLAY TEST NUMBER RAND ERROR FLAG
,.BELL ON ERROR?

IINO - SK'P

,.RING BELL

»; COUNT THE NUMBER OF ERRORS

,»GET RDDRESS Or ERROR INSTRUCTION

».STRIP AND SAVE THE ERROR ITEM CODE
.. SKIP TYPEOUT IF SET

.. SKIP TYPEOQUTS

,»G0 TO USER ERROR ROUTINE

»»RUNNING IN RPT MODE

..NO,SKIP APT ERROR REPORT

,»SET ITEM NUMBER RS ERROR NUMBER
,»REPORT FRTAL ERROR TO APT

».APT ERROR LOOP

. +HALT ON ERROR

»»SKIP IF CONTINUE

»+HALT ON ERROR!

,»LOOP ON ERROR SHITCH SET?

..BR IF NO

.»FUDGE RETURN FOR LOOPING
,.CHECK FOR AN ESCAPE RDDRESS
..BR |F NONE

., .FUDGE RETURN RDDRESS FOR ESCARPE

.. RETURN

StQ 0062




DZOUT-B MACY11 30(1046)

LZOUTB N1t

3193
J19%4
3195
3196
3197
3198
3199
3200
3201
3202
3203
3204
3205
3206
3207
3208
3209
3210
3211
3212
3213
3214
321%
3216
3217
3218
3219
3220
3221
3222
3223
3224
322%
3226
3227
3228
3229
3230
3231
3232
3233
3234
3235
3236
3237
3238
3239
3240
3241
3242
3243
3244
3245
3246
3247
3248

0184376
014402
014406
014412
014416

01442y
014424
014430
o144 32
Otu43y
014440

014442

014446
014450
014452
014454
014456
O14460
o14462
014466
014472
(LLYL
014476
014500
014504
014510
014512
014514
014516
014522
014524
014526
014530
014534
014536
014536
014540
014542
014544
014546
0145662
014554

31-MRY-77

010267
010367
010467
010567
016767

104401
010046
005000
153700
001004

C16746

104402
0004 26
005300
006300
006300
006300
062700
012067
001404
104401
000000
104401
012067
001404
104401
000000
104401
011000
001004
012600
104401
000207

013046
104402
005710
001770
104401
000771
020040
014560

21-SEP-77 09.18 PRGE 65

09 49

164632
164630
164526
164524
164760

001523

001414

164750

001652
000004

001523
000004

001522

001523

0145654
000

164520

ERROR HANDLER ROUTINE

MOV R2,HLDZ
MOV R3I, HLD3
MOV RY, HLDY
MoV RS. HLDS
MoV $TSTNM, HLD®

SBTTL ERROR MESSRGE TYPEOUT ROUTINE

PP 3000300000 0003300 0303000033000 0003000003002¢003300000000000090¢
»XTHIS ROUTINE USES THE "I1TEM CONTROL BYTE™ (SITEMB) TO DETERMINE WHICH

,XERROR 1S TO BE REPORTED |T THEN OBTAINS, FROM THE "ERROR TABLE™ (SERRTB),

. XAND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR

SERRTYP
TYPE . SCRLF .. "CARRIAGE RETURN" & "LINE FEED"
MOV RO. - (SP) .. SARVE RO
CLR RO +»PICKUP THE ITEM INDEX
B1SB J#SITENB. RO
BNE 19 .+ IF I TEM NUMBER IS Z2EROQ, JUST
,»TYPE THE PC OF THE ERROR
MOV SERRPC. -(SP) .. SAVE SERRPC FOR TYPEOUT
.. ERROR ADDRESS
TYPOC »»G0 TYPE--OCTAL RSCII(ALL DIGITS)
BR 6% ,.GET OUT
1% DEC RO ,»ADJUST THE INDEX SO THAT IT WILL
ASL RO , WORK FOR THE ERROR TRBLE
ASL RO
ASL RO
ADD #SERRTB. RO ,»FOPM TRBLE POINTER
Mov (RO)+, 2% »»PICKUP "ERROR MESSAGE™ POINTER
BEQ 3% .. SKIP TYPEOUT IF NO POINTER
TYPE »» TYPE THE "ERROR MESSAGE™
A WORD O »»"ERROR MESSAGE™ POINTER GOES HERE
TYPE - SCRLF ,»"CARRIAGE RETURN" & "LINE FEED"
39 MOV (RO)+, 49 »PICKUP "DRTA HERDER™ POINTER
BEQ 5% .. SKIP TYPEOUT IF O
TYPE »»TYPE THE "DRTR HERDER"
4$ WORD O .. "DATA HERDER" POINTER GOES HERE
TYPE » SCRLF .. "CARRIAGE RETURN" & "LINE FEED"
5% MOV (RO).RO »»PICKUP "DATAR TRBLE" POINTER
BNE 79 ,.GO TYPE THE DRTA
6% MoV (SP)+,. RO . »RESTORE RO
TYPE » SCRLF .. "CARRIARGE RETURN" & "LINE FEED"
RTS PC » » RETURN
7S
MOV d(RO)+, -(SP) »»SAVE Q(RO)+ FOR TYPEOUT
TYPOC ,»G0 TYPE--OCTRAL RSCII(ALL DIGITS)
TST (RO .. 1S THERE RNOTHER NUMBER?
BEQ 69 ,»BR {F NO
TYPE . 89 .. TYPE TWO(2) SFRCES
BR 79 . »LOOP
8% RSC1Z 7 7/ .» THO(2Z) SPRCES
EVEN

SBTTL BINRRY TO OCTAL (RASCI1) RAND TYPE
D $ 000300ttt ettt Peesoioeetetotetes ottt nssasy

—

SEQ 0063




DZOUT-B HMACY11 I0(1046)

LZOUT8 nMi1

J249
3250
3251
3252
3253
3254
J2%5
3256
3257
3258
3259
3260
3261
3262
3263
3264
3265
3266
3267
3268
3269
3270
3271
3272
3273
3274
3275
3276
3277
3278
3279
3280
3281
3282
3283
3284
3285
3286
3287
3288
3289
3290
3291
3292
3293
3294
3295
3296
3297
3298
3299
3300
3301
3302
3303
3304

014560
014564
014572
014576
014602
O14604
014612
014620
014626
014630
014632
C14634
014640
014642
014646
014652
014656
014662
O1466M
014666
014670
014672
014674
014676
014700
014702
014706
014710
01471y
014716
014720
014722
01472y
014730

017646
116667
112667
062716
000406
112767
112767
112767
010346
010446
010546
116704
005404
062704
110467
116704
016605
005003
006105
000404
006135
006105
006105
010503
006103
105367
100016
042703
001002
005704
001403
005204
052703
062703

M 5

21-StP-77 09 18 PARGE 66
31-MAY-77 09 49

000000
000001
000207
0ocaoz

000001

000006
000005

000145
000006
000132

000125
000012

000076
177770

000060
000040

nooz11

000171
000165
000154

BINRRY TO OCTAL (RSCI1) AND TYPE

+XTHIS ROUTINE S USED TO CHANGE R 16-BIT BINRRY NUMBER TO R 6-DIGIT
. XOCTAL (ASLI1) NUMBER AND TYPE IT
» X§TYPOS---ENTER HERE TO SETUP SUPPRESS ZEROS RAND NUMBER OF DIGITS TO TYPE

» XCALL

e ¢ MoV NUM, - (SP) ,»NUMBER TO BE TYPED

X TYPOS .. CALL FOR TYPEOUTY

X BYTE N ++N=1 TO 6 FOR NUMBER OF D G TS TO TYPE
X BYTE M ,»M=1 OR O

/X »»1=TYPE LERDING ZEROS

;: ,»0=SUPPRESS LERDING ZEROS

, XSTYPON----ENTER HERE TO TYPE QUT WITH THE SAME PRARAMETERS RS THE LAST
» XSTYPOS OR STYPOC

. XCALL

. X MOV NUM. - (SF) ,»NUMBER TO BE TYPED

b ¢ TYPON ,»CALL FOR TYPEOUY

. X

,X%;YPOC"‘ENTER HERE FOR TYPEOUT OF R 16 BIT NUMBER

» XCALL.

. X MOV NUM, - (SP) ,»NUMBER TO BE TYPED

» o TYPOC ,»CALL FOR TYPEOUT

$TYPOS MOV 9(SP), -(SP) . PICKUP THE MODE
MOVB 1(SP), SOF ILL ,.LORD ZERO FILL SHITCH
MOVB (SP)+,SOMODE+1 .., NUMBER OF DIG!TS TO TYPE
ROD %2, (SP) . »RADJUST RETURN RDDRESS
BR STYPON

STYPOC HMOVB #1.90F ILL +»SET THE ZERO FILL SWITCH
MOVEB #6, SOMODE +1 ..SET FOR SiX(e) DIGITS

STYPON MOVB #5, SOCNT +»SET THE ITERRTION COUNT
MOV R4, -(SP) ;» SRVE RY
MOV RE, -(SP) . »SRAVE RS
ﬂogB SOMODE +1. RY ,.GET THE NUMBER OF DIGITS TO TYPE
NE RY
AOD #6. RY ,»SUBTRACT IT FOR MAX ALLOWED
MOVB R4, $OMODE ,+»SAVE IT FOR USE
MOVB SOFILL. Ry ..GET THE ZERO FILL SHITCH
MOV 12(SP).RS . PICKUP THE INPUT NUMBER
CLR R3 .. CLEAR THE OUTPUT WORD

19 ROL RS ,.ROTATE MSB INTO "(C"
BR 3% ..60 DO MSB

2% ROL RS ..FORM THIS DIGIT
ROL RS
ROL RS
MOV R5.R3

38 ROL R3 ,.GET LSB Of THIS DIGIT
DECB S0MODE .. TYPE THIS DIGIT?
BPL 7% ,.BR |F NO
BiIC #177770.R3 ,.GET RID OF JUNK
BNE 4% .. TEST FOR O
TST RY . . SUPPRESS THIS 07
BEQ 6% ..BR IF YES

4$ INC RY .»DON'T SUPPRESS RANYMORE 0'S
BIS #'0.R3 »»MAKE THIS DIGIT RSCIH

5% BIS #' R3 ,»MAKE ASCI1 |F NOT ALRERDY

SEQ 0064




DZOUT-B MRCY11 30(1046)

LZDUTB

3305
3306
3307
3308
3309
3310
3311
3312
3313
3314
3315
3316
3317
3318
3319
3320
2321
3322
3323
3324
3325
3326
3327
3328
3329
3330
331
3332
3333
3334
3335
3336
3337
3338
3339
3340
3341
3342
3343
3344
3345
3346
3347
3348
3349
3350
3351
3352
3353
3354
3355
3356
3357
X358
359
3360

M1

014734
014740
014744
014750
014752
014754
014756
014760
014762
014764
014766
014774
014776
015000
015001
015002
015003
015004

015006
015006
015010
015012
015014
0156016
015620
015022
015026
015032
015040
015042

015044
015050
015052
015054
015056
015060
015062
015064
015072
015076
015102
015106
015112
015114
015116
015120
015122
015124
015130
015134

31-MAY-?77

110367
104401
105367
003347
002402
005204
000744
012605
012604
012633
016666
012616
oocoo2

000

000

000

000
000000

010046
010146
010246
010346
0t0u46
010546
016746
010667
012767
000000
000777

016706
012605
012604
012603
012602
012601
012600
012767
106427
012706
005067
005267
001375
104413
015140
104401
015442
005067
005067
000177

21-SeP-7? 09 18 PRAGE 67

09 49

000040
015000
000032

000002 000004

162776
164064
015044

164046

015006
000340
001100
001102
001076

164253
164262
163744

162764

162732

’9

6%

8%
SOCNT

SOF ILL
$OMODE

SPHRDON
PFRIL

RESTAR

MOvV8
TYPE
OECB
BGT
BLT
INC
B8R
MOV
MOV
MOV
MOV
MOV
RTI
BYTE
BYTE
BYTE
BYTE
WORD

N 5§
BINARY TO OCTAL (ASCI1) AND TYPE

R3. 8%

, 89

SOCNT

28

68

Ry

2%
(SP)+,R5
(SP)+.RY
(SP)+,R3
2(SP)., 4(SP)
(SP)+, (SP)

00000

.. SAVE FOR TYPING

,.G0 TYPE THIS DIGIT

.. COUNT BY 1

;,BR IF MORE TO DO

.. BR IF DONE

+» INSURE LAST DIGIT ISN'T R BLANK
,».GO DO THE LAST DIGIT

., RESTORE RS

»»RESTORE RY

;. RESTORE R3

.»SET THE STACK FOR RETURNING

»» RETURN

»»STORRGE FCR RSCII DIGIT

»» TERMINATOR FOR TYPE ROUTINE
»»OCTAL DIGIT COUNTER

»»ZERO FILL SHITCH

.»NUMBER OF DIGITS TO TYPE

»ENTER HERE ON POUER FARILURE

MOV
MOV
MOV
MOV
Mov
HOV
MOv
MOV
MOV
HALT
BR

RO:'(SP)
Rll-(gp)
R2,-(SM)
R3/'(SP)
RY, -(SP)
RS, - (SP)
qu'(sp)
SP. SRYSP
#RESTART, 24

. SAVE RO-R5 ON PROCESSOR STRCK

. SAVE STACK POINTER
+SET UP FOR POWER UP TRRP
+HALT ON POWER DOWN NORMAL

,PROCESSOR HILL TRAP HERE WHEN POWER tS RESTORED

MOV
Hov
MOV
MOV
MOV
MOV
MoV
MOV
MTPS
MOV
CLR
INC~
BNE
CONVRT
PFTRB
TYPE
MPFRIL
CLR
CLR
JHP

SAYSP, SP
(SP)+.R5
(SP)+,RY
(SP)+,R3
(SP)+,R2
(SP)+, R1
(SP)+,R0
# PFAIL. 24
#340
$STARCK, SP
TEMP

TENP

-y

SERFLG
SERRPC
dRE TURN

+RESTORE STRCK POINTER
.RESTORE RO-P5

.SET UP fOR POWER FRILURE

SEQ (065




— " O

DZOUT-8 MRCY11 30(1046)
D20UT8 HM11

3361
3362
3363
3364
3365
3366
3367
3368
3369
3370
33721
3372
3373
3374
3375
3376
3377
3378
3379
3380
3381
33182
3383
3384
3385
3386
3387
3388
3389
3390
3391
3392
3393
3394
3395
3396
3397
3398
3399
400
3401
3402
3403
3404
3405
3406
407
3408
3409
3410
3411
Juti2
3413
41y
3415
J41e

015140
016142
015144
015146
015154
015162
015170
015176
015201
0152006
015214
015222
015230
015236
015244
015252
015260
015266
015273
015300
015306
015314
016322
015325
015332
015337
015344
015352
015360
015366
015367
015374
015402
015410
015416
015424
015432
015433
015437
015442
015450
015456
015464
015472
015500
015506
015514
016522
015530
015533
015537
015544
016552
015560
015566
015574

31-MRY-77

000001

006
000207
005015
030461
052125
050101
005015

0156
Q4040
005015
042504
041505
o404N0
005015
042040
024040
047040

015
020124
C510840
051123
026522

075
042503

015
041505
051040
041501

000

015
047514
050131
062123
051040
ow0440

000

040

015
043120
020040
051101
052040
o47111
051107
005015
043117
020123
042040

015

015
020124
005015
047440
051505
020131

21-SEP-77 09

09 49

00z

042012
042040
041055
020108

000
053012
o42104
051461
035126
QY1440
042104
052515
053105
Q20131
026451
046012
042504
041506
o4ouu40

000
042504
020040
051412
020124
047125
051124

047412
051072
020.05
042040
Q41530
042104

037440
000012
044501
042522
020124
051505
050040
051505
047105
050040
040524

000
051012
052012
041520
047514
020116
037524
051117

053125
042132
052040
020104

041505
000055
020124
051040
051123
000055
052114
037440
061117

000
051501
035126
041440
o4210u

044526

000
046105
047524
QuooN0
043505

043126
052105
Q40514
053105
051123
026523

000

026114
062122
052101
020124
047522
000123
020104
051501
042520

000
051505
000055
045503
052040
024040
047040

18 PAGE 68
BINRRY TO OCTAL
PFTRB 1

BYTE

RETURN
MTITLE RSCI2
MVECTC  RASCI2
MREGRD RSC1Z
MMULT RSC12
MLRSTD RSC12Z
DEVICE ARSC12
MCOW . RSC12
MRANGE . RSCiZ
MGH RSC12
MCRLF . ASCI2
MPFRIL .RSCIZ
MEPRSS  RSCIZ
MR ASCIZ
MTSTPC  RSCIZ
MLOCK RSCI1Z

B 6
(RSC11) AND TYPE

6.2
<156><¢12><12>/DUVi1 D2DUT-B TAPE D //15>(12>

(15><12>/VeC ADD-/
(15><¢12>/1ST DEV REC (SR RDD-/

(16><12>/MULT DEV ? (Y OR N)-/

<{16><12>/LRAST DEV REC CSR RDDR-/

/=DEVICE /
<16><12>/SELECT TO RUN QRCTREG/

<16><12>/0VFLO RETYPE LAST DEV RXCSR RDODS-/

/W
<16><12>
/PFAIL, RESTART AT TEST IN PROGRESS/

<16><12>/END OF PRSS TRPE D/

15X 2>/R/
18> 2>/TEST PC-/

15><12>/L0CK ON  TEST? (Y OR MN)-

SEQ 0066




DZOUT-B MACY11 30(1046)
pzoute M1t

41?7
3418
419
3420
3421
3422
3423
342y
425
3426
3427
3428
3429
3430
3431
3432
433
343y
3435
3436
3437
3438
3439
3440
3441
R{LY:
3443
344y
3445
3446
34y4?
J4u8
3449
3450
3451
3462
3453
3454
3455
3456
345?
3458
459
3460
3461
3462
3463
3464
3465
3466
3467
3468
3469
3470
3471
3472

015602
015605
015612
015620
015626
015634
015642
015650
015653
015660
015666
015674
015702
015710
016716
015724
016732
015740
016746
015754
015762
015770
015774
016002
016010
016016
016024
016032
016040
016046
016053
016060
016066
016074
016102
016110
016113
016120
016123
016130
016134
016142

O16146
016210
016252

31-MAY-77

026451

015
020106
Q41440
051440
Q42524
020061
026451

015
042523
052111
041524
026e465
020077
020122
005015
041505
051440
020110
020063
C54450
024516
005015
052120
042440
020105
044103
030455
024040
047040

015
032461
042516
047440
020131
026451

01%
020040

o040
020040
020040
020075

000000
016210
000000
016252
000000
016314

21-SEP-?77 Q9

09 49

000
021412
0545623
040510
046105
020104
051117

000
044412
020103
051440
020110
020062
054450
024516
051511
051040
04u452?
032505
047111
047440
000055
051511
o4 1440
Q40516
052523
042440
Ou4440
020131
026451
005012
041440
052103
020116
g51117

000
020012

000
063523
000040
047040
000040

047440
041516
051522
041508
020050
031040

020123
046530
Q44527
032505
047111
Q47440
000055
051440
041505
Q41524
026465
020077
020122

047440
05111y
046102
052111
032465
037516
051117

000
031510
oN7117
051117
024077
047040

043536
036522
153505

C 6

18 PRAGE 69
BINRRY TO OCTAL (RSCi1) AND TYPE
MSYNC . ASCLIZ <15>C12>/% OF SYNC CHRRS SELECTED ( 1 OR 2)-/
MUIREEG  ASCIZ <156>C12>/1S SEC XMIT SWITCH ES5-2 IN? (Y OR N)-/
MUWIRES ASCIZ <16>¢12>/1S SEC REC SWITCH EB5-3 IN? (Y OR N)-/
MJIREY RSCI2Z  <15><12>/1S OPT (LR ENRBLE SWITCH ES55-1 IN? (Y OR N)-/
MEXT) RSC1Z  <15><12><12>/H315 CONNECTOR ON ?(Y OR N)-/
MCNTG RSC1Z2 U5 12>, G /
MMSHR RSCIZ 7/ SWR= /
MMNEUW RSC12 7/ NEW=
EVEN
BUFFERS FOR INPUT-QOUTPUT
INBUF 0
= +40
TEMP n
= +40
MORTA O
= 440
SBTTL SCOPE HANDLER ROUTINE

A 3 3 0 03P F 0t bR P e R PRttt ittt eePsiats
.XTHIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS IT WILL INCREMENT

-

SeqQ 0067
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DZOUTE M1t

473
474
w78
476
u??
3478
479
3480
3481
3482
3483
484
485
3486
487
3ueR
3489
3490
3491
3492
3493
3494
3495
3496
3497
3498
3499
3500
3501
3502
3503
3504
3505
3506
3507
3508
3509
3510
3541
3512
3513
3514
3515
3516
3517
3518
3519
3520
3521
3522
3523
3524
3525
3526
3627
3528

016314

016214
016314
016320
016324
016330

016332
016340
016342
016350
016352
016256
016360
016366
016374

016376

016400
016404
otevt2
Olo416
016422
016424
016426
016432
o164y
016434
ot16442
016444
016452
O16454
016460
016462
016470
016472
016500
016502
016510
016512
016516
016522

004?767
005067
022716
001422

32777
001412
016767
000406
105777
100123
017766
032777
00111y

000416

013746
012737
005737
012637
000463
022626
012637
000423

032777
00140y
127767
001465
105767
001421
126767
101015
032727
001404
016767
000446
105067
005067
000415

21-SEP-77 09 18 PRAGE 70
SCOPE HANDLER ROUTINE

. XAND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG (DISPLRY(7 0>)
»XAND LORD THE ERROR FLAG (SERFLG) INTO DISPLAY<15 08>
. XTHE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE

J1-MRY-?77 09 49

174376
163072
003376
040000
163034
163066

163U62
Cc40000

00000u
016424
177060
00000y

000004

ooo4o0
162770
162723
162727
001000
162702

162665
162770

163100
162036

177776
163044

NO000Y

162776
162730

162713
162740
162676

» XSHIN4=1
» XSH11=1
» XSHO9=1
» XSHO8=1
» XCALL

i

SSCOPE

SCOPE

TTST

19

SCOPE

LOOP ON TEST

INHIBIT ITERATIONS

LOOP ON ERROR

LOOP ON TEST IN SWR<? O
. »SCOPE=10T

, SCOPE LOOP AND INTERATION HANDLER

JSR
CLR
CMP
BEQ

BT
BEQ
MOV
BR
TST8
BPL
MOV
B!'T
BNE

S ARARRSTART

IXTSTR

5%

o9 KEREKEND OF

4$

BR

MOV
MOV
TST
MOV
BR

CHP
MOV
BR

BIT
BEQ
CHPB
BEQ
TST8
BEQ
CHPB
BH!
BIT
BEQ
MOV
BR
CLRB
CLR
BR

PC. CKSHR
SERRPC
RTST1+42, (SP)
$XTSTR

#BIT14, JSHR
19

$TSTNM, SLPROR
19

o3 TKS

SOVER

d3TKB, -2(S5P)
#B1T14, 9SUR
SOVER

OF CODE FOR THE XOR

69

ORERRVEC, - (SP)
#58, JSERRVEC
e#177060
(SP)+, JBERRVEC
SSVLAD

(SPY+. (SP)+
(SP)+, JBERRVEL
7S

. CLERR LAST ERROR PC
, 1S SCOPE AT BEGINING OF TEST 17
. YES NO LOCP

.THIS CODE IS FOR TESTING FOR BIT 14
+ON LSt WHICH SYSMAC CANNOT HANDLE

» KEYBORRD DONE?

-BR IF NO

.CLERR DONE BIT

., LOOP ON PRESENT TEST?

.. YES |F SH14=1

TESTERRRERK

,+»1F RUNNING ON THE "XOR" TESTER CHRNGE
.- THIS INSTRUCTION TG R "NOP" (NOP=240)
»»SRVE THE CONTENTS OF THE ERROR VECTOR
.. SET FOR TIMEOUT

.. TIME OUT ON XOR?

»»RESTORE THE ERROR VECTOR

,,G0 TO THE NEXT TESY

.. CLEAR THE STRACK AFTER A TIME OUT

.. RESTORE THE ERROR VECTOR

»»LOOP ON THE PRESENT TEST

CODE FOR THE XOR TESTERKR®®®

#B81708, 9SHR
2%

dSHR, STSTNH
SOVER

SERFLG

3%

SERMAX, SERFLG
39

$B81709, JSHR
4s

SLPERR., SLPRDR
SOVER

SERFLG

STINES

19

..LOOP ON SPEC TEST?
..BR IF NO

,»ON THE RIGHT TEST?
»-BR IF YES

,»HAS AN ERROR OCCURRED"?
»+»BR IF NO

,»MAX ERRORS FOR THIS TES1 GCCURRED?
..BR IF NO

.. LOOP ON ERROR™

».BR 1F NO

.- SET LOOP RDORESS TO LRST SCOPE

,»ZERQ THE ERROR FLRG
., CLEAR THE NUMBER OF ITERRTIONS TO MRKE
., ESCAPE TO THE NEXT TECSY

SHR<?7 0>

SEQ 0068
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LZOUTB M1t

3529
3520
53
35132
3513
3534
3535
3536
3537
3538
3539
3540
3541
3542
3543
3544
3545
3546
3547
3548
3549
3550
3551
3562
3553
3554
3555
3556
3567
3558
3559
3560
3561
3562
3563
3564
3565
3566
3567
3568
3569
3570
3571
3572
3573
3574
36575
3576
3577
3578
31579
3580
3581
3582
3583
3584

016524
016512
016534
016540
016542
016546
016564
016556
016564
016572
016576
016604
016610
016614
016620
016626
016634
016640
016642
016644
016646

016650
016652
016656
016660
016662
016664
016670

016672
016674
016702

016704
016706
016710
016712
016714

31-MAY-77

032777
001011
005767
001406
005267
026767
002024
012767
016767
105267
116767
011667
011667
005067
112767
016777
016716
000002
001407
Q00422
C0000s

010046
016600
005740
111000
006300
016000
000200

011646
016666
000092

016672
013066
014604
014560
014620

21-SEP-77 09

09 49
oo4oo0
162774

162636
162740

000001
000056
162604
162600
162576
162574
162674
000001
162550
162546

162706

162030

162620
162720

162726

162567
162606

000002

016704

000004

N00002

18 PRAGE 71
SCOPE HANDLER ROUTINE SEQ 0069
33 BIT #81T11, oSKR ,» INHIBIT ITERRTIONS?
8NE 19 ,.BR IF YES
TST SPRSS ,. IF FIRST PRSS OF PROGRAM
8tQ 19 , o INHIBIT ITERATIONS
INC S ICNT ,» INCREMENT I TERARTION COUNT
CHP STIMES, SICNT ,»CHECK THE NUMBER OF ITERATIONS MADE
BGE SOVER ,»BR |F MORE ITERRTION REQUIRED
19 MOV %1, SICNT ;o REINITIALIZE THE ITERATION COUNTER
MOV SMXCNT, STIMES .. SET NUMBER OF ITERATIONS TO DO
$SVLAD INCB STSTNN »» COUNT TEST NUMBERS
MOVB STSTNM, STESTN ;. SET TEST NUMBER IN RPT MAILBOX
MoV (SP)., SLPRDR ., »SAVE SCOPE LOOP RDDRESS
MoV (SP). SLPERR ,»SAVE ERROR LOOP RDDRESS
CLR SESCRPE ,»CLEAR THE ESCRPE FROM ERROR RDDRESS
MOVB %1, SERMRX ,,ONLY ALLOW ONE(1) ERROR ON NEXT TEST
SOVER MOV $TSTNM, QDISPLARY .., DISPLRY TEST NUMBER
nov SLPRDR, (SP) .»FUDGE RETURN RDDRESS
49 RTI
BRW 1407
BRX 432
SMXCNT 5 .»MAX NUMBER OF ITERRATIONS
SBTTL TRAP DECODER
D 3300022000003 0080 0000 000003000023002202000000000220222000282000%
. XTHIS ROUTINE KWILL PICKUP THE LOWER BYTE OF THE "TRAP'" INSTRUCTION
.XAND USE IT YO INDEX THROUGH THE TRAP TABLE FOR THE STARTING RDDRESS
. X0F THE DESIRED ROUTINE THEN USING THE RDORESS OBTARINED IT WILL
. XG0 TO THAT ROUTINE
STRAP MOV RO, - (SP) .» SAVE RO
MOV 2(SP). RO ..GET TRAP RDDORESS
TST - (RO) ., »BARCKUP BY 2
MOVB (RO). RO ,.GET RIGHT BYTE GF TRAP
RSL RO »+POSITION FOR INDEXING
MOV STRPAD(RO), RO ., INDEX TO TABLE
RTS RQ .. GO TO ROUTINE
THIS 1S USE TO HANDLE THE "GETPRI™ MACRO
STRAP2 MOV (SP), -(SP) .~ MOVE THE PC DOWN
MOV 4Y(SP), 2(SP) »»MOVE THE PSH DOWN
RTI ,»RESTORE THE PSU
SBTTL TRAP TABLE

.ATHIS TRABLE CONTAINS THE STARTING RDORESSES OF THE ROUTINES CRLLED
, XBY THE "TRAP" INSTRUCTION

ROUT INE

STRPAD . WORD  STRAPZ
STYPE .. CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE
STYPOC ., CALL=TYPOC TRAP+2(104402) TYPE OCTAL NUMBER (WITH LERDING ZEROS)
$TYPOS ., CALL=TYPOS TRAP+3(104403) TYPE OCTAL NUMBER (NO LERDING Z2EROS)
STYPON ., CALL=TYPON TRAP+4 (104404) TYPE OCTARL NUMBER (RS PER LAST CALL)
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L20uTB M1t

3585
3586
3587
31588
1589
3590
1591
31592
3593
I59%4
3595
3596
3597
3598
3599
3600
3601
3602
Je03
Je04
3605
3606
3607
3608
3609
3610
3611
3612
3613
361y
3615
3616
3617
3618
3619
3620
J621
3622
3623
3624
362%
3626
3627
3628
3629
3630
3631
3632
3633
3634
J635
3636
3637
3638
3639
Jeu0

016716
016720
016722
016724
016726
016730
016732
016734

016736
016742
016746
016752
016756
016762
016770
aler?

017004
017006
017010

017012
017020
017024
017032
01703e
017044
017052
017056
017064
017072
017076
017104
017110
017116
017122
017130
017134
017142
01714y

017146
017154
017160
017164
017170

013044
013350
013456
013466
013666
013726
013760
014136

006367
006367
006367
006367
006367
C16767
162767
Qu2767
000207
000240
000200

016767
005267
016767
005267
016767
016767
005267
016767
016767
005267
016767
005267
016767
005267
016767
005267
016767
000207
000000

042777
005067
006067
006067
006267

21-SEP-77 09 18 PRGE 72
TRAP TRBLE

J1-MRY-77 09 49

000044
000040
00003y
000030
000024
000020
000001
000037

000126
000120
000114
000106
000102
000074
000066
000062
000054
000046
000oou 2
000034
000030
000022
000016
000010
000004

040000
162322
162314
162312
162306

OO0 0000008003000 3333090000000000020002302030200000002 0008
PR 000305033000 033300003300¢00030000 8303200020000 000 00000000044

SCOP1
INSTR
INSTER
PARAM
SRVOS
RESOS
CONURT
SETFLG

.. CARLL=SCOP1
» - CALL=INSTR
.. CALL= INSTER
;. CALL=PRARAN
.. CALL=SAVOS
;. CALL=RESOS
»» CALL=CONVRT
.. CALL=SETFLG

SUTILITIES

TRAP+5(104405)
TRAP+6 (104406 )
TRAP+7(104407)
TRAP+10(104410)
TRAP+11(104411)
TRAP+12(104412)
TRAP+13(104413)
TRAP+14 (104414)

»THIS UTILITY CALCULATES PRIORITY LEVEL
OUPRT  , SHIFT LEFT

DULEV

000020
00C012
N00O0u
OUPRT
LESSH
162672 DURDDR
162662

162652
162650

162634
162632

162622
162612
162602
162572
DUBRSE

162552 PPOKE

ASL
ASL
ASL
ASL
ASL
MOV
SuB
BIC
RTS
PR5
PRY

. NEW DU
MOV
INC
MoV
INC
MOV
MOV
INC
MOV
MoV
INC
MOV
INC
MOV
INC
MOV
INC
MOV
RTS
0

» THIS UTILITY POKES THE MA NT DKTR BASED UFPON THE
, INFORMATION CONTRINED !N STMP1 KND 1IT

DUPRT

DUPRT .,

DUPRT

OUPRT .,

DUPRT, LESSI1 ,MOVE THIS TO LESSI
#1,LESSH »CRERTE LESS1
%#37.LESSH . CLERR TN2VC(
PC

»LEVEL TO RALLOKW INTERFUPTS
ADDRESSES

DUBASE., RXCSR . XXX0

pUBASE

DUBASE, HRXCSR ., ¥XX1

DUBASE

DUBRSE, RXDBUF ., XxX2Z
DUBRSE., PARCSR . XXX2

DUBASE

DUBASE. HRXDBUF , XXX3
DUBASE., HPRRCSR ., XXX3

DUBASE

DUBRSE., TXCSR » XXXY

DUBRSE

OUBASE., HTXCSR  , XXX5

DUBASE

DUBRSE ., TXDBUF ., XXXb

DUBRSE

DUBRSE, HTXDBUF . XXX?7

PC

()

.SHIFTED IN BY THE CONTENTS OF SHIFT

81C
CLR
ROR
ROR
ASR

#MTOATA, 9TXCSR
$STHP2

$THP1 , FORCE CRRRY
STHPZ  ,PICK UP CARRY INB T 1§
STHMP2 . SHIFT INTO BIT 14

SEq 0070




DZ20UT-B HMACY11 30(1046)
DZOUTR M1

3641
3642
643
3644
645
Je4b
Je4?7
Jeu8
3649
3650
3651
3652
3653
3654
3655
3656
3657
3658
3659
3660
3661
3662
3663
3664
3665
3666
{174
3668
3669
3670
3671
3672
3673
3674
3675
3676
3677
3678
3679
3680
3681
3682
3683
3684
3685

017174
017202
017210
017216
017224
017230
017232

017234
017242
017246
017252
017254
017260
017264
017270
017272
017276
017300
017306
017310

017318

017320
017326
017332
017336
017340
017344
017350
017354
017356
017362
017364
017372
017374

017402
01740y

017410

31-MAY-77

042767
056777
ou42/7?
052777
005367
001346
000207

016767
005067
012727
00C000
006067
005567
005367
001371
006067
103404
052767
Coo403
042767

000207

016767
005067
012727
006000
006067
005567
005367
001371
006067
103004
052767
000403
042707

1000207
062716

000002
ogocoo!

21-SEP-77 Q9

09 49
100000
162274
020000

020000
161672

162247
162236
000010
162222
162220
177762
162206
000400

060400

162154
162162
000010
162136
162134
177762
162122
ooo400

000400

000002

162300
162516
162510
162502

162240

162172
162162

162154

162106
162076

,CLR BIT 15
.POKE MAINT DATA
,POKE (LK

'

» THIS ROUTINE CALCULATES ODD PARITY FOR AN 8 BIT CHAR

18 PRGE 73

TRAP TRBLE
8:( #81T15,8TnP2
BIS STHPZ, 9TXCSR
B1C RCLK, dTXCSR
B1S RCLK, 9TXCSR
OEC SHIFT
BNE RPOKE
RTS PC

0008 MOV $TMP1.8THP2
CLR $TMPI
MoV 8 . (PC)+

4% 0

19 ROR $THP2
RDC STMP3
DEC 4$
BNE 1%
ROR $STMPJ
BCS 2%
BIS #8178, 9THP1
BR 3%

2% BiC #B178. $THP1

» SAVE TEMP1

»SET QDD PARITY
,CLR EVEN PARITY

»9TMP1 NGW HRS ODD PRRITY CHRRACTER

39 RTS PC

., THIS ROUTINE CALCULRTES EVEN PARITY FOR AN 8 BIT CHRRACTER

. SRVE TEMPI

»SET EVEN PARPITY
,CLR ODD PARITY

,STHMP1 NOW HAS EVEN PRRITY CHRARACTER

EVENE MOV $THP1, STMP2Z
CLR $THP3
MOY #8 . (PC)+
4s 0
19 ROR STMP2
RDC STHP3
DEC 49
BNE 1%
ROR STHP3
BCC 29
BIS %8178, $THP1
BR 3%
28 BIC #B1T8, $THP1
38 RTS PC
TRPREG ADD

#2,(SP) ,ALLOW T TO "CRUNCH" INTO HLT BRCF

. IN MARIN PART OF THE PROGRAM

RTI
END

SEQ 0071
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DZOUTB M1 31-MAY-77 09 49 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0072
ARA 003200 12944

RBASE = 000000 877 918

ACOHY = 000000 877 920

ACOW2 = 0C000C 8727 921

RCPUOP= 000000 877 892

ACTREG 001166 7368 1250%  1264%  1265%  1272% 2796 2799 2809
RDDWO = 000000 877 922

ADDH1 = 000000 877 923

ADDW10= 000000 877 932

ADDW11= 000000 877 913

ADDW12= 000000 877 93y

ADDW13= 000000 877 935

ADOW14= 000000 877 936

ADDH15= 000000 877 937

ADDHZ = 000000 877 924

ADDW3 = 000000 8727 925

RDDW4 = 000000 8”7 926

ADOWS = 0000CO 877 927

ADDW6 = 000000 877 928

ADDW? = 000000 877 929

ADOW8 = 000000 877 930

ADDW9 = 000000 §77 a3

ADEVCT= 0GO000 877  £83

ADEVH = 000000 877 919

ADRCNT= 013665 3011%  3050% 30574
AENV = 000000 27?2 888

AENVH = 000000 8/7 889

AFATAL= 000000 877 880

AMADR1= 000000 877 905

AMADR2= 000000 877 909

AMADR 3= 000000 877 912

AMADRY= 000000 827 915

AMANS1= 000000 877 899

AMANSZ= 000000 877 907

AMANS3= 000000 877 910

AMAMS4= 000000 877 913

AMSGAD= 000000 877 885

AMSGLG= 000000 277 886 .
AMSGTY= 000000 877 879

AMTYP1= 000000 877 900

ANTYP2= 000000 877 908

AMTYP3= 000000 877 911

RMTYP4= 000000 827 91y

APASS = 000000 877 882

APR10R= 000000 877

APTCSU= 000040 5378 2926

APTENV= 000001 5378 2919 3173
APTS12= 000200 6378 1169

APTSPO= 000100 5378 292!

ASHREG= 000000 827 890

ATESTN= 000000 877 88l

AUNIT = 000000 877 B8M .
AUSHR = 000000 877 891

AVECT1= 000000 877 916

RVECT2= 000000 877 917

BASEAD 001154 7316 12326 1269% 1270 12763 1278% 28038 28168 2819




DZDUT-B MACY11 30(1046)

LZDUTB M1t

BASE IV 001162
BB8 003026
BINWRD Q14134
BITW = 002000
Bi70 = 000001
B1700 = 000001
81701 = 000002
81702 = 000004
81703 = 000010
B1TO4 = 000020
Bi1T0S5 = 000040
Bi1T06 = 000100
Bi170? = 000200
81708 = 000400
B1709 = 001000
BiY1 = 000002
B1T10 = 002000
81711 = 004000
BIT12 = 010000
BIT13 = 020000
BITiy = 040000
BIT15 = 100000
8172 = 0000C4
BI1T3 = 000010
BITY = 000020
BiTS = 000040
BiTe = 000100
BIT? = 000200
BI1T8 = 000400
BIT9 = 001000
BPTVEC= 200014
BREAK = 00LAI0O!
BRU 01e642
BRX 016644
CARDET= 010100
qq¢ 012622
CHRCNT 014132
(KSHR 012716
(Lx = 020000
CNTLU 012772
CONVRT= 104413
COUNT 001124
(R 000015

CRLF

000200

21-SEP-77 09 18 PRGE 76

J1-MRY-?77 09 N9

734k
1249
3092x
803%
2436
Y1y
6564
6554
6544
6534
6524%
651%
650#%
649%
o48%
6478
665%
CLTY
LY
UL %
64 3%
6428
o41s
bo4 ¥
6638
c62%
bol#k
6608%
6594
658%
6578
6738
810%
3547%
KLY {
7674
2795
3090x
2789
802%
1506
1702
1916
2092
2222
2379
2503
2651
Jou3
1199
2792
2118 -
1548
1742
6814
582%

1242%
12538
3094
9964
2490
?79
666
665
664
663
662
661
660
659
658
657
778
769
768
’67
766
765
764
77
776
7?5
774
??3
772
?71
?70

1003%

960%
2818
3095
2852

9954
1607
1787
1917
2093
2232
2385
2538
2652
Jouu
2870%
2872
1371%
1550

2965
2936

2804x

31248

1792

2542
810

3514
3183
971
803
961
784
783
782
781
970
809
808
807
806
815
787
786

1359

2835%
31086%
28594%
1359
1509
1788
1927
2099
2272
2386
2539
2662

3354
13782
1599%

297%
2975

2816x

1853
2596
972

3522

962
3529
960
802
g01
800

909
968
9¢7
966
365
804
963

1405

3122%
2891
1365
1510
1794
1970
2100
2273
2396
2545
2699

35938
14108
16143

2821

1914
2649
1003

996

977
959
958
957

1002
1001
1000
999
998
964
979

1498

3123
3488
1366
1594
1795
1971
2110
2279
2431
2546
2700

14253
16253

I 6

2822x

1975
2704

3161

976
975
974

980

1594

1368
1602
1805
1977
2153
2280
2432
2556
2706

14368
L4

CROSS REFERENCE TRBLE -- USER SYMBOLS
2823

2036
2757

995
994
993

99’

1090

1369
1603
1848
1978
2154
2290
2438
2591
2707

1450%
164y

2824x

2097

3168
493
3p41

3660

1405
1605
1849
1988
2160
2325
2439
2592
2717

1862
1646

2825

21¢8

3500

3662

1413
1606
1855
2031
2161
2326
2849
2598
2752

14564
16952

2826

2219

36?7

141y
1690
1856
2032
2121
2332
2485
2599
2753

1503%
1710%

2827

2277

3679

1416
1698
1866
2038
2214
2333
2486
2609
2759

1618x
1721%

2828x

2330

1417
1699
19409
2039
2215
2343
2492
2644
2760

1529%
1738%

SEQ 0073

2383

1498
1701
1910
2049
2221
2378
2493
2645
2770

1546%
1780



DZOUT-8 MACY11 30(1046)

L20UTB M1t

C1S = 020000
DDISP = 177570
DEVADR 013662
DEVICE 018325
DF 1 002132
OH1 002067
DISPLR 001442
DI1SPRE 000174
ONR = 100000
ONRINT= 000040
0sC = 100000
OSINTE= 000040
DSR = 001000
DSUR = 177570
DTR = 000002
o 002116
DTy 002126
DURDOR 017012
DUBRSE 017144
DULEV 016736
DUPRT 017006
DURIS 001740
OURIV 001736
DUTIS 001744
DUTIV 001742
EIGHY = 006000
EMTVEC= 000030
EM1 001762
EN2 002022
EM3 002043
EMY 001746
ERRCNT 001114
ERRVEC= 000004
EVENS 017320
EVEPAR= 001400
EVPAR = 000400
FIVE = 000000
FRHERR= 020000
GNS = XEXXXX
HDXEN = 000010
HILIMN 013660
HLDO 001130
HLD1 001132
HLD2 001134
HLD3 001136
HLD4 001140
HLDS 001142
HLD6 001144
HOLD 001120
HPRRCS 001724
HRXCSR 001714
HRXDBU 001720
HT = 000011
HTXCSP 001730

21-SEP-77 09 18 PRGE 77

J1-MAY-77 09 49

76648
C88%
3009x
2793
1028
1026
guu4s
6854
8004
807%
76448
7748
7708
6874
778%
1027
1039
1231
1227
3623
1289
1288%
10554
10544
10574
105648
7954
6768
1025
1029
1033
103?
2044
669%
36674
798%
787%
7928
783%
1756
3581
8094
3008x
7138
2148
7158
7168
7178
7184
7198
7094
10488
104y
10468
5798
1050¢

9594
84y
3047
338u#
1032
1030
1167x
1165
9934
1000%
9574
9%67%
9634
843
971%
1031
10844
2820
1230
3624
3600%
3600x
28232
1238
2827x
28251
9888
1141
10614
1067%
1070%
10598

1154

9918
9804
985%
9764

3582
1002%
30318
1081
1081
31932
319ux
31962
31962
3197%

362112
36152
3620%
2934

36253

1167
3055%

1036
1034

1165%
1190

1166
1035
36138
2819x
3625
3601x
1241

1362
1142x

1155%
1408

1693
1462

3583
30544

3191%
3192x

2975

1040
1075¢%
1190x

1081%
3611
626X
3602x
1242

1808

1166%
1501

1781
14656

3584

10864%
3160x

R{3L}
Je2?

3603x
2821x

1964

3505
1597

2025
1468

3887

J 6

CROSS REFERENCE TRBLE -- USER SYMBOLS

3544x

3615 J616X
J628% 3629

Je0ux 3605

2828

2208

Js06x  3508x
1693 2266

2266 2319

1658 1561

3588 3589

3617 3618
36318

3609%

3619%

3511y
2372 <479 2585

2372 2424
1564 1654 1657

3590 3591 3592

3620 3621
2693

1660 1750
3593 3594

SEQ 007%

36222

1763




DZOUT-B MRCY11 30(1046)

bLZOUTB M1t

HTXDBU
INBUF

INIFLG
INSTER
INSTR

INSTR2
10TVEC
1SYMOD

JMRBY
KEEPRD
KEEP IV
LASTAD
LESSH
LF

L IGHTS
LIMITS
LOBITS
LOCK
LOKFLG
LOLIN
HONTG
HMCOW
MCRLF
MDATA
MEPRSS
MEXT
MEXTJ
MINT

MLARSTD
MLOCK
MMNEW
MMSHR
MMULT
MPFRIL
HQM

MR
MRANGE
MREGRD
MRESET

001734
016146
001172
104407
104406
0134eN
000020
000000

001153
001156
001164
001160
017010
000012
001102
013612
013664
001110
001174
013656
016113
015337
015437
016252
015506
010000
016053
004000

016273
015562
016134
016123
015244
015442
015433
0156133
015367
015214
ooos00

015605
040000
015146
015537
001152
015201
015774
015724
015653
001106
000000
001000

J1-HAY-77 09 49

10524
1297
7448
1305
1222
2981
674
791%
2425
727%
732%
735%
7334
3605%
580%
6944
3024
3010x%
702%
7464
3007%
2869
2798
3086
3106
2791
Bius
1321
g13%
2144
1285
3413%
2874
2871
1244
33587
3000
1342
1280
1223
BOu#%
1774
2199
252%
1296
801#
1202
1332
7268
1234
1317
1313
1309
7018
7968
7974

3629%
1301
1200
3033
1233
2993
1139%
98u#
2577
1208x
1230%
12841%
1259
3606%
2969
2840x
3038¢
3042
2894

3040

Ju53%
3286%
3399%
3117

J406#
1007%
34474
1006%
2205

3379%

INE78
3455%
3375%
3400%
3398%
3410%
3391%
3371¢%
9974
1833
2201
2576
J418%
99u#
336ud
Julls
1240
33694
34398
J432¢%
4258

9894
990%

21-SEP-77 Q9 18 PRAGE 78

K 6

CROSS REFERENCE TRBLE -- USER SYMBOLS

2984
1203%
3141
1243
3002#
1140%
1401
2585
1323
1232
2816
1270
3607x
2975

3056%

3053%

Jue7#

1359
2263

1354
1835
2257
2578

1359

1247

1362
2319

3014
3589%
1254
1408
2630
1276

1284
3610%

3057

1405
2316

1356
1894
2259
2629

1405

2794

1781
2425

3132
1279
1494

2638
1278

1498
2369

1400
1896
2310
2631

1498

1842
2532

3136

1295

1601

2815

1594
2422

1402
1955
2312
2684

1594

1903
2638

3463k

1308

1590

1690
2476

1493
1957
2363
2686

1690

1964
2746

1312

1697

1778
2529

1495
2016
2365
2737

3636

2025

1316

1686

1839
2582

1589
2018
2416
2739

2086

1320

1693

1900

2635

1591
2077
2418

2147

1331

2364

1961

2690

1685
2079
2470

2208

2874

2372

2022
2743

1687
2138
2472

SEQ 0075

35884

2417

2083

1772
2140
2523




DZDUT-B MACY11 30(1046)
L20UTB Hit

0008
ONCE
OPTCLR
ouY
OUTCRY
OUTHUL
OVRRUN=
PRARAM =
PARAM1
PARCSR

PAREN
PARER

PRRERR
PARTI
PRASCNT
PFTAB
PIRQ

P IRQVE
POPRO
POP1SP=
POP2SP
PRO
PRt
PR2
PR3
PRY
PRS
PRE
PR?

PS

PSK
PUSHRO=
PUSH1S=
PUSH2S=
PURVEC=
RDSH
RECACT=
REPLAY
RESTAR
RESTRT
RESVEC=
RESOS =
RETURN
RING =
RINTEN=
ROTADD
RPOKE

RTS

RUNR
RUNB
RUNC

it 1 n

017234
002610
001151
013024
012614
003166
040000
104410
013516
001722

001000
010000

013572
013654
001112
015140
177772
000240
012600
005726
022626
000000
000040
000100
0001u40
000200
000240
000300
000340
1722776
177776
010046
005746
024646
000024
013032
004000
012520
015044
012700
000010
104412
001104
040000
000100
001170
017146

000004

X1z U
Ixxxsx U
xkixx U

L ©

21-SEP-77 09 18 PRGE 79
CROSS REFERENCE TABLE -- USER SYMBOLS

31-MAY-77 09: 49

36508
1201
7258%
2860
2792
1252
7828
1224
3013%
1047%
183ux
2208x
2577%
’86%
784%
1766
3016
3012
703%
3355
586%
680%
759¢%
757%
7618
€03s
6UNE
6058
606#
6078
608#
609%
6108
5834
S84 &
7584
7568
7608
6754
2870x%
768%
2811
3335
2812
6708
35928
700%
7658
773%
739%
1374
36368
777%
1
1
1

12044
1319
2862
28314
1277
9758
1235
3034
1355%
1842%
22582
2585x
9798
9774

3018

30524
11772
33614

9524
9504
95u#

3610
3609

584

9514
9498
9534
11452
2880x
961%
2817
33418
2843

1182x
9584
%6064
12512
1421
J646
970%
51
51
51

2864
12888
1462
1256
1362%
1895%
2266%
2630%
1437
3020

2839z

1146%
2882%

2819%
28508%

1339%

1263%
1440

141
141
141

2868 2880%
1668 1654 1750
1281 1333 2875
1401 1408%  1494x
1903 19563  1964%
23113 2319t 236uX
2638%  2685% 2693
1462 1468 1530
30298 3039 3041
2840 2841
3031

1341 1343 3360
1265 1267% 1272
1459 1614 1633

514

514

614

35904
1601%
20172
2372%
2738x
1558

3043

1275%
1555

15690x
2025%
24172
27462

1564

2806%
1610

1697x
20782
2425x%
3618x

1626

2809
1629

16862
2086
2471%

2813x
1651

1693%
2139%
2479%

1660

1706

1773%
2147%
2524x%

1722

1725

SEQ 0076

1781%
22003
2532%

1750

1747




DZDUT-B HMRCY11 30(1046)

LZouTB mnit

RUND = 000000
RUNE = XXXLXX
RUNF = XXXXXX
RUNIT 012424
RXCSR 001712
RXDBUF 001716
RXDONE= 000200
RXERR = 100000
SAVIT 014366
SAVPC 001126
SAYSP 001116
SAVOS = 104411
SCOP1 = 104405
SEND = 000020
SEREC 001150
SETFLG= 104414
SEVEN = 004000
SEXMIT 001147
SHIFT 0C1122
SIX = 002000
SPACNT= 014133
SRD = 002000
STRCK = 001100
STD = 000010
STFLG 001173
STKLMT= 177774
STPSYN= 000400
Svos 013674
SHR 001440
SWREG 000176
SHREGL 013034
SW0 = 000001
SHOO = 000001
SWO1 = 000002
SHOZ = 00000u4
SHO3 = 000010
SWO4 = 000020
SHOS = 0000M0
SHO6 = 000100
SHO? = 000200
SHOg = 000400
SHO9 = 001000
SH1 = 000002
SH10 = 002000
SH11 = 004000
SH1Z2 = 010000
SW13 = 020000

SH1N

040000

21-SEP-77 09 18 PRGE 80

31-MARY-77 09- 49

1
21
21
2797
10438
1607%
10458
3617x
772%
781%
1660
3170
7128%
7058
3591¢
3587¢
808%
2422
7248
1245
794%
7238
7108
1745
2151%
2500x
7938
3091%
7698
5748%
7768
7458
585%
7718
3065%
By 3&
3161
686#
2873
638¢
6288
627%
6268
625%
62u#
623%
6224
6218
6208
619%
6378
6188
6178
6168
6158
biud

51

Y4

57
28034
1363%
1611
1409

9654

97us
1722
31914
3061%
333ux

10018
2476
1315
1310
9874
1311
1373%
17852
2168
2536%
9864
3110
9624
1137
96954
1176x

S6us

1135
3168
1164
28834

638
637
636
635
634
633
632
631
630
629

141

144

144
2810
1370x
1630
1428

1437
1750

3341

1778
2529

1314
1601

1419%
1802x
2212%
2553z
1597

3113%

1173

1370
1156%

3180
1189

1210
1329

2892

514
519
519

1375
1696%
1444y

1462
1753

1839
2582

1318
1903

1439%
1846
2229%
2589x
1842

31234

1327

1418

1158
3183
1194

f411x
1703%
1602

1465
1756

1900
2635

1322
2147

1457%
1863%
2270%
2606
2086

3380

1511

11eu%
3493
2861

n 6

14182
1707
1521

1468

1961
2690

35944
2693

1512%
1907%
2287%
2642%
2479

1607

1171%
3500
2878

CROSS REFERENCE TRBLE -- USER SYMBOLS

1422
1726
1637

1530

2022
2743

2746

1532%
1924%
2323%
2659%
2532

1703

1187
3514
2885

1441
2833
1598

1658

2083

1553%
1968%
2340x
2697%
2585

1189x
3516

1504 %
3h13%
te1?7

16e1

2144

1608%
1985%
2376%
2714x
2638

1194
3522

1611
1633

1564

2205

16282
2029%
2393x
2750x

1210
3529

15615
1694

1626

2263

16492
2046X
2429t
2767%

1329

1534
1713

1654

2316

1704x
2090%
24462
Jou5k

2%61

SEQ 0077

1600%
1729

1657

2369

1724%
21072
24832

2892
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020uT8. M1} 31-MAY-77 09: 49 CROSS REFERENCE TRBLE -- USER SYMBOLS

SW1S = 100000 6138

SH2 = 000004 6368

sH3 = 000010 6358

SW4 = 000020 6348

SWS = 0000u0 6338

SWe = 000100 6328

SW? = 000200 6318

SW8 = 000400 6308

SW9 = 001000 629%

SYNCNO 001146 7228  1299%x  1303x :

SYNEXT= 020000 7904 983% 2017 2025 2078 2086 2139

SYNINT= 030000 789% 9828 1365 1362 17273 1781 1834
2266 2311 2319 2471 2479 2524 2532

SYNSCH= 000020 7768 988 1363 1411 1504 1600 1696

SYSTST= 014000 815¢ 1008%

TBITVE= 000014 6718

TEMP 016210 3096 3351x  3352x 3465

TKVEC = 000060 678%

TPVEC = 00006Y4 6798

TRAPVE= 000034 6778  1143%  11uux

TRPREG 01740M 36828

TRTVEC= 000014 6728

TSTH 00337y 133y 1241 13538 2851 3490

TSTI0 006130 1893%

TST11 006346 19544

TST12 006564 20158

TST13 007002 20/68

TSTi4 007220 21378

TST16 007436 21984

TST1e 007654 22568

TST17 010062 2309%

TST2 003544 13994

TST20 010270 2362%

TST21 010476 24158

TST22 010704 24698

TST23 011112 25224

TST24 011320 25758

TST26 011626 26288

TST26 01173y 26831

TST27 012142 27368

TST3 004132 14928

TSTY 004520 15888

TSTS 005106 16848

TSTe 0054 74 17718

TST? 005712 1832¢

TTST 016332 34938

TXCSR 001726 10498 1354x 13562 1359% 1365% 13663 1368%

14168  1417% 1493% 14952  1498x 1506% 15073
1603% 1605% 1606% 16853 16873 16903 169832
1782 17878 1788% 1?79%4x 17953 1796 1805%
1848 1849% 1855%¢ 18562 1857 18668 1868
19108 19163 1917 1918 1927% 1929 1936
1977% 1978 1979 19888 1990 1997 20161
2039% 2080 20493 2051 2058 2077y 2079x
2101 21108 2112 2119 2138%  2140%  Z144x
21718 2173 2180 2199r 22013 2205% 2209

2147
1842
2685

13693
15092
16992
1807

1875

195561
20182
2083x
2148

22143

2200
1895
2693

1400%
15108
1701%
1814

189u4%
19573
20222
2087

21531
2215%

2208
1903
2738

1402%
1589x
17022
18332
1896%
1961%
2026

2092x
2154
22211

1956
2746

1406%
15912
17722
1835%
1900%
1965

20312
2093x
2160%
2222x

1964

14132
159412
17742
1839%
1904

19702
20322
2099%
2161%
2223

SEQ 0078

2258

14142
16022
1778%
1843

19093
1971%
2038%
2100%
2162

2232%




—— -

DZ0UT-8 HACY11 30(1046)

DZOUTB M1t
TXDBUF 001732
TXDONE= 000200
TXINTE= 000100
TYPE = 104401
TYPOC = 104402
TYPON = 104404
TYPOS = 104403
USER = 000000
voI1D = 000001
WROCNT 014139
Z2ERO 012432
$SAPTHD 002136
SASTAT= xXXXXXx U
SATYC  00OO0Zu4R
$RATY1  0OOOQOR
$SATY3  000QC06R
$ATY4  000O016R
SAUTOB 001434
$8ASE 001602
$BDADR 001422
SBDORT 001426
SBELL 001516
SCOH1 001606
$COHZ2 001610
SCHARC 013344
SCKSHR= XXXXXX
SCMTAG 001400
(M1 = 000006
$CM2 = 000014
SCM3 = 000006
sCMy = 000006
$CPUOP 001554
SCRLF 001523
SODHO 001612
SODH1 001614
$ODHI0 001636
SODW11 001640
$ODW1Z 001642
SODH13 001644
SOOW14 001646
SO0W15 001650
SODWZ 001616
SODW3 001620
SO0WY 001622
SODHS 001624

223y
23102
2369%
2431%
2492x
2547
2611
2686%
2747
1051%
2481%
8054
806#
1202
3171
3215
35844
3583%
812%
779%
3089x
2804#%
1108
537
537%
£37%
5374
5374
840%
918%
835#
8374
8694
920%
921%
2941%
3587
8234
8554
8554
8534
8614
892%
8714
922%
923%
9324
9338
9348
9354
9364
9374
9244
9254
9264
927%

2241
2312x
2373
2432x
24932
2556%
2629x
26902
2752x
1783%
253ux
9984
999%
1342
3207
3239

1005%
9728
3118x

11148

2924
3176

J163

2951%

1132
856#
8568
855
8628

290

21-SEP-7?7 09 18 PRAGE 82
J1-MAY-77 09: 49

CROSS REFERENCE TRBLE -- USER SYMBOLS

2257%
23162
23782
2438%
2494

2558

2631%
2694

27532
1844X
2587

2790
322N
3582%

3121%

3191

2958

1133
857%
857%
B6l#

2975

2259%
2320

2379%
24392
2503%
2576%
2635%
269912
2759x
19052

2640C%

2793
3226

2967%

1141
8588
858%
86u#

3171

B ?

2263%  22¢7

2325%  2326%

2185%  2386x

2440 2449%

2505 2523%

2578%  2582x

2639 2644x

2700x  2706x

2760x 2761

1966  2027%

2695%  2748x

2798 2869

3229 3231

2972%

1147 1148
8594 8oNt
8594 860%
8654 8668

3191 3207

2272x
23322
2187

2451

2525%
2586

26452
2707%
2770x
2088x
3627%

2871
3235

ge14
861#

867%
3226

22731
23332
2396%
2470x
25292
2591%
26512
2708

2772

2149%

2939
3242

3231

22792
2334

2398

2472x
2533

2592%
2652%
2217%
36232
2210x

2982
3306

3235

22802
23432
2416%
2476
253812
25982
2653

27219

636X
2268%

2999
3356

2281

2345

2418x
2480

25392
2599
2662%
27372
Jo42x
2321x%

3085
35814

22902
23632
2422x
2485%
254512
2600

2664

2739%
36432
2374z

3116

SEQ 0079

2292

2365%
2426

2486%
2546%
2609x
2684x
2743x
Jeuu4x
2427%

3163




c ?
DZ0UT-8 MACY11 30(1046) 21-SEP-77 09:18 PAGE 83

DZ20UTB M11 J1-MRY-?27 09: 49 CROSS REFERENCE TRBLE -- USER SYMBOLS SEQ 0080
SOOH6 001626 9284

SODW? 001630 9294

$00W8 001632 9304

SODW9 001634 9314

SOEVCT 001536 881+

SDEwM 001604 9194

St = 000002 535%

SENDRD 012670 1095 28464

SENV 001546 537 ggg8s  120M 2919 2980 3173
SENVUH 001547 537 889% 1169 2921 2926

SERFLG 001403 8268 1178x 2818x 3168x 3191 3358% 347y 3518 3520 3s26x 3550
SERMRX 001415 8328 1149x 3520 3543x 3550

SERROR 014204 1141 31674

SERRPC 001416 833% 1081 1084 1180x  2837x 3165  Jleéx 3167 3131 3213 3359x 3489«
SERRTB 001652 1023 3221

SERRTY 01442y 3206¢

SERTTL 001412 830% 1179%x  3ledx 3191

SESCAP 001514 8688 1148x 3186 3188 3191 3564 2%
SETRBL 001546 887%

SETEND 001652 9408 1120

SFATAL 001530 537x% 808

SFFLG  O0024u4R 5374x

SFILLC 001456 851% 2944 2975

SFILLS 0014565 8508 2975

SGDRDR 001420 glus

SGODRT 001424 2364

SGTSHR= XXxxXx U 3536

SHIBTS 002136 1115¢

SICNT  00140M 8278 3533x 3534 3536 3549

SINTRG 001435 841

SITEMB 001414 8318 31672 3175 3191 3210

SLF 001524 8728 2975 3191

SLFLG 000243R 537%x

SLPROR 001406 828% 1150x 2851%x  3495r 3624z I540% 3545 549
SLPERR 001410 829¢ 1151x 3185 524 J541x 3549
SMADR1 001560 9054

SMADRZ 001564 9094

SMADRI 001570 9124

SMADRY 001574 915%

$MAIL 001526 878¢ 1t1e6 1120 1168 2919 3173 3539
SMANMS1 001556 899«

$MAMSZ 001562 907%

SMANS3 001566 9104

SMAMSY 001572 9134

SHBRADR 002140 t1168

SHFLG  000242R 6378x%

$MSGAD 001542 5372 8858

$MSGLG 001544 637% 886%

$NSGTY 001526 537% 8738

sMTYP1 00156587 900%

SMTYPZ 001563 908s

sSMTYP3 001567 911¢

SMTYP4 001573 9148

SHXCNT 016646 3537 35498

SN = 000000 5358 2782%

SNULL 001454 8u9% 2946 2975
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DZ0UT-B MACY11 30(1046) 21-SEP-?77 09:18 PAGE 84

DZOUTB M1t J1-MAY-77 09: 49 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0081
SNHTST= 000000 13528 1398% 14918 1587¢ 16838 17708 18314 18928 19538 2014& 20758 21368 2197%
22558 23088  2361%  2414¥ 24688 25218 2574k 26278  2682%  2735%

SOCNT 015002 3278%  330?x  3320%

$OnMODE 015004 3273%x  327?x 3282 3285%  3296x 33228

SOVER 016626 3498 3501 3517 3525 3535 35448

SPASS 001534 8828 1168B%x  2841x 3531 3550

SPRASTH 00214y 1118%

SPHURON 015006 1145 33264

SQUES 001522 g70% 2975 3191

SROCHR= XX¥xxxx U 3587

SRODEC= xX¥xxXX U 3587

SRDL IN= XXXXXX U 3687

SRDOCT= xXxxxx U 3587

“QEGRD 001460 g8ols

SREGO 001462 go5¢  3070x 3075

SREG1  OO014eY gse#  3069%x 3076

SREGZ 001466 gs7%  30e8x 3077

SREG3I 001470 g58%  3067x 3078

SREGM 001472 859%  30e6x 3079

SREGS 00147y 860%  3065x 3080

SRZR = ¥XXIxx U 3587

SSAVRE= xxxikx U 3587

SSCOPE O16314 1139 34838

SSETUP= 000017 1121% 1138 1139 1141 1143 1145 1147 1148 1150 3158 3183 3190 3484

SSTUP = 177777 11214

SSULRD 016572 309 3538%

SSvPC = 002136 10938 1098

SSWR = 177400 65264 867 868 869 1147 1148 1150 1151 1354 1400 1493 1589 1685
1772 1833 1894 1955 2016 2077 2138 2199 2257 2210 2363 2416 2470
2523 2576 2629 2684 2737 3149 3150 3151 31562 3153 3161 3168 3180
3183 3191 475 3476 477 3478 3479 3500 3512 3514 3515 3518 3519
3520 35627 3528 3529 3541 3544 3549

SSHREG 001550 890% 1171

SSHRMK= 000000 3479 3480 3516

STESTN 001532 8818 3539

STIMES 001512 8678  1147x  3527% 3534 3537x 3549

$TKB 001446 guek 2865 2988 2996 3499

$TKS 00144y BuS%® 2863 2986 3497

$THPO 001476 g61d

$TMP1 001500 8628 1372% 1420% 1438% 1u58%  1461%  1ub4x  1467x  1513%  1531x  1554% 1557%  1560%
156385 1609% 16273 1650% 1653% 1656% 1659% 1705% 1723%  1746%  1749% 17523 17553
1784 1790% 1845% 1851% 1906% 1912%x 19678 1973% 2028% 2034x 2089% 20952 2150%
21663  2211%  2217%  2269%  2275%  2322% 2328% 2375% 2381%x  2428%  2u3ux 24823  2u488x
25358 2541% 2588%  2694%  26M1%  2647%  2696% 27023 2749%  2755% 36381 3650 36602
3662%  J667 3677% 3679%

sTMPZ 001502 8638 36378 3639t  3640% 641X 36M2 3650%  JeS4x  3667%  3b71X

STHP3 001504 geNt  3651%  3655%  3658%  J668% 367285 1675%

STHPY 001506 8658

$TMPS 001510 866#

$TN = 000030 5378 13562 13548 1398 14008 1491 14938 1587 15898 1683 16858 1770 1772%
1831 18338 1892 18948 1953 19568  201u 20168 2075 2077% 2136 21388 2197
21998 2255 22678 2308 2310% 2361 23638 241y 24168  24es 24708 2521 2523%
2574 25768 2627 2629% 2682 26848 2735 27374

$TPB 001452 gu8t  29eMx 2975 29961

STPFLG 001457 8528 2913 2975

$7PS 001450 84’8 2962 2975 299%4
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LZOUTB M1t 31-MAY-?77 09 49 CROSS REFERENCE TRBLE -- USER SYMBOLS SEQ 0082
STRAP 016650 1143 35584
$TRAPZ 016672 J569% 3580
$TRP = 000015 gg;g: 3582% 3581%  358u4% 35858 1587 J588% 3589% 35908 35918 35928 3593k 359u¥
STRPAD 016704 3561 3580%
STSTM 002142 11178
$TSTNM 001402 3233' gégéx 1336 1339 2836x 3160 3191 3197 3474 3495 3516 3638x 3539
STYPBN= XXIXIX 3585
STYPDS= XXiixx 3585
STYPE 013066 537 29138 3673 3581
STYPEC 013300 2943 2950 2957 2962% 2963
STYPEX 013346 2968 2970 29734
STYPOC 014604 3276% 1582
STYPON 014620 3275 3278% 3584
STYPOS 014560 32718 3583
SUNIT 001540 BBU#
SUNITH 002146 1119%
SUSWR 001552 891% 1206
SVECT1 001576 916%
SVeECTZ 001600 917%
$XTSTR 016376 3491 35021%
SOf ILL 015003 3272%  3i76% 3286 3321%
S4OCAT= $¥stix 3170 3500
= 017412 837¢ 5714 6844 687% 6924 47% 748% B2Z# 873 1079% 1093 10948  1096%
1098%  110M 11058 1107% 1109¢ 1136 11580 1161 1376 1423 1433 1442 1446
1616 1526 15635 1519 1612 1622 1631 1635 1708 1718 1727 1731 1799
1810 1815 1860 1871 1876 1921 1932 1937 1982 1993 1998 2043 2054
2059 2104 2115 2120 2165 2176 2181 2226 2237 2242 2284 2295 2337
2348 2390 2401 2443 2454 2497 2508 2550 2561 2603 2614 2656 2667
2711 2722 2764 2775 2975 3191 J2u5% 3337 3353 Jyeuk  3ueb® 3468 3549
3550
BEGIN 003310 1198 1209 1212 13278 2853
CONVR 013760 30858 3593
EOP 012350 2788%
INSTE 013456 29998 3589
INSTR 013350 2978% 3588
INST? 013370 29828 2991 3001
MSG 013372 ~865x  28B66Xx 2867 2978%  2981%
PARAM 013466 30068 3590
PFRIL 015006 1175 33278  33u8
RESOS 013726 30758 3592
SRV05 013666 3061% 3591
SCOPE 016314 3487%
SCOP1 013044 28918 3587
SETFL 014136 31318 3142 3594
START 002152 688 11308 1182 2802
SASTA= XEXXXX 537
$X = 002136 1104% 1163
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LZDOUTE M1 31-MAY-77 09 49 CROSS REFERENCE TRBLE -- MRACRO NARMES SEQ 0083

COMMEN 681%

ENDCON 681%

ERROR 5?76% 1377 1424 1434 1443 1447 1617 1627 1636 15640 1613 1623 1632 1636 1709
1719 1728 1732 1800 1811 1816 1861 1872 1877 1922 1923 1938 1983 1994 1999
2044 2055 2060 2105 2116 2121 2166 2177 2182 2227 2238 2243 2285 2296 2338
2349 2391 2402 244y 2455 2498 2509 2551 2562 2604 2r15 2657 2668 27212 2723

2765 2776
ESCARPE 681%
GETPR| 681%
GE TSHR 681%
MULT 681#

NEUWTST 681% 1352 1398 1491 1587 1683 1770 1831 1892 1953 2014 2075 2136 2197 2255
2308 2161 2414 2468 2521 2574 2627 2682 2735

POP 537 6818

PRGEND 559% 2781

PRGFRT 538% 560

PUSH 637 681%

PUSSYF 556%

REPORT 526% 6818

RSETUP 543% 1354 1400 1493 1589 1685

SC 6535%  Ju8y4

SCOPE 576% 1363 1399 1492 1588 1684 1771 1832 1893 1954 2015 2076 2137 2198 2256
2309 2362 2415 2N 69 2522 2575 2628 2683 2736 2788

SCH 5358 3546

SETPR| 681%

SETTRA 526%  3673%  3E82 3583 3584 3587 3588 3589 3590 3591 3592 3593 3594

SETUP 681% 1130

SKIP 6818

SLRSH 6R1%

SPACE 6814%

STRRS 537 681% 818 873 876 1091 1101 1103 1110 1352 1398 1491 1587 1683 1770
1831 1892 1953 <014 <075 2136 2197 2255 2308 2361 AL 2468 2521 2574 2627
2682 2735 2898 2145 3201 3248 3471 3552

SHRSU 681% 11524%

TRHMTRP  3573%

TSETUP Suys 17722 1833 1894 1955 2016 2077 2138 2199 2,57 2310 2363 2416 2470 2523
2576 2629 2684 27237

TYPBIN 681%

TYPDEC 6818

TYPNAM 681%

TYPNUM 681%

TYPOCS 681#%

TYPOCT 6818 3213 3237 .

TYPTXT 6818 ~ -

SBEGIN 5358 1324

$8 INAR 555¢

SBUFFE 537¢ 3460

SCRBLE 656578

SCATCH 529¢ 571

$CK 5368 2854

SCLRVE 535¢ 1204

SCONVR 537¢ 3082

SONA 5534 1759 1820 1881 1942 2003 2064 2125 2186

SEQP 5368 2781

SGETFL 535% 1243 1308 1312 1316 1320

SGETPR 535¢ 1222 1233 1253 1279 1331
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DZ0UT-B MACY11 30(1046) 21-SEP-77 09 18  PAGE 88
DZDUTB Mi1  31-MAY-77 09 49 CROSS REFERENCE TABLE -- MACRO NAMES SEQ 008Y

SoETSY 535% 12590
SHEADE 526% 560
SINSTR 537% 2975

91508 551%
SMATCH 548%
SMRR 428
SHRRU S40%
SHRUH S41d
SMSG 5378  33eu

SNEED 558% 3191

SPRRAN 6378 3003

SPFRIL 537% 3323

$POKE Svek 1787 1793 1848 1854 1909 1915 1970 1976 2031 2037 2092 2098 2163 2159
2214 2220 2272 2278 2325 23 2378 2384 2431 2437 2485 2491 2538 2544 2591
2597 2644 2650 2699 2705 2752 2768

SPOKER 5478 1367 1415 1508 1604 1700

SRONET 558% 1381 1471 1567 1ee3

SRECAC Suek

SREG 53?% 3058

SRESETY 5398 1354 1356 1400 1402 1492 1495 1589 1591 1685 1687 1772 1774 1833 1835
1894 1896 1955 1957 2016 <018 2077 2079 2138 2140 2199 2201 2257 2259 2310
2312 2363 2365 2416 2418 2470 N472 2523 2525 2576 2578 2629 2631 2684 2686
2737 2739

SRXACY 5454

$SCOPE 5368 3469

$SCOP1 5le% 2888

SSETFL 6368 3125

$SETVE 530% 681

SSTARY 5365¢ 1122

SSTRIP 6528 1345

$SYMBO 5268% 749 92

SSYNCR 5488 1363 1411 1504 1600 1696

STRPAR 5548 2247 2300 2383 2406 2460 2513 2566 2619 2674 27227

$TSTNO 5358 1352 1398 1491 1587 1682 1770 1831 1892 1963 2014 <075 2136 2197 2255
2308 2361 2414 2468 2521 2574 2627 2682 2735

SUNI8U 53I8%

SVARR IA 5338 691

SHORDF 549%

SHORDO 548#%

SWORDP 6550%

SSCMRE 816# 855 856 857 858 859 860

SSCMTM 8164 861 862 863 8oeY4 865 gob

$SESCR 681%
SSNEUWT 6818 1362 1398 1491 1587 1683 1770 1831 1892 1953 2014 2075 2136 2197 2255

2308 2361 yARL 2468 2521 2574 2627 2682 2735 .
SSSET 3673¢ 3582 3583 3584 3587 3588 3589 3590 3591 3592 3593 3594
SSSETH 11668
$SSKIP 6818
EQURT 5268 571
HERDE 5268
SETUP 5Ze8 1121
$ACTH 5268 1089
SAPTH 5268 874#
$APTH 526¢ 1099
SAPTY 5268 637
$CATC 5264




DZOUT-8 MACY11 30(1046)

LZDUTE M1t

CNTA
SEoP

SERRO
SERRT
SPOUE
sscop
STRAP
STYPE
$TYPO

ABS 01

526%
526%
5268
526%
6268
526%
520%
526%
526%

7412

J1-MARY-77 09 49
816

3143
3199

3469
3550
2896
3246

000

ERRORS DETECTED O
DZDUTB. DZDUTB SOL/CRF=DZDUT1 /EQ RUND. D2OUTZ. DZDUTE

RUN-TIME

21

12 1 SECONDS

RUN-TIME RATIO 286/35=7 1
J0r (592 PAGES

CORE USED

-

H 7
CROSS REFERENCE TABLE -- MACRO NAMES

21-SEP-77 09 18 PRGE 89

SEQ 0085




